Lwyblyws N 7
Gnlwl pwnwph wywgubnt
2018 pwlwbh nbyunbdptph 25- h
N 47-U npndw
Unyntuwy 1

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
6NPEJULP fUNULUMGSUNULP (UNULS GNEYULh YUNUUUL crUuLGNh) vuund

(hwquin npwdaénng)

= |3|a AnLebitnuyhl dwiuubinh gnpéwrwywl nwuwlwngiwb | 5 wyn pyniy’

Szl 5|3 2 pwdhGatph, fudptph L nwutph, hoswbu Gwb 22z Loqwotap

wm =2 2 E ,:4 pinobnwhl dwiuutinh tnbnbuwghunwywh = Jwpswywb pngt | $nlnwyhl pniot

= nwuwlwngiwl hnnwsttph  wowanuittpp =
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 56,934,232.9 54,701,258.5 4,756,356.4
2100(01|0 | O ouacuLNEN ALNE3EBH LULNU3hL 4,026,819.2 3,725,011.2 301,808.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 3,701,819.2 3,610,011.2 91,808.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wpunwphl hwpwpbnpnigindGGGn
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 3,687,819.2 3,596,011.2 91,808.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 3,687,819.2 3,696,011.2 91,808.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 1,548,979.9 1,548,979.9 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 816,168.2 816,168.2 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 78,000.0 78,000.0 -
- Undntbwy SwewjnipnLbltn 4213 5,917.6 5,917.6 -
- Ywuwh dwrwjnipntbobn 4214 84,596.6 84,596.6 -
- Uwywhnjwagpwywb dwluubp 4215 2,388.5 2,388.5 -
- Qnyph L uwppwynpnidbbph upédwywintpyntl 4216 45,360.0 45,360.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 101,000.0 101,000.0 -
- Jwpswywb swewynipntGbbp 4231 10,000.0 10,000.0 -
- <wiwywngswihb swrwjnientbObn 4232 43,474.0 43,474.0 -
- Wuwwnwywqgih dwulwghnwywb qupgugiwb 4233 169,172.0 169,172.0 -
Swrw)ntpnLblbn
- SbnGYwunywywb swewjnipntbltn 4234 16,255.0 16,255.0 -
- Ywrwywnswywb swrwnipntbibn 4235 5,000.0 5,000.0 -
- LpYwywgnigswywb dwfuubp 4237 50,500.0 50,500.0 -
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Sz =23 2 pwdhbGbph, fudptph L nwubph, hoswtu Gwl —_|3‘ = DOnwikap

w < 3| E = pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot

a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 12 |3 |4 5 6 7 8 9

- COnhwOnip panyph wy) SwewjnipynLbGtp 4239 46,633.8 46,633.8 -
- Uwulwghunwywb swewynipntGbtp 4241 2,000.0 2,000.0 -
- UbpbOwbGph L uwppwynpnidbbph pbpwghy 4252 185,700.0 185,700.0 -
Onpngnid b WwhwwOned
- Qpuiubywywihb Gynebin L hwgniun 4261 11,917.5 11,917.5 -
- Spwluwnpunwihb Gnebp 4264 23,000.0 23,000.0 -
- UGOagwnuwyhO L hwbpwyhG uGGnh Gynuebp 4267 4,670.0 4,670.0 -
- {wunnity Gwwwnwywihb wy Gnpbn 4269 4,000.0 4,000.0 -
- Untpuhnhwtp ng $hbwbuwywb wybnwywb 4511 277,340.6 277,340.6 -
(hwiwjbopwihb) Yugqdwytnpwnipntbbtph
- Ujp Gwwuwinbbp pjnipbhg 4729 42,900.0 42,900.0 -
- Mwpunwnhp J&wplbp 4823 1,037.5 1,037.5 -
- Uj| 6wfuubp 4861 20,000.0 20,000.0 -
- Ywpswywl uwppwynnpnLiltp 5122 15,388.0 - 15,388.0
- Wy dbpGOwlEn L uwppwynpnidltn 5129 51,920.0 - 51,920.0
- Ny Gynepwywb hhdGwywb dhongltn 5132 24,500.0 - 24,500.0

2113|101 | 1 | 3 |Upwnnwphl hwpwptnnipnibbtn 14,000.0 14,000.0 -
wyn pynLd’
1. Gpluull punwphl dhowqquihl Juplwih) 74,000.0 14,000.0 -
2Gnphtym swewynipini G06ph nhdwg
YAwpdwl Swifuubn
- COnhwOnep pOnyph wyp SwewynipntGbtn 4239 14,000.0 14,000.0 -

2150|01 | 6 | O | Lanhwanin pGniyph hwanpwyhl 210,000.0 - 210,000.0
dswpuymp/ntGabnh gony hbunwagnunwlywl L
Guwfuwqduyhli wipfuwnwlplbn
nnphg’

215101 | 5 | 1 |2OnhwGntp pOnyph hwbpwihb SwewjnipntGtnh 210,000.0 - 210,000.0
gény htlnwgnunwywb L bwuwgdwih
wfuwunwbpltn
wyn pynd”
1. bwfuwqduyht wipfuwnnwlplbbn 130,000.0 - 130,000.0
- Lwuwgdwhbunwgnunwywb swiuubp 5134 130,000.0 - 130,000.0
2. Gpluwl pumuw, wynn hunwljwqd 20,000.0 - 20,000.0
hpwlwlwgdwi ybpyniénigint G
- Lwuwgdwhbunwgnunwywb swiuubp 5134 20,000.0 - 20,000.0
3. Gninhwiynpdwl L Yweniguwyuwindwl 60,000.0 - 60,000.0
Gwifuwgdbph dpwlymd
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pwdhbbnh, fudptph L nwutph, hoswbu Gwb
pintoGinwhb swfuutph nbwnGuwghunwywb
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wjn pYntd”

QOnwdklp

Jwnswywl pjniob

Pnlnwyhb pynieb

=N

N

w

N

5

- Lwuwgdwhbunwgnunwywb swiuubp

60,000.0

60,000.0

2160

01

DLanhwlrmn panyph hwapwyha
dwpuwympintGG6n (wy nwubphl swwinlywinn)

115,000.0

115,000.0

nphg’

2161

01

LOnhwnip pOnyph hwipwihb swrwnipintbbEn (wy|
nwubnht swywwnywbnn)

115,000.0

115,000.0

wyn pynd”

1. 2hdnidabn, hwygwnhdnidGbn, nuwnwnpwih
npnpmdbénh L yahrabnh nbd Ybpwplahs L
YArwpbl pnnnplbn GEplhuywaglbhu
uwhdwldwd Ysawnmdbabn

50,000.0

50,000.0

- Mwpuwnhp y&wpbkn

4823

50,000.0

50,000.0

2. Qnyph Ghundwdp hpwdniGplbnh
qnuibiguwl, gwhwundwla L
wnbn&Glhuwwnynipiuwl wnpwdwnpdwl hGun

Yuwuwwd Yswnnidabn

65,000.0

65,000.0

- Uwubwaghuinwyw swewjnipntbGbbn

4241

15,000.0

15,000.0

- Mwpuwnhp y&wnbtn

4823

50,000.0

50,000.0

2200

02

nuUcSMULNEB3NEL

23,460.0

23,460.0

wjn pynLd’

2220

02

LPwnuwpwghwlywl wwpwnwwlnygin b

15,000.0

15,000.0

nphg’

2221

02

Pwnwpwghwywl wwunwwantgntl

15,000.0

15,000.0

wjn pynLd’

1. Pwnwpwahwlywl wuwpwnwwlnpgiuwil

wowlgnipint

15,000.0

15,000.0

- GOptnh L Ywrniygbbph pbpwghy Gnpngnid L
wwhwwntd

4251

15,000.0

15,000.0

2250

02

Nupuinwywlnuyn b (wyy nwubphl swuanlywing)

8,460.0

8,460.0

nphg’

2251

02

Mwnwwlnipntl (wyp nwubphl swwwnwbnn)

8,460.0

8,460.0

wjn pynLd’

2. Uypbunpwlpughl wpfuwunwlpuwihl
Swpuwynip/wl hpnwlwlwgmd

8,460.0

8,460.0

- Untpuhnhwotbn $hlwluwywl wewnwywb
(hwiw)bpwihb) YuglwytpwnipntGbenphG

4512

8,460.0

8,460.0

2400

04

SuSGUULUL <UnurtMNHa3NtLLEN

14,602,337.8

13,348,787.8

1,2563,550.0

wjn pynLd’
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

D'.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot

a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 2 |3 |4 5 6 7 8 9

2420|04 0 | Ynunwwnlwinbunigini G, whwnwewihla 160,000.0 - 150,000.0
wnlwnbunwygim G, dybnpunypinil L
npunpnnunll
nnphg’

2424|104 | 2 | 4 |NengnLd 150,000.0 - 150,000.0
wyn pyntd”
1. Nenqdwl quil, wpnigntd b 150,000.0 - 150,000.0
ybGnwannpngmd
- Ghlptiph L 2h0nLpyntbbbph Yurenigned 5112 150,000.0 - 150,000.0

2430(04 | 3 | 0 | Ywrbhp L FobpgGnplyw 4,059,500.0 76,800.0 3,982,700.0
nnhg’

2435(04 | 3 | 5 |bGynpwtGbpghw 4,059,500.0 76,800.0 3,982,700.0
wyn pynd”
1. Gypnwwlwl Gepppmduyhl pwb 1,401,5650.0 - 1,401,550.0
wowlgmpiuwdp hpwlwiwagynn «Gplwih
tabpgquwwpynGwyGunmprwiy spnwahn
- Ghlptiph L 2hbnLpyntblbph Yuwhww yspwinpngnid 5113 1,401,550.0 - 1,401,550.0
2 _UplLEywo Gypnwuyh tobpquwfulbuynnnpiwl 1,401,650.0 - 1,401,550.0
L plwwywhwwlwlwl gnpdnpblbpngiwl
Ddnlnh wowlgn piwdp hnwlwiwagynn
«Gplwbh tobpquwnnnt GwybGuini giuwly
npwdwplnphuyhl spwahn
- Ghlptiph L 2hbnLpyntblbph Yuwhww) yspwinpngnid 5113 1,401,550.0 - 1,401,550.0
3. «Gpliwlbh Fabpquwnnnt GuwyGunipiuwly 600,000.0 - 600,000.0
onwanh hwiwphluwiuwynpntd
- Ghlptiph L 2hbnLpyntblbph Yuwhww yspwinpngnid 5113 600,000.0 - 600,000.0
4. «Gypnwwlywl dhniginian Gplwoh 532,000.0 28,000.0 504,000.0
wnbuyhls hwdwyGph hwdwpn»
ppwdwpGnphuyhl épwahn
- Uy Swjuubp 4861 28,000.0 28,000.0 -
- Uy dbpbOw0bn L uwppwynpnudtn 5129 504,000.0 - 504,000.0
5. «Gypnuwwlwl dhnupinian GplwGh 124,400.0 48,800.0 75,600.0
wpluyhll hwdwylGph hwdwny dpwanph
hwiwphbwiuwynpmd
- Uy Swjuubp 4861 48,800.0 48,800.0 -
- Uy dbpblwbbn L uwppwynpnudtn 5129 75,600.0 - 75,600.0

2450|104 | 5 | 0 | Spwauuwnpun 12,565,011.4 12,089,161.4 475,850.0
nnphg’

2451(04 | 5 | 1 |SwGwwwphwiht tnpwbuwnpan 6,779,805.3 6,303,955.3 475,850.0
wyn pynLd”
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AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot

a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9
1. Uupuywn-pbinnlyw Swo Gpnwlnpngid 3,364,000.0 3,384,000.0 -
L wwhwwand
- SkOpbnh L Ywenyglbph ppwghy Gnpngnid L 4251 3,384,000.0 3,384,000.0 -
wwhwwbnd
2. Uupuywn-pbinnlyw dwolh hhdawanpngmd 73,500.0 - 73,500.0
- CkGpbnh L 2hGnipynibbbph Yuwwhuwwy yepwbnpngnd (5113 73,500.0 - 73,500.0
3. Ggpnwpwnbinh Ybpwinpngmd 26,250.0 26,250.0 -
- CkOpbnh L Ywenyglbph pGpwghy Gnpngnid L 4251 26,250.0 26,250.0 -
wwhwwbnd
4. <Gowwunnbnh Ybpwanpngnid 94,500.0 94,500.0 -
- CkOpbnh L Ywenyglbph pGpwghy Gnpngnid L 4251 94,500.0 94,500.0 -
wwhwwbnd
5. <Guinhnuinb wihgnidabnh Ywenignid L 80,000.0 - 80,000.0
Ybnpwanpngnid
- GOptnh L 2hbnLpyntGGEph Ywrenigntd 5112 80,000.0 - 80,000.0
6. Ywdpouwyhl Yuwengdwdpltinh 90,000.0 90,000.0 -
Ybpwlhwaglnid b wwhwwlnd
- Uj) Swfuubip 4861 90,000.0 90,000.0 -
8. Uwypnunhltinh b thnnngltinh 50,000.0 - 50,000.0
Ybpwlhwrnignid L hhdGwlnpngnid
- GOptnh L 2hGnipyntGbEph Yuwwhuwwy yepwbnpngnud {5113 50,000.0 - 50,000.0
9. @nnnglbinh wwhwwlnd &y pwhwanpdnid 68,500.0 68,500.0 -
- GOptnh L Ywrenygbbph pbpwghy Gnpngnid L 4251 68,500.0 68,500.0 -
wwhwwntd
10. Udunnbyuywluwwnbnh wqdwlybnwdwl 694,000.0 694,000.0 -
Swpwynip/ntg
- Uj) Swifuubip 4861 694,000.0 694,000.0 -
11. PapwhwnpwlGbph Ywenignid 100,000.0 - 100,000.0
- GOptnh L 2hbnLpyntGGEph Ywrenignid 5112 100,000.0 - 100,000.0
12. Uuhwlpwl pwllh wowlgnipiwdp 1,876,705.3 1,876,705.3 -
wlwlwadnn pwnwpuwihl

Glpwlwenigduwdplbnh L punuw, Ll
quinquguwl Gepnpnduyhl dpwapn
(Wuwwnyhpwldwd (hwqnpnipin GG6n)
- Uy 6wfuubp 4861 1,876,705.3 1,876,705.3 -
13. @nnngbbiph, hnwwwpwlGbnh L wyghlbph 192,350.0 20,000.0 172,350.0
Yuwhwinpmd
- SkGpbnh L Ywenyglbph pGpwghy Gnpngnid L 4251 20,000.0 20,000.0 -
wwhwwbnd
- Uj) dbpbOwabn L uwppwynpnidbn 5129 150,000.0 - 150,000.0
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QOnwdklp

wjn pYntd”

Jwnswywl pjniob

Pnlnwyhb pynieb

=N

N
w

N

5

- Ynepbin L wwpwaquwbn

22,350.0

22,350.0

74. Uuhwlwl pwllyh wowlgnpiwip

wlwlwgynn pwnwpuwihl
Gopwlwrmgywdplbnh L pwnuw, Wyl
quinqugdwl bepnnntduyhlt dpwanh hpnwgdwl
dhongwenidabn

50,000.0

50,000.0

- W bwwuwnltp pjnigtihg

4729

50,000.0

50,000.0

2455

04|5

funnnywywwpwihb b wyp tnpwbuwnpun

5,785,206.1

5,785,206.1

wjn pynLd’

2. GpluwGh dewnpnwnpuinblh wpfuwanwlpltph
Yuwquwlybpwnd (wuwndhpwlydwd
[fuwgnpnipin GG6n)

2,742,6586.4

2,742,686.4

- Untpuhnhwtn ng $howluwywl wybEinwywb
(hwiw)bpwihb) YuwglwytpwnipntGbeph

4511

2,742,686.4

2,742,686.4

3. dbpqbunbiw LGyunpuinpwluwnpuiny
nbnpunhnfuwnndwl dwewynipint

602,201.9

602,201.9

- UntpuhnhwGbn ny $h0wbuwywb yeunwywh
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

4511

602,201.9

602,201.9

4. dbpwlwengdwl L qupgqugdwl
Gypnuwlw pwllh wowlgm prudp
fnwlwGwgynn Eplwih dGwnpnwnihunbih

Ybnwlhwpmnigowl Gphynpnpn spwahn

wunipnwldwd (hwagnpnipini GGG,

364,413.7

364,413.7

- Wy Swfuubn

4861

364,413.7

364,413.7

5. Gypnwwlpwl Gepnpntduwihl pwlyh
wowlgmpruwdp hpwlwiwagynn Epbwih
dGunpnwnihuinbah Jepwlwenigdwl Gphpnpn
dnuw wun/hpwldwd (hwgnpnipint GGG,

995,290.6

995,290.6

- Uy wfuubp

4861

995,290.6

995,290.6

6. Gypnwwlwl dhmpwl hwpbwlnigiwl

Gepnpntduyhl dpw wowlgnipuwd]

hpwlwlwgynn Gplwih déunpnwnihunbih
Gpwlwemgdwa Gnlnn, wdwpanphuiyhl

dnw wunfinwldwd (hwagnpnipint GGG,

1,080,613.5

1,080,613.5

- Wy Swfuubn

4861

1,080,613.5

1,080,613.5

2470

047

Uy plwquwiwnlbn

138,000.0

138,000.0

nphg’

2473

04 |7

2pnuwnontpintl

138,000.0

138,000.0

wjn pynLd’

1. 2pnuwpnonipiwl quipquigntd

138,000.0

138,000.0

- Uj 6wfuubp

4861

138,000.0

138,000.0

2490

049

Stunbuwlwl hwpwpbnpmuegneGabn (wy
nwubpht swunnbwann)

(2,310,173.6)

1,044,826.4

(3,355,000.0)

nphg’
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AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot

a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

2491|04 | 9 | 1 |SGnGuwywb hwpwpbnnentabbn (w)) nwutph (2,310,173.6) 1,044,826.4 (3,355,000.0)
swwuinywbnn)
wyn pynd”
1. dnnpGbph wnbnwnpnid 45,000.0 45,000.0 -
- COnhwOnep pOnyph wyp SwewynipyntGbtn 4239 45,000.0 45,000.0 -
2. Upwlgnipni b hwdwyGpuihl 5,503.0 5,503.0 -
Ywqdwlbnuwinipint 6G66pHG
hninwinlwynpneint G06ph hbwn yuwdws
wayswn swewinigint0G6nh dwwnmqiwa L
glipbquwiuwinbbnh wwhwwadwa hwdwn
- COpwghy npwdw0nphbbp wewwywb L 4637 5,503.0 5,503.0 -
hwdiwGpltph ng weLnnpwhG
JuqguiwybpwnipntbGbtpht
3. bwpwywndwl b inbnyuwunywlhywb 100,973.4 100,973.4 -
wbfulninghwibnh qupnquignt
- Unipuhnhwttp ng $howluwywl wybnwywh 4511 100,973.4 100,973.4 -
(hwdwypwihb) Yugqdwytnpwnigntbbbph
4. UgpwlgnipiniG hwdwylGpuwiha L ng 570,000.0 570,000.0 -
hwdwyGpuyht ywedwlbnwnigin Ga6nh
onwanbinhg
- Lyhpwwnynipintbbep wyp zwhnyp sheunwwlnnn 4819 570,000.0 570,000.0 -
JuqguiwybpwnipntbGbtpht
5. s ppltwbuwlywl whinhyGbph ounwpntdhg (3,370,000.0) - (3,370,000.0)
dnuunplin
uucund ank3eh hPusNtUNS UNESLGN 8111 (320,000.0) - (320,000.0)
<Nh hPUSNHUNS UNESLEN 8411 (3,050,000.0) - (3,050,000.0)
6. Snbwlwl shwynpmd 50,000.0 50,000.0 -
- Uj) Swifuubip 4861 50,000.0 50,000.0 -
7. <wugbwynpuwl wpfuwunwlplbn 115,000.0 115,000.0 -
- COnhwOnep pOnyph wyp SwewynipNLGbEn 4239 115,000.0 115,000.0 -
8. Ubnpnpntduyhl dpwank wlwlwagn o 749,000.0 149,000.0 -
- SbnGYwunywywb swewjnipntbltn 4234 6,000.0 6,000.0 -
- COnhwOnep pOnyph wy| SwewynipyntGbtn 4239 13,000.0 13,000.0 -
- Unipuhnhwttp ng $howluwywl wybnwywh 4511 130,000.0 130,000.0 -
(hwdwjopwihb) Yugqdwytnpwnipntbbtph
9. Nwpunwnhn Yswnpbbnh quaddwa 9,350.0 9,350.0 -
Swpwynipint Gabn
- Lyhpwwnynipintbbbp wy) zwhnyp sheunwwlnnn 4819 9,350.0 9,350.0 -
JuquiwybpwnipntGbtpht
10. Upwildbwhunnm y wuydwlGbnh Yunhp 15,000.0 - 15,000.0

nLGbgnn wldwlg hwdwn dwunsthnipul
wuwwhnynid
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wjn pYntd”

QOnwdklp

Jwnswywl pjniob

Pnlnwyhb pynieb

=N

N

w

N

5

- Wy dbptOwbtn L uwppwynpnidbtn

15,000.0

15,000.0

2500

05

CNRULUU UhQu4yusNrh mucsmuLNtBE3Ntyu

3,751,453.9

3,681,453.9

70,000.0

wyn pynLd”

2510

05

Unpwhwlnd

3,318,270.9

3,298,270.9

20,000.0

nphg’

2511

05

Unpwhwntyd

3,318,270.9

3,298,270.9

20,000.0

wjn pynLd’

1. Unpwhwlnpgin b b uwipunwpuwlwa
dJwppmd

170,000.0

150,000.0

20,000.0

- Undntbwy SwewjnipnLbltn

4213

150,000.0

150,000.0

- GOptnh L 2hGnipyntGGEph Yuwwhwwy yepwbnpngnid

5113

20,000.0

20,000.0

2. Unpwidninbnp uwwuwnlyowl b
2htwnwpwlw G wnph wnbnunbnfudwl
SwpuwynipinLGo6n

362,136.5

352,136.5

- Undntbwy Swewjnipntbltn

4213

352,136.5

352,136.5

3. dbpwlhwenigdwl L qunpqugdwl
Gypnwwlpwl pwllyh wowlgm prudp
hnwlwowgynn «Gplwbh Ynywn puwhnbbbnh
Yuwpwdwnowly npnwdwpnphughl dpwahn

wunfinwldwd (hwaqnpnipint GGG,

151,660.5

151,560.5

- Wy Swfuubn

4861

151,560.5

151,560.5

4. Gypnwwlpwl GEpnpmdughl pwayh
wowlgmpiuwdp hpwlwlwagynn «Gpbwih
Ynpwn punhnllbiph uwewdwnpdwly dSpwghn
(wuwnyhpwlywd hwagnpnpin GG6n)

455,418.7

455,418.7

- Uj 6wfuubp

4861

455,418.7

455,418.7

5. Gypnwwlwl dhmpwl hwpbwlnigiwl

Lbpnpniduyhl gnnd wowlgnpiuwd]
hpwlwlwgynn «Gplwbh Ynywn puwthnlbbnh
Yuwpwdwnpdwly ppwdwplnphughl épwahn

wunfinwldwd (hwanpnipint GGG,

1,072,785.8

1,072,785.8

- Wy Swfuubn

4861

1,072,785.8

1,072,785.8

6. Uplbywl Gypnwuyh tobpquifulbuynnnigiwl
L plwwywhwwlwlwl gnpdpllybpnipwl
Dnlnh wowlgnipuwdp pnwlwlwagynn
«GpluwGh Ynpun punhnllbinh Qwewdwnpdwly
npwdwGnphuyhl spwghn (wuwnd hpnwlywd
[hwgnpnipini GG6n)

268,208.4

268,208.4

- Uj 6wfuubp

4861

268,208.4

268,208.4

7. Ybpwlwengdwl L qupqugdwi

Gypnuwlpwt pwllh wowlgmpruwdp
hpwlwiwgynn «Gplwbh Ynrwn pwthnllbnh

wpwiywndwl snwahny (Wwwndhpwliyws

(hwagnpnigintGa6n)

848,161.0

848,161.0
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- Uj| 6wfuubp 4861 848,161.0 848,161.0 -

2530(05 | 3 | O | Snowlyw dhowyuynh wnunnundwl nbd wwypwn 38,683.0 38,683.0 -
nnhg’

2531|05| 3 | 1 |Onh wnununiw nGd wwjpwn 38,683.0 38,683.0 -
wyn pynd”
1. Qtuntinh hntGbnh dwppnid 38,683.0 38,683.0 -
- UndnLbwy SwrwynipNLGlEn 4213 38,683.0 38,683.0 -

2560(05 | 6 | O | Cppwlyw dhowduynh wwpwnwwlnygyma (wy 394,500.0 344,500.0 50,000.0
nwubnphl swwinlywinn)
nnhg’

2561|05| 6 | 1 [Cpowlyw dhowdwph wywwnwwlnigntd (wjp nwubphb 394,500.0 344,500.0 50,000.0
swwiinyubnn)
wyn pynd”
1. bwlws tnwnwdplbnh hhdanid L 75,000.0 75,000.0 -
wwhwwamd
- UndnLbwy SwewynipNLGlbn 4213 25,000.0 25,000.0 -
- Lwunniy Gwwwnwyuwihb wy Gnipbn 4269 20,000.0 20,000.0 -
- LOpwghy npwiwGnphibp wenwywb L 4638 30,000.0 30,000.0 -
hwiw)bpwjht wrbnpwihb Yuqiwytpwnigntbbepht
4. Uhquidwingbiph uinbinémd L swnluwwwunnd 269,500.0 219,500.0 50,000.0
- Lwunniy Gwwwnwyuwihb wy Gnipbn 4269 219,500.0 219,500.0 -
- Ynipbn L wwpwaqwbn 5221 50,000.0 - 50,000.0
5. Punhwenn Yblnwohob, Gwuwqbndntd 50,000.0 50,000.0 -
(unbphhquighw)
- UntpuhnhwObn ny wbnwywb (ng hwidw)bpwyhb) ng 4521 50,000.0 50,000.0 -
Shlwluwywb Yuwgiwytpwnipntbtnpha

2600(06| 0 | O pLUYUNULUSPL ChuuPuMNHB3NHFL B4 4,849,227.3 3,962,438.9 886,788.4

unuNtLUL cunu3ntE3NFLLEN

wyn pyned”

2610(06 | 1 | O | Phwlwnwluyhl shGwnwpniginda 516,980.0 21,980.0 495,000.0
nnphg’

2611(06 | 1 | 1 |POwywpwlwihb 2hGwpwpnipnl 516,980.0 21,980.0 495,000.0
wyn pynd”
1. hlplwlwd ywenygbbnh pwlnntd 20,000.0 20,000.0 -
- Uj plpwghYy npwdw0nphbtp 4639 5,000.0 5,000.0 -
- Uj 6wfuubp 4861 15,000.0 15,000.0 -
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Pwdhi
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M

AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb
pwdhbbnh, fudptph L nwutph, hoswbu Gwb
pintoGinwhb swfuutph nbwnGuwghunwywb

nwuwywngiwb hnnjwdébbph - wadwbniibbpp

QOnwdklp

wjn pYntd”

Jwnswywl pjniob

Pnlnwyhb pynieb

=N

N
w

N

5

o Annwdh
MM

7

9

2. 2nppnpn wunhAwah Ypwnpuwihl 26Gpbph
pwlndwi hbunbwbpny

Guilyuinwinwéntpin GGG, wé
plwlhsGbnh hnfuhwwnngdwl hwdwn
plwlwnwibnh d6rppbnnid

451,980.0

1,980.0

450,000.0

- Qnyph L uwppwynpnibeph Jupédwwintpnta

4216

1,980.0

1,980.0

- GOptbnh L 2hGnipyntGlUBph dGrppLnnLd

5111

450,000.0

450,000.0

3. Inppnpn wuwnhAwih Jpwpughl )6GpbpH
pwlanmd

45,000.0

45,000.0

- GOptnh L 2hbnLpyntGGEph Ywrenignid

5112

45,000.0

45,000.0

2640

06| 4

@nnnglbbiph (ntuwynpnid

3,656,067.6

3,5656,067.6

nphg’

2641

06 | 4

®nnnglbph |ntuwynpnid

3,556,067.6

3,556,067.6

wjn pynLd’

2 Upunwphl niuwynpnipiuwl guilgh
Qwhwannodwl b wwhwwldwi

wpfuwnwlplbn

2,229,951.6

2,229,951.6

- Untpuhnhwtn ng $howluwywb wybEinwywb
(hwiw)bpwihb) YuwglwytpwnipntGbephG

4511

2,229,951.6

2,229,951.6

3. dbpwlhwpnigdwl b qupqugdwl
Gypnuwlyw o pwlyh wowlgniprudp
pnwhwlwadnn «Gplwlh pwnwpuyhl
[muwydnpnipiwly npwowpGnpnhughl spwahn

(wuwnyhpwlywd hwagnpnpin GG6n)

170,820.1

170,820.1

- Wy Swfuubn

4861

170,820.1

170,820.1

4. dbpwlwenigdwl L qupgugdwl
Gypnuwlwl pwlyh wowlgniprudp
pnwhwlwadnn «Gpbwih pwnwpuyhls
(nLuwdnpnigiwly dpwaghn (wwundppwldwd
[hwgnpnipini GG6n)

516,189.1

516,189.1

- Uj| 6wfuubp

4861

516,189.1

516,189.1

5. Uplbywl Gypnwuyh Fabpqufubwynnnigwlb
L plwwywhwwlwlwl gnpdpblbinnpiuwl
Dnlnh wowlgnipiwdp hnwlwiwgyng
«Gplwlh pwnwpuyhl (muwynpnigiwiy

wdwpGnphuiyhl dpuw wunyhnw

[hwgnpnigintGabn)

wo

639,106.8

639,106.8

- Wy Swfuubn

4861

639,106.8

639,106.8

2650

06| 5

Plhwlwpnwluyhl phlGwnwnniguwl b ndniGuy
dwpuynipintGo6ph gony hbunwgnunwlpwl b
Owfuwqduyhl wpfuwnwlpltn

7,000.0

7,000.0

nphg’

2651

06| 5

POwywpwlwhb zhbwpwpnipjwb L Yyndintbwy
Swrwnipntbbtph gény hbunnwgnunwywl L
Owjuwgbwihlb wuwwnwbpltbn

7,000.0

7,000.0

wyn pynd”
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AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot

a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Cblpbnh L 2hGripgyniGG6nh hbunwgnundwl 7,000.0 - 7,000.0
wpfuwinwlplbn
- Lwhuwgdwhbunwgnunwywb dwfuutkn 5134 7,000.0 - 7,000.0

2660(06 | 6 | O | Phwlwnwluyhl shawpnwpmpwl L ndnGuy 769,179.7 384,391.3 384,788.4
cwpuymp/ntGabn (wy nwubphl swwinlywinng)
nnphg’

2661|06 | 6 | 1 |POwywpwlwihl 2hOwpwpnipjwb L Yyndntbuwy 769,179.7 384,391.3 384,788.4
Swrwjnipntbbtn (w) nwubphG swywwnywbnn)
wyn pynLd”
3. Pwluyht wnnwnpwdéplbbnh L 214,015.5 14,015.5 200,000.0
[fuwnwhnpnwwwpwlGbnh hhdGwanpngnid n
wwhuwwbmd
- GOpbnh L Ywrenygbbph popwghy Gnpngnid L 4251 14,015.5 14,015.5 -
wwhwwnLd
- Wy dbpGOwlEn L uwppwynpnidltn 5129 200,000.0 - 200,000.0
4. Pwquwplwlwnwl p60pknh punbiwpqdwl 147,288.4 12,500.0 134,788.4
wy wpfuwunwlplbn
- GOpbnh L Ywrenygbbph pbpwghy Gnpngnid L 4251 12,500.0 12,500.0 -
wwhwwntd
- GOptnh L 2hGnipyntGbEph Yuwwhuwwy yepwbnpngnud {5113 134,788.4 - 134,788.4
5. Bnuyhl Ywenyglbinh pwhwaenndmid L 325,500.0 325,500.0 -
wwhwwlnd
- Uy 6wfuubp 4861 325,500.0 325,500.0 -
6. Ywpuwjunnbbnh wwhwwlmd 12,375.8 12,.375.8 -
- COpwghy npwdw0nphbbp wewwywb L 4638 12,375.8 12,375.8 -
hwiwjGpwiht wrbwnpwiht YuqdwybpwnipyntbOenh
7. Ywdwnpwlgnidabph L wy phlnieinGabph 20,000.0 20,000.0 -
Ybpwanpngmid L gniGwquipnnmd
- CkOpbnh L Ywenyglbph ppwghy Gnpngnid L 4251 20,000.0 20,000.0 -
wwhwwbnd
8. Ypwnuyhl wwuipqudplbnh Gnpngnid 50,000.0 - 50,000.0
- CkGpbnh L 2hGnipynibbbph Yuwwhuwwy yepwbnpngnd (5113 50,000.0 - 50,000.0

2700(07|0 | O unnnuUMuU<NHe3NkL 379,960.0 83,250.0 296,710.0
wyn pyned”

2710(07 | 1 | O | Adolwlwl wwynwplbn, uwnpbn L 146,710.0 - 146,710.0
uwnpwynpntdlbn
nnphg’

271107 | 1 | 1 |YEnwagnpdwywb wwnwbplbn 146,710.0 - 146,710.0

wyn pyntd”
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,::.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Upnnowwwhwlwl ywedwlybnwnigin GG6nh 146,710.0 - 146,710.0
hwdwpn pdwlwl uwnpwynpmdabnh
dbrppbpmd
- Uj) dbpbOwabn b uwppwynpnidbn 5129 146,710.0 - 146,710.0

2760|07 | 6 | O | Urnnowwwhnipint G (wy nwubphla 233,250.0 83,250.0 150,000.0
swunnlywann)
nphg’

276107 | 6 | 1 |Urnnowuwwhwywb hwpwyhg swrwnipyntblbp L 233,250.0 83,250.0 150,000.0
Spwgntin
wyn pynLd’
1. Upnnowwwhwluwl opiblunGbnh 150,000.0 - 150,000.0
hhdlGwlnpngnid
- GOptnh L 2hGnipyntGbEph Yuwwhuwwy yepwbnpngnud {5113 150,000.0 - 150,000.0
2. dduwpwidwuinstih hbuwgnunniginiGGeph 13,250.0 13,.250.0 -
hpwlwlwgnid
- Uwulwghunwywb swrewynipintbGbtn 4241 13,250.0 13,250.0 -
3. Upwlgnipint b wennowwwhwlywl 70,000.0 70,000.0 -
YwquwlbnwnipinGGGRHG
- Lyhpwwnynipintbbep wyp zwhnyp sheunnwwlGnnn 4819 70,000.0 70,000.0 -
JuquiwybpwnipntbGbtpht

2800|080 | O <Uuahus, uguunt3me 64 urnu 2,296,173.8 1,916,173.8 380,000.0
wjn pynLd’

2810(08 | 1 | O | <wlquinh L uwynpunh SwowynipniGlbn 498,000.0 118,000.0 380,000.0
nnphg’

2811|108 | 1 | 1 |<wlOguunh L uwynpuinh dwrwjnipyntbbbp 498,000.0 118,000.0 380,000.0
wjn pynLd’
1. Uwinpunuyhl dhongwentdGbph 58,000.0 58,000.0 -
Ywquwlybnwnd
- COnhwOnep pOnyph wyp SwewynipnLGbEn 4239 58,000.0 58,000.0 -
2. <wlquwnh gnuinhlbnh L gpnuwyighlbinh 410,000.0 30,000.0 380,000.0
Yupnignid ni wwhwwlnd
- W pbpwghy npwiwpbnphbtp 4639 30,000.0 30,000.0 -
- GOptnh L 2hbnipyntGGEph Ywrenignid 5112 380,000.0 - 380,000.0
3. <Gowldwhpwwwpwlh rwhwanndmd 30,000.0 30,000.0 -
- COnhwOnep pOnyph wyp SwewynipNLGbOEn 4239 30,000.0 30,000.0 -

2820|08 | 2 | O | Upwlnipuyhl SwowynigniGlaGn 1,788,848.8 1,788,848.8 -
nnphg’
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AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
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2821(08 | 2 | 1 |Qpwnwpwbbbn 220,909.5 220,909.5
wyn pyntd”
1. Qpuinwnwauihl swewinieintGabn 220,909.5 220,909.5
- Untpuhnhwtp ng $hbwbuwyub wybEnwywb 4511 220,909.5 220,909.5
(hwdwjopwihb) Yugqdwytnpwnipntbbtph

2822(08 | 2 | 2 |Bwlgqwpwltn L gniguwupwhGbn 316,004.7 316,004.7
wyn pynd”
1. Pwlqupwluyhl swewinignt6G6n L 316,004.7 316,004.7
gmiqwhwinbulbn
- Untpuhnhwtp ng $hbwbuwywl wybEnwywb 4511 316,004.7 316,004.7
(hwdwyopwihb) Yuqdwytnpwnigntbbtph

2823(08 | 2 | 3 |Uwynyph wnbbp, wynwipltn, yeGupnbaep 31,472.7 31,472.7
wyn pynd”
1. <wdwyGpuyhl dywynyph b wquin dwdwd, 31,472.7 31,472.7
Ywaqdwlbpnuind
- UntpuhnhwGbn ny $h0wbuwywb yeunwywh 4511 31,472.7 31,472.7
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

2824|108 | 2 | 4 |W dawynipwihb Yuwgdwytnwnipntbbbp 672,059.2 672,059.2
wyn pyned”
1. Upwlnipuyhl dhonguirent dabph 369,650.0 369,650.0
hnwlwbwgntd
- COnhwOnep pOnyph wyp SwewynipntGbtbn 4239 352,650.0 352,650.0
- <wunnity Owwunwywhb wy Gniebin 4269 3,000.0 3,000.0
- Lyhpwwnynipyntbbbp wy) zwhnyp shbinwwlnnn 4819 14,000.0 14,000.0
Ywqiwytnwnipyntbbphb
2. Ublnwawpwauwlwa wqni 302,409.2 302,409.2
gniquinpnieintGaén
- Untpuhnhwtn ng $howluwywb wybEinwywb 4511 302,409.2 302,409.2
(hwiw)bpwihb) YuglwytpwnipntGbeph

282508 | 2 | 5 |Updbuwn 546,402.7 546,402.7
wjn pynLd’
1. Gpuwdrinwipybunp b wwpwpybuwnp 710,502.6 110,502.6
hwdbpglbn
- Untpuhnhwtn ng $howluwywl wybEinwywb 4511 110,502.6 110,502.6
(hwiw)bpwihb) YuglwytpwnipntGbeph
2. Pwwnbnwlwl GapyuywagnidGbn 435,900.1 435,900.1
- UntpuhnhwOtn ng $howluwywl wybEinwywb 4511 435,900.1 435,900.1
(hwiw)bpwihb) YuglwytpwnipntGbenph
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282708 | 2 | 7 |<ntpwndwbbbph L dowynipwiht wpdbplbph 2,000.0 2,000.0 -
yGpwywbgbnid L wwhwwbnd
wyn pynd”
1. <nipwipndwaaé, Gpwanpngnid L 2,000.0 2,000.0 -
wwhuwwamd
- CtOptiph L Ywrenygbbph pbpwghy Gnpngnid L 4251 2,000.0 2,000.0 -
wwhwwbnd

2840(08 | 4 | O | YpnGwlwl b hwuwpwlwlwl wy 9,325.0 9,325.0 -
SwpwynipntGlobn
nphg’

2843|108 | 4 | 3 |UpnGwywl L hwuwpwwywl wy; SwewnipNLGbGEn 9,325.0 9,325.0 -
wjn pynLd’
1. Utnwdwlgnipiwl Yyawnbbn 9,325.0 9,325.0 -
- Lyhpwwnynipyntbbtp wy) zwhnyp shbinwwlnnn 4819 9,325.0 9,325.0 -
Ywqiwytnwnipynttbtphb

2900|090 | O ureNHa3NtL 19,070,687.7 17,503,187.7 1,567,500.0
wyn pynd”

2910(09 | 1 | O | bwfuwnwpngwlywl L tnwppwlwa ponhwlmn 6,314,388.0 6,164,388.0 150,000.0
UppnupiniG
nnphg’

2911109 | 1 | 1 |Lwjuwnwpngwywb Yppnipnta 310,121.4 160,121.4 150,000.0
wyn pyntd”
1. bwfuwnupnguwlwa munigmd 140,342.0 140,342.0 -
- COnhwOnep pOnyph wyp SwewynipyntGbbn 4239 1,600.0 1,600.0 -
- Unipuhnhwttp ng $howluwywl ybnwywh 4511 138,742.0 138,742.0 -
(hwdwybopwihb) Yugqdwytnpwnipntbbtph
2. bwfuwnunngwlwa munigdwa 150,000.0 - 150,000.0
Yuwqdwlybpnwdwa hwdwn wahpwdbswn qgniph
d6rp pbpmd
- Wy dbpGOwlEn L uwppwynpnidbtn 5129 150,000.0 - 150,000.0
3. bwfuwnuwpngwlwl Yppnipini 19,779.4 19,779.4 -
(Wuwnyhnwldwd (hwqnpniein 6G6n)
- Untpuhnhwtn ng $howluwywl wybEinwywb 4511 19,779.4 19,779.4 -
(hwiw)bpwihb) YuglwytpwnipntGbeph

2912|109 | 1 | 2 |Swppwywb pGnhwbnip Ypenipintd 6,004,266.6 6,004,266.6 -
wjn pynLd’
1. <wlpwlyppwlwl niungnid 5,909,570.3 5,909,570.3 -
- UntpuhnhwOtn ng $howluwywb wybEinwywb 4511 5,909,570.3 5,909,570.3 -
(hwiw)bpwihb) YuglwytpwnipntGbeph
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2. <wuwnru nipintg 94,696.3 94,696.3 -
- UntpuhnhwGbn ng $hwbuwywl yeunwywh 4511 94,696.3 94,696.3 -
(hwdwjpwihb) Yugqdwytnwnipntbbtph

2920|109 | 2 | O | UhoGuwlywng panhwanin Yppniginta 10,342,036.7 10,342,036.7 -
nnphg’

2921(09| 2 | 1 |<hdbwlywb pGnhwbnip Yppnipnt 10,098,609.3 10,098,609.3 -
wyn pynd”
1. <wonwyppwlwl ntunigntd 9,939,058.0 9,939,058.0 -
- Untpuhnhwtp ng $hbwbuwywb wybnwywb 4511 9,939,058.0 9,939,058.0 -
(hwiwjbopwihb) Yugqdwytnpwnipntbbtph
2. <wuwnmu nipintg 159,6561.3 159,651.3 -
- Untpuhnhwtp ng $hbwbuwywb wybEnwywb 4511 159,551.3 159,5651.3 -
(hwdwyopwihb) Yugqdwytnwnipntbbtph

2922|109 | 2 | 2 |UhoGwywng (\phd) pOGnhwbnip Yppnipntd 243,427 .4 243,427.4 -
wyn pyned”
1. <wonwyppwlwl ntunigntd 243,427 4 243,427.4 -
- Untpuhnhwtp ng $hbwbuwywb wybEnwywb 4511 243,427 .4 243,427.4 -
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

2950(09 | 5 | O | Luwn dwlwpnwlybbnh snwuwlwngynn 956,465.1 936,465.1 20,000.0
Ynpniginta
nnphg’

2951109 | 5 | 1 |Upunwnwnngwwl nwunhwpwynepjntl 956,465.1 936,465.1 20,000.0
wyn pyntd”
1. Uninwinupnguwiyw G nuiunhwpwlynigint G 736,558.6 736,558.6 -
- COnhwOnip panyph wy) SwrwjnipnLbOtp 4239 62,595.8 62,595.8 -
- Untpuhnhwtp ng $hbwbuwywb wybEnwywb 4511 673,962.8 673,962.8 -
(hwdwjopwihb) Yugqdwytnpwnipntbbtph
2. Unuwnwnuwpngwlwl 70,000.0 50,000.0 20,000.0
Yuqdwlbnwinieint GG6nh hwdwp wahpwdbwn
qniph d6ep pbpmd
- Lyhpwwnynipntbbtn wy) 2whniyp shGunwwlnnn 4819 50,000.0 50,000.0 -
Ywqiwytnpwnipyntbbnphb
- Uy ubptOwObn L uwppwynpnidbtbp 5129 20,000.0 - 20,000.0
3. «wynp Ynorywly Ynpwhwiwihn MNUY- 7,647.8 7,647.8 -
nd wpunwnupnowlwl nuuwnpwnwlnieiwl
Yuquwlbnwmd (wwunyhpwlydws
[hwanpnipintG06n)
- Untpuhnhwtn ng $howluwywl wybEinwywb 4511 7,547.8 7,547.8 -
(hwiw)bpwihb) YuglwytpwnipntGbenph
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== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
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a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

4. Gpwdrinwlwl L wpybuw, nglbpnid 142,358.7| 142,358.7 -
wqquiht jwnuih L thnnuihl Gdwqunwaabnh
qony niunignid
- COnhwOnep pOnyph wyp SwewynipyntGbtn 4239 142,358.7 142,358.7 -

2960(09 | 6 | O | Ynprupywin wnpwdwnnynn odwlnwly 1,457,797.9 60,297.9 1,397,500.0
dwpuwynipintGakn
nnphg’

2961|109 | 6 | 1 |Uppnipywlp npwiwnnpynn odwlnwy dwrewjnipntGltn 1,457,797.9 60,297.9 1,397,500.0
wyn pynLd”
1. bwfuwnupngulywa hwuwnwunnigin GoGph 1,397,500.0 - 1,397,500.0
hhdawlnpngntd L Ybpwanpngnid
- GLOptnh L 2hGnipyntGbEph Yuwwhuwwy yepwbnpngnud {5113 1,397,500.0 - 1,397,500.0
2. dypngqulwaabnh ojhdyhwnwiabnh b w 29,200.0 29,200.0 -
dhonguendabnh Ywqdwlybnund
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 29,200.0 29,200.0 -
3. Uwnbuwrnwiynpdwl dhongny npwlwynpngd 31,097.9 31,097.9 -
uwnwguwd ntunighsGbpht hwybywyswnlbbnph
wnwdwnpmd (wuwndhpwlpywds
(hwagnpnigintGG6n)
- COpwghy npwdw0nphbbp wewwywb L 4637 31,097.9 31,097.9 -
hwdiwGplbph ng weLinnpwhG
JuquiwybpwnipntGbtpht

3000(10|0 | O unshuLuuuu MucsMuULNHE@3NEL 1,046,850.5 1,046,850.5 -
wyn pynd”

3070|10 | 7 | O | Unghwywlwl hwennely wpuninbnygin GGGn (wyy 222,087.5 222,087.5 -
nwubpht swunnwann)
nnhg’

307110 | 7 | 1 |Unghwjwywb hwwunnty wpunnbnegintGben (wyp 222,087.5 222,087.5 -
nwubnht swywwnywbnn)
wyn pynd”
3. Unghuwywwbu wiwwwhny nGunwihplbnha 122,650.0 122,5650.0 -
wuinGuwiywa b hhpuwwnwlyh onbphl wowlgnieinta
- COnhwOnep pOnyph wy| SwewynipyntGbtn 4239 9,600.0 9,600.0 -
- <wuinnity Owwunwywhb wy) Gnipbin 4269 78,400.0 78,400.0 -
- U)| Gwwuinlbp pjniobihg 4729 34,550.0 34,550.0 -
4. Unghuywwbu wiwwwhny wadwig 70,000.0 70,000.0 -
wowlgntginta
- COnhwOnep pOnyph wyp SwewynipyntGbtn 4239 30,000.0 30,000.0 -
- UGagwnuwyht L hwbpwyhG uGGnh Gnuebp 4267 20,000.0 20,000.0 -
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- Lyhpwuwnynipntbbtn wy) 2whniyp shGunwwlnnn 4819 20,000.0 20,000.0
Ywqiwytnwnipynttbnphb
5. <wuwpwlwlwl Ywqdwlbnwnigin 66EnhG 29,5637.5 29,537.5
wowlgnigintl
- Lyhpwwnynipntbbtn wy) 2whniyp shGunwwlnnn 4819 29,537.5 29,637.5
Ywqiwytnwnipnttbnphb

3090(10 | 9 | O | Unghwywlwl wwpwnwwlnipintb (wyy 824,763.0 824,763.0
nwubnphl swuwnlywinn)
nphg’

309210 | 9 | 2 |Unghwjwywl wwunwwbnipjwbp tnnpwdwnpynn, 824,763.0 824,763.0
odwlnwy Swrwjntpntbltn (w) nwutphG
swwiinyubnn)
wjn pynLd’
1. Deuwnwlywa hhdGwnlbbipnh L 692,496.0 692,496.0
Yuwaquwlbpwnipin G06ph wpluwwnnnlbph
unghwywlwl thwebpny wwwhndnid
(Wuwwnyhpwldwd (hwqnpniein GG6n)
- U)| Gwwuinlbp pjniobihg 4729 692,496.0 692,496.0
2. Upnnonipjwl wujwhnywannipin 87,267.0 87,267.0
- Uywhnjwgpwyw wiuubp 4215 87,267.0 87,267.0
3. Wluwwnwlwqdh wyfuwwnnnbbnh 45,000.0 45,000.0
unghuwywlwa thwebpny wwwhnynd
- U)| Gwwuinbp pjniobihg 4729 45,000.0 45,000.0

3100(11/0 | O <hULUuUL PUGhULLENPL 20UUYNN 6,887,262.7 9,410,644.7

MULNFUSU3hL dNLIGN

wyn pyntd”

311011 | 1 | 0 | << Ywrwywpnigywl L hwowyGplbph 6,887,262.7 9,410,644.7
wwhniuwnuyhl pnln
nnphg’

3112111 | 1 | 2 | << hwdwybplbph wywhniunwiho $nln 6,887,262.7 9,410,644.7
wyn pyntd”
- Mwhniuinwyhb dhonglbn 4891 6,887,262.7 6,887,262.7
-{wuinuwgned wwheunwihb $nlnhg pnbnwihb piniot X - 2,523,382.0
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Lwyblyws N 7
Gnlwl pwnwph wywgubnt
2018 pwlwbh nbyunbdptph 25- h
N 47-U npndw
Unyntuwy 2

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
uauodL3Uy JyuNr2uyuUL crULh vuund

(hwquin npwdaénng)
i | Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®
= == |3 = pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap
D'.:J Z 2| g =2 pinobnwhl dwiuutinh tnbnbuwghunwywh = Jwpswywb pngt | $nlnwyhl pniot
a| 2" nwuwlwngiwl hnnwsttph  wowanuittpp =
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 2,681,236.9 2,5672,386.9 108,850.0
2100(01|0 | O ouacuLNEN ALNE3EBH LULNU3hL 497,399.4 493,549.4 3,850.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 481,221.1 480,371.1 850.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wmunwphl hwpwpbpnupiniGG6n
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 481,221.1 480,371.1 850.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 481,221.1 480,371.1 850.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 336,655.0 336,655.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 107,982.1 107,982.1 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 8,698.4 8,698.4 -
- Undntbwy SwewjnipnLbltn 4213 211.8 211.8 -
- Ywuwh dwrwjnipntbobn 4214 7,000.0 7,000.0 -
- Uwywhnjwagpwywb dwluubp 4215 140.0 140.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 1,000.0 1,000.0 -
- Jwpswywb swewynipntGbbn 4231 300.0 300.0 -
- Lwiwlwpgswihb swrewjnipntGGbn 4232 123.0 123.0 -
- SbnGYwunywywb swewjnipntbltn 4234 164.0 164.0 -
- LbpYwywgnigswywb dwfuubp 4237 1,000.0 1,000.0 -
- Uwulwghunwywb swrewjnipntbGbtn 4241 300.0 300.0 -
- UbptOwlbnh L uwppwdnpnuilbbph pbpwghy 4252 4,000.0 4,000.0 -
Gnpngnid L wwhwwbned
- Qpwubywyuwihb Gnukp L hwgniuwn 4261 2,000.0 2,000.0 -
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- Spwluwnpunwyhb Gneptin 4264 7,652.8 7,652.8 -
- UGOgwnuwyhO L hwOpwyhG uGGnh Gnuebp 4267 1,000.0 1,000.0 -
- Mwpwwnhp y&wpabp 4823 144.0 144.0 -
- Uj| 6wfuubp 4861 2,000.0 2,000.0 -
- Ywnswywl uwnpwynpniibbp 5122 850.0 - 850.0

2130(01 | 3 | O | Lanhwlnin plnyph dweruwynipiniGa6n 11,178.3 11,178.3 -
nphg’

213101 | 3 | 1 |Uzluwwnwywqdh /Yunnptph/ gény pGnhwbnip plnyph 11,178.3 11,178.3 -
Swrw)nipnLblbn
wyn pynLd”
1. Pwnwpwohwlywl Guwagnipiwl wywnbnh 11,1778.3 11,178.3 -
qnuilquwl swpwinip/wl gnpdnLGbnipiuwl
Ywadwlybnwmd (wwunyhpwlydws
[wgnpnipintGG6n)
- Upjuwuwnnnbbnh wluwunwywpdbn L 4111 9,600.0 9,600.0 -
hwybwJswnbtn
- EOBpgbwnhy Swrewynipyniblbn 4212 675.0 675.0 -
- UninLbwy SwewynipNLGlEn 4213 196.2 196.2 -
- Ubpthwabnh L uwppwynpnidlbph pbpwghy 4252 180.7 180.7 -
Onpngnid b wwhwwOned
- Qpwubywyuwihb Gnuekp L hwgniuwn 4261 417.3 417.3 -
- UGOagwnuwyhO L hwbpwyhG uGGnh Gynuebp 4267 100.0 100.0 -
- Mwpwwnhp y&wpabp 4823 9.1 9.1 -

2150(01 | 5 | O | Lanhwanin plnyph hwinpuwyhl 3,000.0 - 3,000.0
owpuympintGb6ph gony hunwqnunwlywl L
Owfuwqduyhl wpfuwnwlplbn
nphg’

2151|101 | 5 | 1 |CUnhwGntp pGnyph hwOpwih( dwewynipNLGGEph 3,000.0 - 3,000.0
gony htnwgnunwywl L bwuwgdwh
wfuwwnwbpltn
wjn pynLd’
1. bwfuwqduyhl wipfuwnwlplbn 3,000.0 - 3,000.0
- Lwfuwgéwhbunwgnunwwb dwfuubn 5134 3,000.0 - 3,000.0

2160|01 | 6 | O | Lanhwhnin plnyph hwapuwyhl 2,000.0 2,000.0 -
dswpuynip/ntGo6n (wy nwubphl swuwanlywlng)
nnphg’

2161|01| 6 | 1 |CUnhwGntp pGnyph hwOpwih( swewynipINLGGEN (wy| 2,000.0 2,000.0 -

nwubphb swywwnlwbnn)

wjn pynLd’
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AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % o e pwdhbbnh, fudptph L nwutph, hoswbu Gwb 3 = o

E= = 3 = nwakap

wm = 3| EZ pintobiinwhb swiuubph nbwnbuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot

a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Fhdnidabp, hwjgwnhdnidabn, nuwunwnpwih 1,000.0 1,000.0 -
npnpmdGbnph L Yahrabnh nbd Ybnwplahs b
Yarwpbl pnnnpGbn GEpluywalbihu
uwhiwaywd Yswnntdobn
- Mwpuwnhp y&wpbkn 4823 1,000.0 1,000.0 -
2. Qnuyph Gyundwdp ppwyniGplbph 1,000.0 1,000.0 -
qnuwilguwl, guwhwundwla L
wnbnbGywwnynipiuwl tnpwdwnpdwl hu
Ywwdwd Jawnnidbbn
- Mwpwwnhp y&wpatbp 4823 1,000.0 1,000.0 -

2200|020 | O nUCSMULNHB3NEL 2,000.0 2,000.0 -
wjn pynLd’

2250|102 | 5 | O | Muwpunywlnygin b (wyy nwubphl swwinlywbng) 2,000.0 2,000.0 -
nnphg’

2251102 | 5 | 1 |Mwpunwwbnipntb (w), nwubphb swywwnywbnn) 2,000.0 2,000.0 -
wjn pynLd’
1. 2hGuwnunlbnh hupdwedwl, gnpuwlnsh, 2,000.0 2,000.0 -
anpwhwywph b Jupdwlwl hwdwplbnh
Ywquwlbnuwdwll wowlgnigint
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 2,000.0 2,000.0 -

2400|040 | O SuStGUUYUL <UnurtMNtHE@3NFLLEN 60,874.4 55,874.4 5,000.0
wjn pynLd’

2450|104 | 5 | 0 | Spwhuwnpun 51,000.0 46,000.0 5,000.0
nnphg’

2451|104 | 5 | 1 |Awlwwwphwihb tnpwbuwnpun 46,000.0 46,000.0 -
wjn pynLd’
1. UWupuywin-pbuinnliu  swdlh JbEpwlnpngnid 46,000.0 46,000.0 -
L wwhwwGnd
- GOptbnh L Ywrnygbbph popwghy Gnpngnid L 4251 46,000.0 46,000.0 -
wwhwwntd

2455|104 | 5 | 5 |lunnnywywwpwihO b wy, tpwluwynpun 5,000.0 - 5,000.0
wjn pynLd’
1. dbpbywlGbph hhdbwlnpngnid 5,000.0 - 5,000.0
- Wy dbpGOwlEn L uwppwynpnidltn 5129 5,000.0 - 5,000.0

2490|04 | 9 | O | Siwnbuwlwl hwnwpbpnieini GGG (wy 9,874.4 9,874.4 -
nwubnphl swyuwnlywlng)
nphg’

249104 | 9 | 1 |SGuinGuwywb hwnpwpGpnipnLGOGn (w) nwubphb 9,874.4 9,874.4 -

swwnyubnn)

wjn pynLd’
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7. Snqwywiwrbbnh ywedwlybnuwnm d 85.0 85.0 -
- Uj| Swifuubn 4861 85.0 85.0 -
9. Nwpunwnhn Yswnbbnh quaddwa 9,789.4 9,789.4 -
Swpwynipin Gabn
- UluwwnnnGbph wi2fuwnwywndbn b 4111 5,594.0 5,594.0 -
hwybwyswnpbbn
- Lyhpwwnynipyntbbtp wy) zwhnyp shbinwwlnnn 4819 4,195.4 4,195.4 -
Ywqiwytnwnipntbbphb

2500(05|0 | O cNRUYU UuhudusNrh mucsmuULNH33NFL 397,730.7 397,730.7 -
wyn pynLd”

2510|105 | 1 | O | UnpwhwGnid 298,230.7 298,230.7 -
nnphg’

2511|05| 1 | 1 |UnpwhwOnd 298,230.7 298,230.7 -
wyn pynd”
1. whwiGnugn§ L uwahunwpwlywa 298,230.7 298,230.7 -
dwpnmd
- UninLbwy SwewynipNLGlbn 4213 298,230.7 298,230.7 -

2560(05 | 6 | O | Spowlyw dhowyuynh wuwpunwwlnigim b (wyy 99,500.0 99,500.0 -
nwubpht swunnywann)
nnhg’

2561|05| 6 | 1 |[Cpowlyw dhowdwiph wywwnwwbnignid (wyp nwubphl 99,500.0 99,500.0 -
swwuinywbnn)
wyn pynLd”
1. Ywows tnwnwdplbnh hhoGnid L 97,600.0 97,600.0 -
wwhwwlmd
- Undntbwy Swewjnipntbltn 4213 97,500.0 97,500.0 -
2. Uluwnwhwldw( b dhounnwqbnddwl 2,000.0 2,000.0 -
SwewynipinGabn /nbrunhquighw
- UndnLbwy SwrwynipNLGlEn 4213 2,000.0 2,000.0 -

2600(06 |0 | O pLUYUNULUSKL ChuuPuMNHB3NFL B4 222,437.8 122,437.8 100,000.0

LUNUNFLUL dunu3nk@3NtuutN

wjn pynLd’

2660|06 | 6 | O | Phwlwpwluyhl shlGwmwpniguwl b YndniGuy 222,437.8 122,437.8 100,000.0
SwpuympntGo6n (wy nwubphl swuwnlywlng)
nphg’

2661(06 | 6 | 1 |ROwywpwlwihb 2hOwpwnnipjwb L Yndntbuwy 222,437.8 122,437.8 100,000.0
Swrwjnipntbbtn (w) nwubphb swywwnywbnn)
wjn pynLd’
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a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Pwqlwpluwlwnwa p6Gpbnh hwnpe 20,000.0 20,000.0 -
wnwahplbinh Ypnwanpngnid
- SkOpbnh L Ywenyglbph ppwghy Gnpngnid L 4251 20,000.0 20,000.0 -
wwhwwbnd
2. Pwqdwpluwlwnwi p66pk; &, 22,500.0 22,500.0 -
wnwahplbbinh Ypnwianpngnid
- <wwnnty Gwwuinwywihb wy) Ojneekn 4269 22,500.0 22,500.0 -
3. Pwluyhl unwnwdplbph b 119,937.8 19,937.8 100,000.0
Juwnwhpnwwwnwllbbinh hhdGwanpngnid nt
wwhwwlmd
- UntpuhnhwOtp ng wGunwywl (ng hwdw)bpwihb) ng 4521 19,937.8 19,937.8 -
$hlwlbuwywl YuglwybpwnipntGbepha
- GOpbnh L 2hGnipyntGbEph Yuwwhwwy yepwbnpngnud {5113 100,000.0 - 100,000.0
4. Pwquwplwlpunwl p6Gpbnph pwpblywnpqdwl 60,000.0 60,000.0 -
wyy wpfuwunwlplbin
- GOptbnh L Ywrnygbbph pbpwghy Gnpngnid L 4251 60,000.0 60,000.0 -
wwhwwntd

2800|080 | O <Uuanus, ucuunt3s@ 4y urnu 181,929.0 181,929.0 -
wyn pyntd”

2810(08 | 1 | O | <wlquinh L uwynpunh SwowynipniGlbn 5,000.0 5,000.0 -
nphg’

2811|108 | 1 | 1 |<wlOguunh L uwynpuinh Swrwjnipyntbbtp 5,000.0 5,000.0 -
wyn pynLy’
1. Uwnpunuyhl dhonguwen daanh 5,000.0 5,000.0 -
Yuquwlbpwnd
- COnhwOnep pOnyph wyp SwewynipnLGbEn 4239 5,000.0 5,000.0 -

2820|08 | 2 | O | Vpwnipuyhl SwownigniGlabn 176,929.0 176,929.0 -
nnphg’

2821(08 | 2 | 1 |Qpwnwpwabbp 57,499.5 57,499.5 -
wjn pynLd’
1. Qpuinwpwluyhl SwiewinigintGabn 57,499.56 57,499.5 -
- Untpuhnhwtp ng $howluwywl wbEinwywb 4511 57,499.5 57,499.5 -
(hwiw)bpwihb) YuglwytpwnipntGbenphG

2823|108 | 2 | 3 |Uwynyph wnbkp, wynidpltp, Yehupnblsp 88,541.5 88,541.5 -
wjn pynLd’
1. <wduwylpwihl dywlynyph b wquin dwdwlgh 88,641.56 88,641.5 -
Yuqdwlbinynid
- UntpuhnhwOtn ng $howluwywb wybEinwywb 4511 88,541.5 88,541.5 -

(hwiw)bpwihb) YuwglwytpwnipntGbepha
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
D'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 12 |3 |4 5 6 7 8 9

2824|108 | 2 | 4 |UWy dawynipwihb Yuwgiwytnwnipntbbbp 20,000.0 20,000.0
wyn pyntd”
1. Vpwlnipuyhl dhonguwentdabnh 20,000.0 20,000.0
hnwlwlwgnid
- COnhwOnep pOnyph wyp SwewynipyntGbtn 4239 20,000.0 20,000.0

282508 | 2 | 5 |Updbuwn 10,888.0 10,888.0
wyn pynd”
1. Gpwdrinwpybunp b wwnwpybunh 10,888.0 10,888.0
hwdbnqlbn
- UntpuhnhwGtn ng $h0wbuwywb yeunwywh 4511 10,888.0 10,888.0
(hwdwyopwihb) Yuqdwytnpwnigntbbtph

2900(09|0 | O urENHa3NtL 1,199,699.8 1,199,699.8
wyn pynd”

2910(09 | 1 | O | bwfuwnwpngwlywl L wnwuppwlwa panhwann 967,320.0 967,320.0
UppnupiniG
nnphg’

2911109 | 1 | 1 |Lwjuwnwpngwywb Yppnipinta 967,320.0 967,320.0
wyn pyntd’
1. bwuwnupngulwa munignd 967,320.0 967,320.0
- Untpuhnhwtp ng $hbwbuwywb wybnwywb 4511 967,320.0 967,320.0
(hwdwjbopwihb) Yugqdwytnpwnipntbbbph

2950(09 | 5 | O | Luwn dwlwpnwlbbnh snwuwlwngynn 232,379.8 232,379.8
Upprupini
nnphg’

295109 | 5 | 1 |Upunnwnwnpngwywl nwuwnhwpwynepjnta 232,379.8 232,379.8
wyn pynLd’
1. Unuinwinuwpngwlwl nwunhwpuwlynieint G 232,379.8 232,379.8
- Untpuhnhwtp ng $hbwbuwywl wybnwywb 4511 232,379.8 232,379.8
(hwdwypwihb) Yugqdwytnpwnipntbbtph

3000100 | O unshuLuuuu MucsMuULNE@3NEL 119,165.8 119,165.8
wyn pynd”

3070|10 | 7 | O | Unghuwywlwl hwennely wpannbnuyginiGaGn (wy 39,420.0 39,420.0
nwubpht swunnbwann)
nnhg’

307110 | 7 | 1 |Unghwjwywb hwwnnty wpunnbnegyntGben (wyy 39,420.0 39,420.0

nwubnht swywwnywbnn)

wyn pynLd”
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9
2. <wpwquin sniGbgnn wadwag b 4,500.0 4,500.0
unghuywwby wiwwwhny pGuwGhplbnh
hwdwn hwpwiplpwynpmpwG yuwqdwlbnund
- COnhwOnep pOnyph wyp SwewynipyntGbtn 4239 4,500.0 4,500.0
3. Unghuwyjwwby wiwwwhny pnGunwahplbnha 26,600.0 26,600.0
winGwlyw b hhpunnwlyh onbpha wowlgnipini g
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 5,600.0 5,600.0
- UGhgwnuwyhO L hwbpwihG uGGnh Gjnuebp 4267 21,000.0 21,000.0
4. Unghuywwbu wiwwwhny wadwiag 8,320.0 8,320.0
wowlgnipintl
- Qnyph L uwppwynpnibeph Jupédwwintpnta 4216 4,320.0 4,320.0
- W bwwuwnltn pjnigtihg 4729 4,000.0 4,000.0
309010 | 9 | O | Unghuwywlwl wwpwnwwGnigina (wyy 79,745.8 79,745.8
nwubpht swunnbwann)
nnphg’
309110 | 9 | 1 |Unghwjwywl wwunwwbnipyntb (wy nwukphb 35,741.8 35,741.8
swwinyubnn)
wjn pynLd’
1. Unghuwywlwl oqlnipiwl swewynipintGatnh 35,741.8 35,741.8
qnpénLbbinypwl Ywqlwlbnwmd
(Wuwwnyhpwldwd (hwqnpniein 6G6n)
- Upfuwwinnnl6ph wfuwwnwywndbp b 4111 35,025.1 35,025.1
hwyGlwdLwnbtn
- Ywwh dwrwnieyntbbbn 4214 350.0 350.0
- Qpwutyuyuwihb Gnikp L hwgniuwn 4261 316.7 316.7
- UagwnuwyhO L hwbpwihG uGGnh GNP 4267 50.0 50.0
309210 | 9 | 2 |Unghwjwywl wwunwwbnipjwbp tnpwdwnpynn, 44,004.0 44,004.0
odwlnwy Swrwjntpntblbn (w) nwutnphG
swwinyubnn)
wyn pyned”
2. Upnnonipiwl wujwhnywannipinia 44,004.0 44,004.0
- Uywhnjwgpwyw wfuubp 4215 44,004.0 44,004.0
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Lwyblyws N 7
Gnlwl pwnwph wywgubnt
2018 pwlwbh nbyunbdptph 25- h
N 47-U npndw
Unyntuwy 3

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
uduu 4yuN2uuyuL crRuuvh vuundy

(hwquin npwdaénng)

= =l a Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®

ez |3 g pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap

D'.:J Z 2| g =2 pinobnwhl dwiuutinh tnbnbuwghunwywh = Jwpswywb pngt | $nlnwyhl pniot

a| 2" nwuwlwngiwl hnnwsttph  wowanuittpp =
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 1,617,564.2 1,682,864.2 34,700.0
2100(01|0 | O ouacuLNeN ALNE3BH <ULNU3hL 395,969.7 393,969.7 2,000.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 386,072.2 385,072.2 1,000.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wpunwphl hwpwpbnpnigindGGGn
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 386,072.2 385,072.2 1,000.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 386,072.2 385,072.2 1,000.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 256,770.0 256,770.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 82,357.4 82,357.4 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 15,525.6 15,525.6 -
- Undntbwy SwewjnipnLbltn 4213 1,000.0 1,000.0 -
- Ywuwh dwrwjnipntbobn 4214 8,740.0 8,740.0 -
- Uwywhnjwagpwywb dwluubp 4215 310.0 310.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 1,000.0 1,000.0 -
- <wiwywngswihb swrewjnipntbOtn 4232 180.0 180.0 -
- Lbpywywgnigswywb wiuubp 4237 1,000.0 1,000.0 -
- UbpbOwbGph L uwppwydnpnidbbph pbpwghy 4252 4,000.0 4,000.0 -
Gnpngnid b wwhwwOned
- Qpuiubywywhb Gynpbin L hwgniun 4261 2,667.0 2,667.0 -
- Spwluwnpunwjhb Gneptin 4264 8,772.2 8,772.2 -
- UGOogwnuwyhO L hwbpwyhG uGGnh Gnuebp 4267 1,500.0 1,500.0 -
- Mwpuwnhp y&wpbkn 4823 250.0 250.0 -

62



Ml
Pwdhi
haniip

annh
M

AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb
pwdhbbnh, fudptph L nwutph, hoswbu Gwb
pintoGinwhb swfuutph nbwnGuwghunwywb

nwuwywngiwb hnnjwdébbph - wadwbniibbpp

QOnwdklp

wjn pYntd”

Jwnswywlb pnet | dnlnwjhb piniot

=N

N
w

N

5

- Uj| 6wfuubp

1,000.0

1,000.0

- Ywnswywb uwnppwynpniibbp

1,000.0

1,000.0

2130

013

Lanhwarn panyph swewynipiniGabn

7,297.5

7,297.5

nphg’

2131

013

Uzfluwwnwywqih /Yunnptnh/ gény pGnhwnip plnyph
SwnwjnipnLbGbn

7,297.5

7,297.5

wyn pynd”

1. Pwnuwpwghwlwl ywagm piuwl wlywnbnh

gnuwilbguwl swewinpwl gnpdnbbnipiwl
wquiwlbnwnd (wuwunyppwlyywo

[hwagnpnipintGG6n)

7,297.5

7,297.5

- Upfuwwnnnl6ph wfuwwnwywndbp b
hwyGlwyLwnltn

4111

5,096.1

5,096.1

- Qpwubywyuwihb Gnikp L hwgniuwn

4261

2,201.4

2,201.4

2150

01|56

Lanhwlnin plnyph hwapuwhla
SwpuynipintGG6ph gony hunwgnunwlpwl b
Owfuwqduyhl wpfuwwnwlplbn

1,000.0

1,000.0

nphg’

2151

01|5

CanhwOnip pOnyph hwbpwihb Swewjnintbbtph
g6ny htnwgnunwyw L bwuwgdwh
wfuwwnwbpltn

1,000.0

1,000.0

wyn pynd”

1. bwfuwqduyhl upfuuwnwlplbn

1,000.0

1,000.0

- Lwuwgéwhbunwgnunwwb dwfuubn

5134

1,000.0

1,000.0

2160

01|6

Lanhwlrin plnyph hwipwhl
SwepuyntpntGo6n (wy nwubphl swuwanlywlng)

1,600.0

1,600.0

nphg’

2161

01|6

CanhwOnip pOnyph hwbpwihb Swewnintbbbp (wyg
nwubphb swywwnlwbnn)

1,600.0

1,600.0

wyn pyned”

1. 2hdnidabn, hwygwnhdnidGbn, nuwwnwpwih
npnpmdlbnh L yahrabnh nbd Ybpwplahs L
YArwpbl pnnnplbn GEpluywaglbhu
uwhdwlywd yYswnpmdobn

1,000.0

1,000.0

- Mwpuwnhp y&wnbbnp

4823

1,000.0

1,000.0

2. Qnyph Ghunnduwd) wi/nlplé,
gpwilguiwl, glwhwwndwl L
wnbn&winympiwl inpwdwnpndwl hbuw
YQuwwdwd Yawnmdabn

600.0

600.0

- Mwpuwnhp y&wpbkn

4823

600.0

600.0

2200

02| 0

MUGSMULNEB3NFL

2,500.0

2,500.0

wjn pynLd’

63




i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,::.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8

2220|02 0 | Puwnwpwghwlwl wupunwwanipgint 1,000.0 1,000.0 -
nnphg’

222102 | 2 | 1 |Rwnwpwghwywl ywunwwbnipintl 1,000.0 1,000.0 -
wyn pyned”
1. Punwpwghwlwl wuwpuywbn giuwiol 1,000.0 1,000.0 -
wowlgnigint
- QpuiubOywywhb Gynuebin L hwagniun 4261 1,000.0 1,000.0 -

2250|102 | 5 | O | Dupunywilniygym b (wyy nwubphl swuwnlywann) 1,500.0 1,500.0 -
nnphg’

2251102 | 5 | 1 |Mwunwwbnipntb (wy nwubphb suywwnyuwbnn) 1,500.0 1,500.0 -
wjn pynLd’
1. 2hGuwwwnunGbnh hupdwedwl, gnpuwlnsh, 1,5600.0 1,500.0 -
gnpwhwywph b Jupdwlwl hwdwplbnh
Yuwquwlbnuwdwla wowlgnigint
- COnhwOnip panyph wy| SwewjnipynLbGtp 4239 1,500.0 1,500.0 -

2400(04|0 | O SULSGUUUUUL <UnurtMnNt@3NFuLEN 99,742.7 97,742.7 2,000.0
wyn pynd”

245004 | 5 | O | Spwluwnpun 94,000.0 92,000.0 2,000.0
nnphg’

2451|104 | 5 | 1 |Awlwwwphwihb tnpwbuwnpun 92,000.0 92,000.0 -
wjn pynLd’
1. Uupuywn-pluinnli  swdlh JEpwlnpngnid 92,000.0 92,000.0 -
L wwhwwlmd
- GOptnh L Ywrnygbbph popwghy Gnpngnid L 4251 92,000.0 92,000.0 -
wwhwwntd

245504 | 5 | 5 |lunnndwywwnwihb L wy; tnpwluwnpun 2,000.0 - 2,000.0
wyn pyntd”
1. dbpbjwlGbnh hhdGuwlnpngnid 2,000.0 - 2,000.0
- Wy dbpGOwlbn L uwppwynpnidbtn 5129 2,000.0 - 2,000.0

2490|04 | 9 | O | Siwnbuwlwl hwnwpbpnieini GGG (wy 5,742.7 5,742.7 -
nwubnphl swyuwnlywlng)
nphg’

2491104 | 9 | 1 |SGnbuwywl hwpwptnnigntbbtn (w), nwubphb 5,742.7 5,742.7 -
swwinyubnn)
wyn pynLd”
7. Snbwywawrbbnh yuqdwlbnumd 85.0 85.0 -
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
D'.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8

- Uj| 6wfuubp 4861 85.0 85.0 -
9. Nwpunwnhn Yswnpbbnh quaddwa 5,657.7| 5,657.7 -
Swpwynipin Gobn
- WluwwnnnGbph wifuwnwywndbn b 4111 3,233.0 3,233.0 -
hwybwddwnpbtn
- Lyhpwwnynipyntbbtn wy) 2whniyp shGunwwlnnn 4819 2,424.7 2,424.7 -
Ywqiwytnwnipynttbphb

2500|050 | O cNRULU Uhu4usrh mucsmuLNHa3NtL 361,579.1 361,579.1 -
wyn pynLd”

2510(05 | 1 | O | Unpwhwlmd 270,829.1 270,829.1 -
nnhg’

2511105 | 1 | 1 |UnpwhwOnd 270,829.1 270,829.1 -
wyn pynd”
1. whwiGnugnt§ L uwahunwpwlywa 270,829.1 270,829.1 -
dwpnmd
- UndinLbwy Swew)nipyNLGlEn 4213 270,829.1 270,829.1 -

2560(05 | 6 | O | Spowlyw dhowyuynh wuwpunwwlnigimb (wyy 90,750.0 90,750.0 -
nwubpht swunnywann)
nnphg’

2561|05| 6 | 1 |[Cpowyw dhowdwinph wywpwnwwlnignid (wyp nwubphl 90,750.0 90,750.0 -
swwuinywbnn)
wyn pyntd”
1. bwlws tnwnwdplbnh hhdanid L 90,750.0 90,750.0 -
wwhwwamd
- UndnLbwy SwrwynipNLGlEn 4213 90,750.0 90,750.0 -

2600(06| 0 | O pLUYUNULUSHL ChuuPruMNHE3NEL B4 156,700.0 126,000.0 30,700.0

LUNUNFLUL dunu3nk@3NtuueN

wjn pynLd’

2660|06 | 6 | O | Phwlwpwluyhl shlGwpwpmiguwi b YndnGuy 156,700.0 126,000.0 30,700.0
dwpuynpntGo6n (wy nwubphl swuwanlywlneg)
nphg’

2661(06 | 6 | 1 |ROwywpwlwihb 2hOwpwpnipjwb L Yndntbuwy 156,700.0 126,000.0 30,700.0
Swrwjnipntbltn (w) nwubphb swywwnywbnn)
wjn pynLd’
1. Pwqulwplbwlwnwl pG0ptnh hwpe 22,000.0 22,000.0 -
unwGhplbnh Ybpwlnpngnid
- GOptnh L Ywrnygbbph pbpwghy Gnpngnid L 4251 22,000.0 22,000.0 -
wwhwwnLd

65




AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot

a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

2. Pwqlwpluwlwnwi p66pk; &, 18,000.0 - 18,000.0
wnwahplbinh Ypnwanpngnid
- GkGpbnh L 2hGnipynibbbph Yuwwhuwwy yepwbnpngnd (5113 18,000.0 - 18,000.0
3. Pwluiht wrnwnpwdéplbnh L 20,700.0 8,000.0 12,700.0
[uwnwhpwwwnwlGbnh hhdGwanpngnid ni
wwhwwamd
- UntpuhnhwObp ng wyGunwywl (ng hwdwjbpwihb) ng 4521 8,000.0 8,000.0 -
$Shlwlbuwywl YuglwybpwnipntGbeph
- GtOptbnh L 2hGnipyntGbEph Yuwwhuwwy yepwbnpngnud {5113 12,700.0 - 12,700.0
4. Pwquwplwlpunwl p6Gp6nph pwpblywnpqdwl 96,000.0 96,000.0 -
wyy wpfuwunwlplbn
- GOpbnh L Ywrnygbbph pbpwghy Gnpngnid L 4251 96,000.0 96,000.0 -
wwhwwnLd

2800|080 | O <Uuahus, uguunt3me 64 urnu 46,670.2 46,670.2 -
wjn pynLd’

2810(08 | 1 | O | <wlquinh L uynpunh SwowynipniGlbn 3,000.0 3,000.0 -
nnhg’

2811(08 | 1 | 1 |<wlOguunh L uwynpuinh dwrwjnipyntbbbp 3,000.0 3,000.0 -
wyn pyntd’
1. Uwnpunuwyht dhongwen dGGnh 3,000.0 3,000.0 -
Ywquwlbnwnd
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 3,000.0 3,000.0 -

2820(08 | 2 | O | Upwlynipuyhl SwewyniginiGaGn 43,670.2 43,670.2 -
nphg’

2821(08 | 2 | 1 |Qpwnwpwabbp 8,961.6 8,961.6 -
wyn pyntd”
1. QnuinwnwluihlG swewjnipintGabn 8,961.6 8,961.6 -
- UntpuhnhwGbn ng $h0wbuwywb yeunwywh 4511 8,961.6 8,961.6 -
(hwdwjopwihb) Yuqdwytnpwnipntbbtph

2823|08 | 2 | 3 |Uwynyph inabp, wynidpltn, Yebunpnbabnp 14,708.6 14,708.6 -
wyn pyned”
1. <wiwyGpuyht drwynyph b wquin dwiwlgh 14,708.6 14,708.6 -
Yuquwlbnwmd
- Untpuhnhwtn ng $howluwywl wybEinwywb 4511 14,708.6 14,708.6 -
(hwiw)bpwihb) YuglwytpwnipntGbeph

2824|108 | 2 | 4 |W dwynipwihb Yuqiwytpwnientbbtn 20,000.0 20,000.0 -

wjn pynLd’
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
D'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Vpwlnipuyhl dhonguwentdabnh 20,000.0 20,000.0
hnwlwlwgnid
- COnhwOnep pOnyph wyp SwewynipntGbbn 4239 20,000.0 20,000.0

2900|090 | O urENHa3NtL 502,040.2 502,040.2
wyn pynLd”

2910(09 | 1 | O | bwfuwnwpngwlywl L wnnwppwlywa ponhwlmn 364,290.0 364,290.0
Ynpniginia
nnhg’

291109 | 1 | 1 |Lwuwnwnpngwwl Yppnepntl 364,290.0 364,290.0
wyn pyntd’
1. bwfuwnupngulywa munigmd 364,290.0 364,290.0
- Untpuhnhwttp ng $howluwywl wybnwywh 4511 364,290.0 364,290.0
(hwdwyopwihb) Yugqdwytnwnipntbbtph

2950(09 | 5 | O | Luwn dwlwpnwlbbnh snwuwlwngynn 137,750.2 137,750.2
UppnupiniG
nnphg’

2951109 | 5 | 1 |Upunwnwnngwwl nwunhwpwynepjntl 137,750.2 137,750.2
wyn pynLd”
1. Unuinwinuwpngwlwl nwutinhwpuwlynipintG 137,760.2 137,750.2
- Unipuhnhwttp ng $howluwywl wybnwywh 4511 137,750.2 137,750.2
(hwdwjbopwihb) Yugqdwytnpwnipntbbbph

3000(10|0 | O unshuLuuuu MucsMuULNE@3NEL 52,362.3 52,362.3
wyn pyntd”

3070|10 | 7 | O | Unghuwywlwl hwennely wpannbnuyginiGaGn (wy 18,600.0 18,600.0
nwubpht swunnywann)
nnphg’

307110 | 7 | 1 |Unghwjwywl hwwnnty wpunnbnegintGben (wyy 18,600.0 18,600.0
nwubnht swywwnywbnn)
wyn pyned”
2. <wnwquin smiGbgnn wadwbg b 2,000.0 2,000.0
unghuwywwbu wiwwwhny pGuwbhplbnh
hwdwn hrwnuwiplpwydnpnigrwG yuwqowlybpunid
- COnhwOnip pOnyph wyp SwewynipNLGbEn 4239 2,000.0 2,000.0
3. Unghuywuwbu whwwwhny pGunwlhplbnhl 11,600.0 11,600.0
winbulywl L hfpwunwlyh opnbnhl wowlgnipint o
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 3,600.0 3,600.0
- UGhgwnwyhb L hwbpuwihG uGGnh OGN 4267 8,000.0 8,000.0
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Pwdhi
haniip

annh
M

AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb
pwdhbbnh, fudptph L nwutph, hoswbu Gwb
pintoGinwhb swfuutph nbwnGuwghunwywb
nwuwywngiwb hnnjwdébbph - wadwbniibbpp

wjn pYntd”

QOnwdklp

Jwnswywlb pnet | dnlnwjhb piniot

=N

N
w

N

5

o Annwdh

4. Unghuwywwby wiwwwhny widwig
wowlgrnipini

5,000.0

5,000.0

- W bwwuwnlbtn pjniotihg

4729

5,000.0

5,000.0

3090

Unghuywlwl wwpwnwwGnigini b (wyy
nwubpht swunywann)

33,762.3

33,762.3

nphg’

3091

Unghwjwywb wwunwwbnigntb (wy nwubphb
swwuinywbnn)

14,553.3

14,553.3

wyn pynLd”

1. Unghwywlywl oglnipgiwl swewjniginGobnh
anpéntbbnprwl Ywqdwlbnuimd

wun/inwldwd (hwgnpnipini GGG,

14,563.3

14,553.3

- UpfuwwnnnlO6ph wfuwwnwywndbp b
hwyblwdLwnbtn

4111

14,191.0

14,191.0

- Qpwutywyuwihb Gniekp L hwgniuwn

4261

362.3

362.3

3092

Unghwjwyw wywpunwwbnigjulp tnpwiwnpynn
odwlnwy Swrwjntpntbltn (w) nwutnphG
swwinywbnn)

19,209.0

19,209.0

wyn pyntd”

2. Upnnomipwl wupwhndwanpnipgini

19,209.0

19,209.0

- Uywhnwgpwywlb dwfuubp

4215

19,209.0

19,209.0
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Lwyblyws N 7
Gnlwl pwnwph wywgubnt
2018 pwlwbh nbyunbdptph 25- h
N 47-U npndw
Unyntuwy 4

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
urupyph, yuMuyuu craUuuh vuuny

(hwquin npwdaénng)

= =l a Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®

ez |3 g pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap

D'.:J =l 2 E ,:4 pinobnwhl dwiuutinh tnbnbuwghunwywh = Jwpswywb pngt | $nlnwyhl pniot

= nwuwlwngiwl hnnwsttph  wowanuittpp =
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 3,059,133.2 2,898,383.2 160,750.0
2100(01|0 | O ouacuLNeN ALNE3BH <ULNU3hL 684,560.7 679,560.7 5,000.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 666,589.9 665,589.9 1,000.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wmunwphl hwpwpbpnupiniGG6n
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 666,589.9 665,589.9 1,000.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 666,589.9 665,589.9 1,000.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 446,251.0 446,251.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 143,143.6 143,143.6 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 32,548.0 32,548.0 -
- Undntbwy SwewjnipnLbltn 4213 810.0 810.0 -
- Ywuwh dwrwjnipntbobn 4214 10,371.0 10,371.0 -
- Uwywhnjwagpwywb dwluubp 4215 200.0 200.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 1,000.0 1,000.0 -
- Jwpswywb swewynipntGbbn 4231 280.0 280.0 -
- Lwiwlwpgswihb swrewjnipntGGbn 4232 180.0 180.0 -
- SbnGYwunywywb swewjnipntbltn 4234 297.0 297.0 -
- LbpYwywgnigswywb dwfuubp 4237 1,000.0 1,000.0 -
- Uwulwghunwywb swrewjnipntbGbtn 4241 1,978.7 1,978.7 -
- UbptOwlbnh L uwppwdnpnuilbbph pbpwghy 4252 7,100.0 7,100.0 -
Gnpngnid L wwhwwbned
- Qpwubywyuwihb Gnukp L hwgniuwn 4261 2,745.4 2,7454 -
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,:,'.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8

- Spwluwynpuwiha Gnipbn 4264 12,471.9 12,471.9 -
- UGOgwnuwyhO L hwOpwyhG uGGnh Gnuebp 4267 1,073.3 1,073.3 -
- Mwpwwnhp y&wpabp 4823 140.0 140.0 -
- Uj| 6wfuubp 4861 4,000.0 4,000.0 -
- Ywnswywl uwnpwynpniibbp 5122 1,000.0 - 1,000.0

2130|01 | 3 | O | Lanhwlnp plnyph SwrwynipintGabn 11,170.8 11,170.8 -
nphg’

213101 | 3 | 1 |Uzluwwnwywqdh /Yunnptph/ gény pGnhwbnip plnyph 11,170.8 11,170.8 -
Swrw)nipnLblbn
wyn pynLd”
1. Pwnwpwohwlywl Guwagnipiwl wywnbnh 11,1770.8 11,170.8 -
qnuilquwl swpwinip/wl gnpdnLGbnipiuwl
Ywadwlybnwmd (wwunyhpwlydws
[wgnpnipintGG6n)
- Upjuwuwnnnbbnh wluwunwywpdbn L 4111 10,252.4 10,252.4 -
hwybwJswnbtn
- EOBpgbwnhy Swrewynipyniblbn 4212 450.0 450.0 -
- UninLbwy SwewynipNLGlEn 4213 6.8 6.8 -
- Ywuwh dwrwjnipntbobn 4214 145.0 145.0 -
- Ubipthwabnh L uwppwynpnidlbph pbpwghy 4252 65.0 65.0 -
Gnpngnid b wwhwwOned
- QpuiubOywywhb Gynebn L hwagniun 4261 192.5 192.5 -
- Ukogwnuwyht L hwbpwyhG uGGnh Gnuebp 4267 50.0 50.0 -
- Mwpwwnhp y&wpatbp 4823 9.1 9.1 -

2150(01 | 5 | O | Lanhwanin plnyph hwapwihl 4,000.0 - 4,000.0
oswpuymp/ntabbnph qony hbunwqnunwlywl L
Owfuwqbuyhl wpfuwinwlplbn
nphg’

2151|101 | 5 | 1 |2GnhwGntp pGnyph hwOpwihb dwewjnipNLGGEph 4,000.0 - 4,000.0
gony htnmwgnunwywl L bwuwgdwjh
wfuwwnwbpltn
wjn pynLd’
1. bwfuwqduyhl wipfuwunwlplbn 4,000.0 - 4,000.0
- Lwfuwgéwhbunwgnunwwb dwfuubn 5134 4,000.0 - 4,000.0

2160|01 | 6 | O | Lanhwhnin plnyph hwapwyhl 2,800.0 2,800.0 -
dwpuyntpintGo6n (wy nwubphl swuwanlywlng)
nnphg’

2161|101 | 6 | 1 |[CUnhwGnip pGnyph hwOpwih( swewynipINLGGEN (wy| 2,800.0 2,800.0 -
nwubphb swywwnlwbnn)
wjn pynLd’
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’

= = % o e pwdhbbnh, fudptph L nwutph, hoswbu Gwb 3 = o

E= = 3 = nwakap

w= 3| 52 pintobiinwhb swiuubph nbwnbuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot

a| & nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Fhdnidabp, hwjgwnhdnidabn, nuwunwnpwih 2,000.0 2,000.0 -
npnpmdGbnph L Yahrabnh nbd Ybnwplahs b
Yarwpbl pnnnpGbn GEpluywalbihu
uwhiwaywd Yswnntdobn
- Mwpuwnhp y&wpbkn 4823 2,000.0 2,000.0 -
2. Qnyph Ghunndwdp ppwdniGplbph 800.0 800.0 -
qnuwilguwl, guwhwundwla L
wnbnbGywwnynipiuwl tnpwdwnpdwl hu
Ywwdwd Jawnnidbbn
- Mwpwwnhp y&wpatbp 4823 800.0 800.0 -

2200|020 | O nUCSMULNHB3NEL 2,000.0 2,000.0 -
wjn pynLd’

2250(02 | 5 | O | Dupunwuwliniin b (wyy nwubnhl swwanlywbnn) 2,000.0 2,000.0 -
nphg’

2251102 | 5 | 1 |Mwpunwwbnipntb (w), nwubphb swywwnywbnn) 2,000.0 2,000.0 -
wjn pynLd’
1. 2hGuwnunlbnh hupdwedwl, gnpuwlnsh, 2,000.0 2,000.0 -
anpwhwywph b Jupdwlwl hwdwplbnh
Ywquwlbnuwdwll wowlgnigint
- Qnyph L uwppwynpnibeph Jupédwwintpinta 4216 2,000.0 2,000.0 -

2400|040 | O SuStGUUYUL <UnurtMNtHE@3NFLLEN 84,219.0 80,469.0 3,750.0
wjn pynLd’

2450|104 | 5 | 0 | Spwhuwnpun 67,250.0 63,500.0 3,750.0
nnphg’

2451|104 | 5 | 1 |Awlwwwphwihb tnpwbuwnpun 63,500.0 63,500.0 -
wjn pynLd’
1. UWupuywin-pbuinnliu  swdlh JbEpwlnpngnid 57,500.0 57,500.0 -
L wwhwwGnd
- GOptbnh L Ywrnygbbph popwghy Gnpngnid L 4251 57,500.0 57,500.0 -
wwhwwntd
3. Gapuwipwpbph Jbpwlnpngnid 4,000.0 4,000.0 -
- GOptbnh L Ywrnygbbph pbpwghy Gnpngnid L 4251 4,000.0 4,000.0 -
wwhwwnLd
7. <pwqnuwil Yhnah pwnpblywpgnid 2,000.0 2,000.0 -
- UndnLbwy SwrwynipNLGlEn 4213 2,000.0 2,000.0 -

2455|104 | 5 | 5 |lunnndwywwpwihO b wy, tnpwluwynpun 3,750.0 - 3,750.0
wjn pynLd’
1. dbpbywlGbph hhdbwlnpngnid 3,750.0 - 3,750.0
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
D'.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

- Uj) dbpbOwbp L uwppwynpnidbn 5129 3,750.0 - 3,750.0

2490|104 | 9 | 0 | SGunbuwlwl hwpwpbpnyem GGER (wy 16,969.0 16,969.0 -
nwubpht swunnywann)
nnphg’

249104 | 9 | 1 |SOnGuwywb hwpwptpnipnLGOtn (wy nwutphb 16,969.0 16,969.0 -
swwuinywbnn)
wyn pynd”
7. Snqwywiwrlbph ywedwlybnuwnd 85.0 85.0 -
- U)| Swifuubp 4861 85.0 85.0 -
9. Nwpunwnhn Yswnpbbnh quaddwa 16,884.0 16,884.0 -
SwpwynipintGabn
- WluwwnnnGbph wifuwwnwywndbn b 4111 9,648.0 9,648.0 -
hwybwJswnpbbn
- COnhwOnep pOnyph wyp SwewynipntGbtn 4239 7,236.0 7,236.0 -

2500(05|0 | O cNUYU Uuhaudusrh mucsmuunkHs3Ntu 832,660.9 832,660.9 -
wyn pynd”

2510|105 | 1 | O | Unpwhwlnd 700,240.9 700,240.9 -
nnphg’

2511|05| 1 | 1 |UnpwhwOnd 700,240.9 700,240.9 -
wyn pynd”
1. whwiGnugni g L uwihunwpuwlwi 700,240.9 700,240.9 -
dwpnmd
- UndinLbwy SwewynipNLGlEn 4213 700,240.9 700,240.9 -

2560(05 | 6 | O | Spowlyw dhowyuynh wuwpunwwlnigimnl (wyy 132,420.0 132,420.0 -
nwubpht swunnywann)
nnphg’

2561|05| 6 | 1 |Cpowlyw dhowdwinph wywwnwwlnignid (wyp nwubphl 132,420.0 132,420.0 -
swwuinywbnn)
wyn pyned”
1. Ywlwys wnwnwdplbnh hhoGnid L 127,600.0 127,500.0 -
wwhwwlmd
- UndinLOwy SwewynipNLGlbn 4213 127,500.0 127,500.0 -
2. Ulurnwhwldw( b dhounnwqbnddwl 4,920.0 4,920.0 -
SwpwynipinGa6n /nbpuinhquighw
- UndnLbwy SwewynipNLGlbn 4213 4,920.0 4,920.0 -

2600(06 |0 | O pALUYUNULUSHL Chuururnte@3Nku Gy 282,000.0 130,000.0 152,000.0

LUNUNFLUL dunu3nk@3NtuutN

wjn pynLd’
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,::.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

2660 |06 0 | Phwlwpwlughl phGwpwpnigyw L ndneGwy 282,000.0 130,000.0 152,000.0
dwrwynigimGabn (wy nwubphl swwinlwanng)
nnphg’

2661|06 | 6 | 1 |POwywpwlwihl 2h0wpwpnipjwb L Yyndntbuwy 282,000.0 130,000.0 152,000.0
Swrwynipyntbbbn (wy| nwubphl swywwnywbnn)
wyn pyntd”
1. Pwquwplwlwnw )66pbph hwpp 30,000.0 30,000.0 -
wnwahplbbinh Ybnwlnpngntd
- CkOpbnh L Ywenyglbph pGpwghy Gnpngnid L 4251 30,000.0 30,000.0 -
wwhwwbnd
2. Pwquwplwluunwl 2EGplnh pbp 38,000.0 - 38,000.0
wnwbhplbtinh JGpwlnpngnid
- GOptnh L 2hGnipyntGbEph Yuwwhuwwy yepwbnpngnud {5113 38,000.0 - 38,000.0
3. Pwluyhl unwnwdplbph L 129,000.0 15,000.0 114,000.0
Juwnwhpnwwwnwlylbbinh hhdGwanpngnid nt
wwhwwlmd
- UntpuhnhwObp ng wGunwywl (ng hwdw)bpwihb) ng 4521 15,000.0 15,000.0 -
$hlwluwywl YuwglwybpwnipntGbenpha
- CkGpbnh L 2hGnipynibbbph Yuwwhuwwy yepwbnpngnd (5113 110,000.0 - 110,000.0
- Wy dbpGOwlbn L uwppwynpnidbtn 5129 4,000.0 - 4,000.0
4. Pwquwplwlpunwl p6Gpbph pwpblywnpqdwl 85,000.0 85,000.0 -
wy wpfuwunwlplbin
- CkOpbnh L Ywenyglbph plpwghy Gnpngnid L 4251 85,000.0 85,000.0 -
wwhwwbnd

2800(08| 0 | O <UuahuUs, Utuunt3ie 64 urnu 45,199.4 45,199.4 -
wyn pyntd’

2810(08 | 1 | O | <wlquinh L uwynmnh dwewynip/niGGEn 9,858.6 9,858.6 -
nphg’

2811|108 | 1 | 1 |<wlOguunh L uwynpuinh dwrwjnipyntbbbp 9,858.6 9,858.6 -
wjn pynLd’
1. Uwnpunuwyhl dhonguwen dGGnh 9,858.6 9,858.6 -
Yuqdwlbnwnid
- COnhwOnip pOnyph wyp SwewynipNLGbEn 4239 9,858.6 9,858.6 -

2820(08 | 2 | O | Upwlripuyhl SwewyniginGaGn 35,340.8 35,340.8 -
nphg’

2821(08 | 2 | 1 |Qpwnwpwalbp 15,340.8 15,340.8 -
wjn pynLd’
1. Qpuinwpwluyhl SwewinipintGGGn 15,340.8 15,340.8 -
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
D'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 12 |3 |4 5 6 7 8 9

- UntpuhnhwGbn ng $hwbuwywb yeunwywh 4511 15,340.8 15,340.8
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

2824|108 | 2 | 4 |W Gawynipwihl Yuwgdwytnwnipntbbbp 20,000.0 20,000.0
wyn pyned”
1. Vpwlnipuyht dhonguwent dabnh 20,000.0 20,000.0
hnwlwlwgntd
- Qnyph L uwppwynpnuibbph Jupédwwinipynita 4216 2,000.0 2,000.0
- COnhwOnep pOnyph wy| SwewynipntGbtn 4239 18,000.0 18,000.0

2900(09|0 | O urENHa3NtL 1,024,247.0 1,024,247.0
wyn pynd”

2910(09 | 1 | O | bwfuwnwpngwlywl L wnwppwlwl panhwlmn 686,490.0 686,490.0
Uppnupini
nnhg’

2911(09| 1 | 1 |Lwuwnwpngwywb Yppnipntl 686,490.0 686,490.0
wyn pyned”
1. bwfuwnupngulywa munignid 686,490.0 686,490.0
- Untpuhnhwtp ng $hbwbuwywb wybEnwywb 4511 686,490.0 686,490.0
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

2950(09 | 5 | O | Luwn dwlwpnwlybbnh snwuwlwngynn 337,757.0 337,757.0
UpprupinG
nnphg’

2951109 | 5 | 1 |Upunwnwnngwwl nwunhwpwynepjntl 337,757.0 337,757.0
wyn pyntd”
1. Unuinwnuwpngwlwl nwunhwnpuwlnieini g 337,7567.0 337,757.0
- Untpuhnhwtp ng $hbwbuwywl wybEnwywb 4511 337,757.0 337,757.0
(hwdwyopwihb) Yugqdwytnpwnipntbbbph

3000100 | O unshuLuuuu MucsMuULNE@3NEL 104,246.2 104,246.2
wyn pynd”

3070|10 | 7 | O | Unghuwywlwl hwennely wpannbnuyginiGaGn (wy 24,872.0 24,872.0
nwubpht swunnwann)
nnphg’

307110 | 7 | 1 |Unghwjwywl hwwnnty wpunnbnegintGben (wyy 24,872.0 24,872.0
nwubnhb swywwnywbnn)
wyn pyntd”
1. Unghwywuwbu wawwwhny plunwlbhplbnh 1,627.0 1,627.0
bGpbfuwlbnh hwiguinh Yuwqdwlbnwnd
- Qnyph L uwppwynpnidbeph Jupédwywintpyntl 4216 777.0 777.0
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’

Sz =23 2 pwdhbGbph, fudptph L nwubph, hoswtu Gwl —_|3‘ = DOnwikap

w £ 3| E|E pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot

a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 12 |3 |4 5 6 7 8 9

- COnhwOnep pOnyph wyp SwewynipyntGbtn 4239 850.0 850.0
2. <wpwquin smGbgnn wadwbg b 1,678.0 1,5678.0
unghuywwbu wiwwwhny pGuwbhplbnh
hwdwn hnunwiplpwynpnprwa yuwqowlbnun g
- DOnhwOnip panyph wyp SwrwjnipnLbOtp 4239 1,578.0 1,578.0
3. Unghuywwby wiwwwhny pnGunwbhplbnha 14,967.0 14,967.0
uinbwlyw b hhpunnwlyh opbphG wowlgnipint o
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 5,557.0 5,5657.0
- UGOogwnuwyhO L hwbpwyhG uGGnh Gnuebp 4267 9,410.0 9,410.0
4. Unghuwywwbu wiwwwhny wadwiag 6,400.0 6,400.0
wowlgntgint
- W bwwuwnltn pjnigtihg 4729 4,000.0 4,000.0
- Lyhpwwnynipyntbbtn wy) 2whniyp shGunwwlnnn 4819 2,400.0 2,400.0
Ywqiwytnwnipynttbphb
5. Qwuwpwlwlwl wqdwlbnwnipint GaGpHG 300.0 300.0
wowlgnipini
- Lyhpwwnynipintbbep wy) zwhnyp sheunwwltnnn 4819 300.0 300.0
JuqguiwybpwnipntbGbtpht

3090(10 | 9 | O | Unghwywlwl wwpuwnwwlnigint b (wyy 79,374.2 79,374.2
nwubnphl swuwnlywing)
nnphg’

309110 | 9 | 1 |Unghwjwwl wwunwwbnipyntb (wy nwukphb 45,915.2 45,915.2
swwinyubnn)
wjn pynLd’
1. Unghwywlwl oglnipgiwl swewynigintGatinh 45,915.2 45,915.2
qnpénGbinuypwl Qwqlwlbnwmd
(Wuwwnyhpwldwd (hwqnpnipin GG6n)
- Upjuwunnnbbnh wluwunwywpdbn L 4111 44,120.7 44,120.7
hwybwJdwnpbtn
- EGGpgbwnhy dwrwynipnLbbbn 4212 722.0 722.0
- Undntbwy SwewjnipnLbltn 4213 28.0 28.0
- bYwwh SwrewjnipyntGbbn 4214 240.5 240.5
- UbpbOwbGph L uwppwynpnidbbph pbpwghy 4252 338.5 338.5
Onpngnid L wwhwwOned
- QpuiubOywywhb Gjnebin L hwagniun 4261 415.0 415.0
- UGOogwnuwyhO L hwOpwyhG uGGnh Gnuebp 4267 50.5 50.5

3092(10| 9 | 2 |Unghwjwlwl wwpwnwwbnigjwbp nnpwdwnpynn 33,459.0 33,459.0
odwlnwy dwrwjnipntbbtn (wy nwubphG
swwuinywbnn)
wyn pynLd”
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
Sz =23 2 pwdhbGbph, fudptph L nwubph, hoswtu Gwl —_|3‘ = DOnwikap
o = EBL E ,:? pntgbiinwyhb dwfuubph tnbnbuwghunwywb g = Jupswywb pniot | pnlnwyjhb pniot
nwuwywngiwb hnnjwdébbph - wadwbniibbpp T
1 12 |3 |4 5 6 7 8 9
2. Upnnomipiwl wwwhnywannip/m 33,459.0 33,459.0
- Uwywhnjwagpwywb dwiuubp 4215 33,459.0 33,459.0
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Lwyblyws N 7
Gnlwl pwnwph wywgubnt
2018 pwlwbh nbyunbdptph 25- h
N 47-U npndw
Unyntuwy 5

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
AUYE[UCEL YuN2uyUL cNrRULh Uuuny

(hwquin npwdaénng)
i | Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®
= == |3 = pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap
D'.:J Z 2| g =2 pinobnwhl dwiuutinh tnbnbuwghunwywh = Jwpswywb pngt | $nlnwyhl pniot
a| 2" nwuwlwngiwl hnnwsttph  wowanuittpp =
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 1,301,664.6 1,233,624.6 68,040.0
2100(01|0 | O ouacuLNeN ALNE3BH <ULNU3hL 288,271.5 286,771.5 1,500.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 285,971.5 285,471.5 500.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wpunwphl hwpwpbnpnigindGGGn
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 285,971.5 285,471.5 500.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 285,971.5 285,471.5) 500.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 193,145.0 193,145.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 61,945.2 61,945.2 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 8,385.9 8,385.9 -
- Undntbwy SwewjnipnLbltn 4213 700.1 700.1 -
- Ywuwh dwrwjnipntbobn 4214 7,888.1 7,888.1 -
- Uwywhnjwagpwywb dwluubp 4215 81.0 81.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 1,000.0 1,000.0 -
- <wiwywngswihb swrewjnipntbOtn 4232 123.0 123.0 -
- StntYwwnywywb swewynipntGbtn 4234 75.0 75.0 -
- Ubpyuwjwgnigswlwb dwfuubn 4237 1,000.0 1,000.0 -
- Uwulwghunwywb swrewjnipntbGbtn 4241 78.2 78.2 -
- UbptOwlGnh L uwppwdnpnuibbph pbpwghy 4252 2,997.0 2,997.0 -
Gnpngnid L wwhwwbned
- Qpuiubywywhb Gynebin L hwagniun 4261 803.0 803.0 -
- Spwluwnpuwyhb OjnLpbp 4264 4,501.9 4,501.9 -

7



AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot

a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

- UGOagwnuwyhO L hwbpwyhG uGGnh Gnuebp 4267 668.1 668.1 -
- Mwpwwnhp y&wpatbp 4823 80.0 80.0 -
- Uy 6wfuubp 4861 2,000.0 2,000.0 -
- Ywnswywb uwnppwynpniibbp 5122 500.0 - 500.0

2150(01 | 5 | O | Lanhwanin plnyph hwapwiha 1,000.0 - 1,000.0
dwpuympintGG6ph gény hunwgnunwlywl b
Owfuwqduyht wpfuwunwbplbn
nnhg’

215101 | 5 | 1 |2UnhwGntp pOnyph hwbpwihb SwewjnipntGutnh 1,000.0 - 1,000.0
gény htlnwgnunwywb L bwuwgdwih
wfuwnwbpltn
wjn pynLd’
1. bwfuwqdbunht wipfuwnwlplbn 1,000.0 - 1,000.0
- Lwhuwgdwhbunwgnunwywb dwjuutkn 5134 1,000.0 - 1,000.0

2160(01 | 6 | O | Lanhwanin plnyph hwanpwiha 1,300.0 1,300.0 -
dwrwynipin GGG (wyy nwubpha swuwinwang)
nnphg’

2161|01| 6 | 1 |CGnhwGnip pGnyph hwOpwih( SwewynipNLGGEN (wy| 1,300.0 1,300.0 -
nwubnht swywwnywbnn)
wjn pynLd’
1. Fhdnidlbp, hwygwnhdnidllnp, nuwnwpuwl, 1,000.0 1,000.0 -
npnpmdlbnh L Yahrabnph nbd Ybpwplhs b
YArwpbl pnnnplbn Gepluywaglbhu
uwhiwldwd swnpnidabn
- Mwpuwnhp y&wpbkn 4823 1,000.0 1,000.0 -
2. Qnuph Ghyunndwdp hpwdnilpltnh 300.0 300.0 -
qnuilquwl, Qawhwwndwl b
wbinGywwndnipiwl inpwdwnndwl hbuwn
Yuwdwd YAwpmdobn
- Mwpwwnhp y&wpatbp 4823 300.0 300.0 -

2200(02|0 | 0 nucsSMULNHBE3NEL 500.0 500.0 -
wyn pyntd’

2250(02 | 5 | O | Dupwnwywilbnpim b (wy nwubnhl swwuwnlywinm) 500.0 500.0 -
nnphg’

2251102 | 5 | 1 |Mwunwwbnipntb (wy nwubphb suywwnyuwbnn) 500.0 500.0 -
wyn pynd”
1. 2hGwwwmnlbph hwpdwedwd, gnpwlnsh, 500.0 500.0 -

gnpwhwywph b Juwnpdwlwl hwdwplbnh
Yququwlbpnuwdwal wowlgnipin G
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,::.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 12 |3 |4 5 6 7 8

- Qnyph L uwppwynpnidbbph Jupédwywintpyntl 4216 500.0 500.0 -

2400(04|0 | O SULSGUUUUUL <UnurtMnNtE3NFuLLEN 20,425.5 17,925.5 2,500.0
wyn pynLd”

2450|104 | 5 | 0 | Spwauwnnun 15,500.0 13,000.0 2,500.0
nnphg’

2451|104 | 5 | 1 |Awlwwwphwihb tnpwbuwnpun 13,000.0 13,000.0 -
wjn pynLd’
1. Uupuywn-pbuinnliu swdlh JEpwlbnpngnid 70,000.0 10,000.0 -
L wwhwwand
- Ghlptnh L Ywenygltph pGpwghy Gnpngned L 4251 10,000.0 10,000.0 -
wwhwwbnd
3. Ggnwpwnbnh Yepwonpngnd 3,000.0 3,000.0 -
- COptiph L Ywrenygbbph popwghy Gnpngnid L 4251 3,000.0 3,000.0 -
wwhwwbnd

245504 | 5 | 5 |lunnndwywwnpwihb L wy; tnpwluwnpun 2,500.0 - 2,500.0
wyn pynd”
1. Ybpbjwlabnh hhdGwlnpnqnid 2,600.0 - 2,500.0
- Uy ubptOwlbn L uwppwynpnidtbn 5129 2,500.0 - 2,500.0

2490|104 | 9 | O | Swnbuwlwl hwpwpbpnuginiGaGn (wy 4,925.5 4,925.5 -
nuwubnphl swuwnlwlnn)
nnhg’

249104 | 9 | 1 |SOnGuwywb hwpwpbpnipynLbOtn (wy nwutphb 4,925.5 4,925.5 -
swwuinywbnn)
wyn pyntd”
7. Snqwywiwrtbph ywedwlybnwnd 85.0 85.0 -
- Uy 6wfuubp 4861 85.0 85.0 -
9. Nwpunwnhn Yswnpbbnh quaddwa 4,840.5 4,840.5 -
SwpwynipintGabn
- Upjuwuwinnnbbph wluwnwywpdbn L 4111 2,766.0 2,766.0 -
hwybwdswnpbbn
- COnhwOnep pOnyph wyp SwewynipntGbtn 4239 2,074.5 2,074.5 -

2500(05|0 | O cNRUYU UuhudusNrh mucsMULNH33NFL 208,396.4 208,396.4 -
wyn pynd”

2510(05 | 1 | O | Unpwhwlmd 163,271.4 163,271.4 -
nnhg’

2511(05| 1 | 1 |Unpwhw0ntd 153,271.4 153,271.4 -
wjn pynLd’
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

7. whwiGnugini§ L uwahunwpwlywa 163,271.4 153,271.4 -
dwpnpmd
- UndnLbwy SwewynipNLGlbn 4213 153,271.4 153,271.4 -

2560(05 | 6 | O | Snowlyw dhowduynh wwpunwwlnigim b (wyy 55,125.0 55,125.0 -
nwubpht swunywann)
nnphg’

2561|05| 6 | 1 |[Cpowyw dhowdwph wywpwnwwlnignid (wyp nwubphl 55,125.0 55,125.0 -
swwuinywbnn)
wyn pynLd”
1. Ywlws tnwnwdplbnh hhoGnid L 55,125.0 55,125.0 -
wwhwwamd
- UndnLbwy SwrwynipNLGlEn 4213 55,125.0 55,125.0 -

2600(06 | 0 | O pLUYUNULUSHL ChuuPuMNHB3NFL B4 164,344.6 100,304.6 64,040.0

LUNUNFLUL dunu3nk@3NtuueN

wjn pynLd’

2660|06 | 6 | O | Phwlwpwluyhl shGwpwpniguwl b YndnGuy 164,344.6 100,304.6 64,040.0
SwruympntGa6n (wy nwubphl swuwanlywlng)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihG 2hGwpwpnipjwb L Yyndintbwy 164,344.6 100,304.6 64,040.0
Swrwjnipntbbtn (w) nwubphb swywwnywbnn)
wjn pynLd’
1. Pwquiwplbwlwnwl pG0ptnph hwppe 30,000.0 30,000.0 -
wnwahplbnh Ybpwlbnpngnid
- GOptnh L Ywrnygbbph pbpwghy Gnpngnid L 4251 30,000.0 30,000.0 -
wwhwwntd
3. Pwluyhl unwnwdplbph L 74,344.6 10,304.6 64,040.0
Juwnwhpwwwpwlylbbinh hhdGwlnpngnid nt
wwhwwlnd
- UntpuhnhwObn ny wbnwywb (ng hwidw)bpwyhb) ng 4521 10,304.6 10,304.6 -
Shlwluwywb Yuwgiwytpwnipntbtpha
- CkGpbnh L 2hGnipynibbbph Yuwwhuwwy yepwbnpngnd (5113 60,000.0 - 60,000.0
- Uj) dbpbOwabn L uwppwynpnidbn 5129 4,040.0 - 4,040.0
4. Pwquwplwlhwnwl »66pbph puwnpbiywngdwa 60,000.0 60,000.0 -
wy wyluwnwbplbn
- CkOpbnh L Ywenyglbph ppwghy Gnpngnid L 4251 60,000.0 60,000.0 -
wwhwwbny

2800|080 | O <Uuahus, Uguunt3fe 54 urnu 21,456.3 21,456.3 -
wyn pynd”

2810(08 | 1 | O | <wlquinh L uwynunh dwewynipniGGEn 3,000.0 3,000.0 -
nnhg’
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,::.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 12 |3 |4 5 6 7 8 9

2811(08 | 1 | 1 |<wlguunh L uwynpuinh Swrewnipyntbbbp 3,000.0 3,000.0
wyn pyntd”
1. Uwnpunuih dhgngwpnidabnh 3,000.0 3,000.0
Ywaqdwlybpnuind
- DOnhwOnip panyph wy) SwrwjnipntbGtp 4239 3,000.0 3,000.0

2820(08 | 2 | O | Upwlnipuyhl SwrewsniygniGabn 18,456.3 18,456.3
nnphg’

2821(08| 2 | 1 |Qpwnwpwbbbn 11,106.3 11,106.3
wyn pynd”
1. Qpuinwnwauihl dwewinipintGabn 11,106.3 11,106.3
- Untpuhnhwtn ng $howluwywb wybEinwywb 4511 11,106.3 11,106.3
(hwiw)bpwihb) YuglwytpwnipntGbenphG

2824108 | 2 | 4 |UWy dawynipwihb Yugdwytnwnipntbbbp 7,350.0 7,350.0
wyn pynLd”
1. Vpwihynipuyhl dhongqurnidabnh 7,350.0 7,350.0
hnwlwlwgnid
- DOnhwOnip panyph wy) SwrwjnipnLbGtp 4239 5,700.0 5,700.0
- UGOagwnuwyhO L hwOpwyhG uGGnh Gnuebp 4267 1,650.0 1,650.0

2900(09|0 | O uPeNHa3NtL 548,193.4 548,193.4
wjn pynLd’

2910(09 | 1 | O | bwfuwnypngwlywl b wnwppuwlwl plnhwlnn 404,850.0 404,850.0
Ynpniginm
nnphg’

2911109 | 1 | 1 |Lwjuwnwpngwywb Yppnipnta 404,850.0 404,850.0
wjn pynLd’
1. bwfuwnuwpngwlywl niunignid 404,850.0 404,850.0
- Untpuhnhwtp ng $howluwywl wybEinwywb 4511 404,850.0 404,850.0
(hwiw)bpwihb) YuglwytpwnipntGbephG

2950|109 | 5 | O | Luwn dwlwpnwlGbph snwuwlpuwngdynn 143,343.4 143,343.4
Yppriginia
nnphg’

295109 | 5 | 1 |Upnnwnwpngwlwl nwunhwnpwynteintl 143,343.4 143,343.4
wjn pynLd’
1. Ununnwinupnowlywl nuwunhwpwlynigine G 743,343.4 143,343.4
- Untpuhnhwtn ng $howluwywl wybEinwywb 4511 143,343.4 143,343.4

(hwiw)bpwjhb) YuglwytpwnipntGbenpha
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

,:,'.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot

a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

3000(10 0 unshuLuuuu MucsMULNHEB3NEL 50,076.9 50,076.9 -
wyn pyntd”

3070|10 | 7 | O | Unghwywlwl hwennely wpuinnbnuyginiGaGn (wy 14,680.0 14,680.0 -
nwubpht swunnywann)
nnphg’

307110 | 7 | 1 |Unghwjwywl hwwunnty wpunnbnegintGben (wyy 14,680.0 14,680.0 -
nwubnhb swywwnywbnn)
wyn pynd”
1. Unghwywuwbu wawwwhny plunwbhplbnh 500.0 500.0 -
Gnbluwbnh hwaqunh Yuwqowlbnwmd
- Qnyph L uwppwynpnidbbph Jupédwywintpyntl 4216 500.0 500.0 -
2. <wpwquin sniGbgnn wadwag b 2,000.0 2,000.0 -
unghuywwbu wiwwwhny pGunwahplbnh
hwdwn hupwiplpwynpnprwa yuwqdwlbpunid
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 2,000.0 2,000.0 -
3. Unghuwywwbu wiwwwhny plunwulGhplbnhl 9,180.0 9,180.0 -
winGulywl L hfpuwnwlh opbphl wowlgnipint b
- COnhwOnp pOnyph wyp SwewynipNLGbEn 4239 2,210.0 2,210.0 -
- UhgwnuwyhO L hwbpuwihG uGGnh GNP 4267 6,970.0 6,970.0 -
4. Unghuwywuwbu wiwwwhny widwlg 3,000.0 3,000.0 -
wowlgnipini
- W bwywuwnltn pjnietihg 4729 3,000.0 3,000.0 -

3090(10 | 9 | O | Unghwywlwl wwpuwnwwlnipint b (wyy 35,396.9 35,396.9 -
nwubnphl swuwnlywinn)
nnphg’

309110 | 9 | 1 |Unghwjwywl wwunwwbnipynth (wy nwukphb 18,410.9 18,410.9 -
swwinyubnn)
wjn pynLd’
1. Unghuwywlywl oglnipgiwl swewynigintGatpnh 18,410.9 18,410.9 -
qnpénLbbinuypwl Ywqlwlbnwmdo
(Wuwwnyhpwldwd (hwqnpnipin GG6n)
- Upjuwunnnbbph wluwunwywpdbn L 4111 17,992.7 17,992.7 -
hwybwdswnbtn
- Ywuwh dwrewjnintbobn 4214 90.0 90.0 -
- Qpuiubjwywhb Gynebin L hwagniun 4261 78.2 78.2 -
- Spwluwnpuwyhb Gneptin 4264 250.0 250.0 -

309210 | 9 | 2 |Unghwjwywl wwunwwbnipjwbp tnpwdwnpynn, 16,986.0 16,986.0 -

odwlnwy Swrwjntpntbl6n (w) nwutphG
swwiinywbnn)

wyn pynLd”
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
Sz =23 2 pwdhbGbph, fudptph L nwubph, hoswtu Gwl —_|3‘ = DOnwikap
o = EBL E ,:? pntgbiinwyhb dwfuubph tnbnbuwghunwywb g = Jupswywb pniot | pnlnwyjhb pniot
nwuwywngiwb hnnjwdébbph - wadwbniibbpp T
1 12 |3 |4 5 6 7 8 9
2. Upnnomipiwl wwwhnywannip/m 16,986.0 16,986.0
- Uwywhnjwagpwywb dwiuubp 4215 16,986.0 16,986.0
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Lwyblyws N 7
Gnlwl pwnwph wywgubnt
2018 pwlwbh nbyunbdptph 25- h
N 47-U npndw
Unyntuwy 6

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
tPrGRAFLL YUN2UYUL CrRULh vuundy

(hwquin npwdaénng)
i | Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®
= == |3 = pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap
D'.:J Z 2| g =2 pinobnwhl dwiuutinh tnbnbuwghunwywh = Jwpswywb pngt | $nlnwyhl pniot
a| 2" nwuwlwngiwl hnnwsttph  wowanuittpp =
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 2,414,177.6 2,334,099.1 80,078.5
2100(01|0 | O ouacuLNeN ALNE3BH <ULNU3hL 479,534.9 474,534.9 5,000.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 463,356.6 461,356.6 2,000.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wpunwphl hwpwpbnpnigindGGGn
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 463,356.6 461,356.6 2,000.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 463,356.6 461,356.6 2,000.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 308,283.0 308,283.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 98,874.7 98,874.7 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 18,262.6 18,262.6 -
- Undntbwy SwewjnipnLbltn 4213 2,467.0 2,467.0 -
- Ywuwh dwrwjnipntbobn 4214 9,877.0 9,877.0 -
- Uwywhnjwagpwywb dwluubp 4215 220.0 220.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 1,000.0 1,000.0 -
- <wiwywngswihb swrewjnipntbOtn 4232 123.0 123.0 -
- StntYwwnywywb swewynipntGbtn 4234 200.0 200.0 -
- Ubpyuwjwgnigswlwb dwfuubn 4237 1,000.0 1,000.0 -
- Uwulwghunwywb swrewjnipntbGbtn 4241 1,980.0 1,980.0 -
- UbptOwlGnh L uwppwdnpnuibbph pbpwghy 4252 2,900.0 2,900.0 -
Gnpngnid L wwhwwbned
- Qpuiubywywhb Gynebin L hwagniun 4261 2,717.0 2,717.0 -
- Spwluwnpuwyhb OjnLpbp 4264 9,360.0 9,360.0 -
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Pwdhi
haniip

annh
M

AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb
pwdhbbnh, fudptph L nwutph, hoswbu Gwb
pintoGinwhb swfuutph nbwnGuwghunwywb

nwuwywngiwb hnnjwdébbph - wadwbniibbpp

wjn pYntd”

QOnwdklp

Jwnswywl pjniob

Pnlnwyhb pynieb

=N

N
w

N

5

- UGOagwnuwyhO L hwbpwyhG uGGnh Gnuebp

2,000.3

2,000.3

- Mwpuwnhp y&wnbbnp

4823

92.0

92.0

- Wy Swfuubin

4861

2,000.0

2,000.0

- Ywnswywb uwnppwynpniibbp

5122

2,000.0

2,000.0

2130

013

Lanhwlrn panyph swewynipintGa6n

11,178.3

11,178.3

nphg’

2131

01|3

Uzfluwwnwywqih /Yunnptnh/ gény pGnhwbnip plnyph
Swrw)nipnLblbn

11,178.3

11,178.3

wyn pynd”

1. Pwnuwpwghwlywl ywgnpiuwl wlywnbnh

gpuwilguwl swewinipwl gnponibbnipiwl
wqdwlbnwmd (wuwwnyppwlyywo

(hwgnpnipintGabn)

11,178.3

11,178.3

- Upjuwuinnnbbnh wluwunwywpdbn L
hwybwdswnbtn

4111

9,445.2

9,445.2

- EbGpgGwnhy Swrwnipyntbbbn

4212

1,2231

1,223.1

- Ywuwh dwrewjnipntbobn

4214

317.3

317.3

- Qpuiubjwywhb Gynebin L hwgniun

4261

183.6

183.6

- Mwpuwnhp y&wnbtn

4823

9.1

9.1

2150

015

DLanhwlmn panyph hwapwha
owpuympintGG6ph gony hunwgnunwlywl b
Owfuwqduyhl wpfuwnwlplbn

3,000.0

3,000.0

nphg’

2151

01|5

COnhwOnip pOnyph hwlpwihb Swrwjnintbbtph
gony htnnwgnunwywl L bwuwgdwjh
wfuwwnwbpltn

3,000.0

3,000.0

wjn pynLd’

1. bwfuwqduyhl wpfuwnwlplbn

3,000.0

3,000.0

- Lwfuwgéwhbunwgnunwwb dwfuubn

5134

3,000.0

3,000.0

2160

016

Lanhwlrin plnyph hwipwhl
Swruynp/ntGa6n (wy nwubphl swuwanlywlng)

2,000.0

2,000.0

nphg’

2161

01|6

CanhwOnip pOnyph hwbpwihb Swewnintbbbp (wyg
nwubphb swywwnlwbnn)

2,000.0

2,000.0

wjn pynLd’

1. 3hdndabp, hwygwnhdnidlGbn, nuuwnwnwih
npnpnidGbnh b YahrGbnh nbo JEnwplahs b

YAnwpbly pnnnplbn G6phwiwglbihu
uwhdwldwd yYawnmobln

1,000.0

1,000.0
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
D'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8

- Mwpwwnhp y&wpatbp 4823 1,000.0 1,000.0 -
2. Qnuph Glunndwdp ppwyni Gplt, 1,000.0 1,000.0 -
qnwiquwl, quwhwundwl L
wnbnbywwnynipiwl wnpwdwnndwl hun
Yuwwywd Yaswnnidobn
- Mwpuwnhp y&wpbkn 4823 1,000.0 1,000.0 -

2200|020 | O nUcSMULNHB3NEL 1,000.0 1,000.0 -
wjn pynLd’

225002 | 5 | O | Nupwnwwilneini (wy nwubnhl swwuinlywinn) 1,000.0 1,000.0 -
nnhg’

2251102 | 5 | 1 |Mwunwwbnipntb (wy nwubphb suywwnyuwbnn) 1,000.0 1,000.0 -
wyn pynd”
1. 2pGwwwminbbnh hwpywedwa, gnpwinsh, 1,000.0 1,000.0 -
anpwhwywph b Jupdwlwl hwywplbnh
Yuwqiwlybnwiwal wowlgnpnt o
- COnhwOnep pOnyph wyp SwewnipNLGbEn 4239 1,000.0 1,000.0 -

2400|040 | O SuStUULUL <UrurtMNHB3NFLLEN 63,842.6 58,067.6 5,775.0
wyn pynd”

2450(04 | 5 | O | Spwauwnnun 51,775.0 46,000.0 5,775.0
nnhg’

245104 | 5 | 1 |BwlwwwnphwihG tnpwbuwnpun 46,000.0 46,000.0 -
wyn pynLd”
1. Uupuywn-pbinnbiw Swo Gpwonpngntd 46,000.0 46,000.0 -
L wwhwwGnid
- CkGpbnh L Ywenyglbph pGpwghy Gnpngnid L 4251 46,000.0 46,000.0 -
wwhwwbnty

245504 | 5 | 5 |lunnndwywwnwhb L wy; tnpwluwnpun 5,775.0 - 5,775.0
wyn pynLd”
1. Ybpbjwlabnh hhdGwlnpngnid 5775.0 - 5775.0
- Uj) dbpbOwabn b uwppwynpnidbn 5129 5,775.0 - 5,775.0

2490|104 | 9 | 0 | SGuinbuwlwl hwpwpbpnug/n GGER (wy 12,067.6 12,067.6 -
nwubpht swunnbwann)
nnhg’

249104 | 9 | 1 |SOnGuwywb hwpwptpnipynLbOtn (wy nwutphb 12,067.6 12,067.6 -
swwuinywbnn)
wyn pyntd”
7. Snluwwiwnrlbnh hwqdwlbpwnd 85.0 85.0 -
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8

- Uj| 6wfuubp 4861 85.0 85.0 -
9. Nwpunwnhn Yswnpbbnh quaddwa 71,982.6 11,982.6 -
Swpwynipin Gobn
- WluwwnnnGbph wifuwnwywndbn b 4111 6,847.2 6,847.2 -
hwybwddwnpbtn
- Lyhpwwnynipyntbbtn wy) 2whniyp shGunwwlnnn 4819 5,135.4 5,135.4 -
Ywqiwytnwnipynttbphb

2500|050 | O cNRULU Uhu4usrh mucsmuLNHa3NtL 639,753.7 639,753.7 -
wyn pynLd”

2510(05 | 1 | O | Unpwhwlmd 541,753.7 541,753.7 -
nnhg’

2511105 | 1 | 1 |UnpwhwOnd 541,753.7 541,753.7 -
wyn pynd”
1. whwiGnugnt§ L uwahunwpwlywa 541,753.7 541,763.7 -
dwpnmd
- UndinLbwy Swew)nipyNLGlEn 4213 541,753.7 541,753.7 -

2560(05 | 6 | O | Spowlyw dhowyuynh wuwpunwwlnigimb (wyy 98,000.0 98,000.0 -
nwubpht swunnywann)
nnphg’

2561|05| 6 | 1 |[Cpowyw dhowdwinph wywpwnwwlnignid (wyp nwubphl 98,000.0 98,000.0 -
swwuinywbnn)
wyn pyntd”
1. bwlws tnwnwdplbnh hhdanid L 90,000.0 90,000.0 -
wwhwwamd
- UndnLbwy SwrwynipNLGlEn 4213 90,000.0 90,000.0 -
2. Uunwhwldw( b dhounnwqbnddwl 5,500.0 5,500.0 -
Swewynipin Ga6n /nbpuwinhquighw
- UndnLbwy SwrwynipNLGlEn 4213 5,500.0 5,500.0 -
3. <wuwpnwlwlpwl gniquinwGabnh 2,600.0 2,500.0 -
wwhwwlmd b YGpwlnpngmid
- UndnLbwy SwrwynipNLGlEn 4213 2,500.0 2,500.0 -

2600(06 | 0 | O pLUYUNULUSNL ChuururntE@3Ntu Gy 200,332.1 131,028.6 69,303.5

ynUNFLUL dunu3nt@3NtuueN

wjn pynLd’

2660|06 | 6 | O | Phwlwpwluyhl shlGwpwpnigul b YndniGuy 200,332.1 131,028.6 69,303.5
dswpuynpntGo6n (wy nwubphl swuwanlywlng)
nphg’

2661(06 | 6 | 1 |ROwywpwlwihb 2hOwpwpnipjwb L Yndntbuy 200,332.1 131,028.6 69,303.5
Swrwjnipntbbtn (w) nwubphb swywwnywbnn)
wjn pynLd’
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,::.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Pwqlwpluwlwnwa p6Gpbnh hwnpe 30,000.0 30,000.0 -
wnwahplbinh Ypnwanpngnid
- SkOpbnh L Ywenyglbph ppwghy Gnpngnid L 4251 30,000.0 30,000.0 -
wwhwwbnd
2. Pwqdwpluwlwnwi p66pk; &, 17,000.0 - 17,000.0
wnwahplbbinh Ypnwianpngnid
- GOptnh L 2hGnipyntGbEph Yuwwhwwy yepwbnpngnud {5113 17,000.0 - 17,000.0
3. Pwluyhl unwnwdplbph b 63,332.1 11,028.6 52 303.5
Juwnwhpnwwwnwllbbinh hhdGwanpngnid nt
wwhwwlmd
- UntpuhnhwOtp ng wGunwywl (ng hwdw)bpwihb) ng 4521 11,028.6 11,028.6 -
$hlwlbuwywl YuglwybpwnipntGbepha
- GOpbnh L 2hGnipyntGbEph Yuwwhwwy yepwbnpngnud {5113 52,303.5 - 52,303.5
4. Pwquwplwlpunwl p6Gpbnph pwpblywnpqdwl 90,000.0 90,000.0 -
wyy wpfuwunwlplbin
- GOptbnh L Ywrnygbbph pbpwghy Gnpngnid L 4251 85,000.0 85,000.0 -
wwhwwntd
- Untpuhnhwobn ny wbunwywb (ng hwiw)bpwyhb) ng 4521 5,000.0 5,000.0 -
Shbwluwywb Yuwgiwytpwnipntbtnpha

2800(08| 0 | O <Uuanus, ucuunt3sm@ 4y urnu 111,825.5 111,825.5 -
wyn pyntd’

2810(08 | 1 | O | <wlquinh L uwynmnh dwewynipiniGOEN 4,500.7 4,500.7 -
nnhg’

2811|108 | 1 | 1 |<wlOguunh L uwynpuinh dwrwjnipyntbbbp 4,500.7 4,500.7 -
wjn pynLd’
1. Uwnpunuwyhl dhongwen dGGnh 4,500.7 4,500.7 -
Yuquwlbpnwnd
- COnhwbnip panyph wy) Swrwjnintbltn 4239 4,500.7 4,500.7 -

2820|08 | 2 | O | Vpwinipuyhl SwowynigniGlabn 107,324.8 107,324.8 -
nphg’

2821(08 | 2 | 1 |Qpwnwpwabbp 32,317.8 32,317.8 -
wjn pynLd’
1. Qpuinwpwluyhl SwewinipinGG6n 32,317.8 32317.8 -
- Untpuhnhwtn ng $howluwywl wybEinwywb 4511 32,317.8 32,317.8 -
(hwiw)bpwihb) YuglwytpwnipntGbenphG

2823|108 | 2 | 3 |Uwynyph wnlbkn, wynidpltp, YeGupnblep 45,007.0 45,007.0 -
wjn pynLd’
1. <wdwylpwihl dywlynyph b wquin dwdwlgh 45,007.0 45,007.0 -

Yququwlbpuwmd
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap

D'.::, = 3 E ,:? pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot

= nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

- UntpuhnhwGbn ng $hwbuwywb yeunwywh 4511 45,007.0 45,007.0
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

2824|108 | 2 | 4 |W Gawynipwihl Yuwgdwytnwnipntbbbp 27,000.0 27,000.0
wyn pyned”
1. Vpwlnipuyht dhonguwent dabnh 27,000.0 27,000.0
hnwlwlwgntd
- COnhwOnep pOnyph wy| SwewynipntGbtn 4239 27,000.0 27,000.0

2827|08 | 2 | 7 |<niawndw0bph L dwynipwiht wndbpbbnh 3,000.0 3,000.0
yGpwywbgbnid L wwhwwbnd
wyn pynLd”
1. <nipwipndwaaé, Gpwanpngnid L 3,000.0 3,000.0
wwhwwamd
- GGptiph L Ywrenygbbph popwghy Gnpngnid L 4251 3,000.0 3,000.0
wwhwwbny

2900|090 | O ureNHa3NtL 829,373.8 829,373.8
wjn pynLd’

2910(09 | 1 | O | bwfuwnwpngwlywl L wnwppwlwa ponhwlnn 616,860.0 616,860.0
Ynpnieginta
nphg’

291109 | 1 | 1 |Lwuwnwnpngwywb Yppnipntl 616,860.0 616,860.0
wjn pynLd’
1. bwfuwnupngulwa munignd 616,860.0 616,860.0
- Untpuhnhwttp ng $howluwywl wybnwywh 4511 616,860.0 616,860.0
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

2950|109 | 5 | O | Luwn dwlwpnwlGbph snwuwlpuwngdynn 212,513.8 212,513.8
bpprigmil
nnphg’

295109 | 5 | 1 |Uptnnwnwpngwlwl nwunhwnpwyntpintl 212,513.8 212,513.8
wjn pynLd’
1. Unuinwnuwpngwlwl nwunhwnpuwlynieing 212,613.8 212,613.8
- Unipuhnhwttp ng $howluwywl wybnwywh 4511 212,513.8 212,513.8
(hwdwjbpwihb) Yugqdwytnpwnipntbbtph

3000(10|0 | O unshuLuwuu nucsaULNH33NEL 88,515.0 88,515.0
wjn pynLd’

3070|10 | 7 | O | Unghuywlywl hwennely wpunnbnygim GGGn (wyy 25,245.0 25,245.0
nwubpht swunnwann)
nnphg’
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AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

,:,'.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot

a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

307110 | 7 | 1 |Unghwjwywl hwwnnty wpunnbnegintGben (wyy 25,245.0 25,245.0
nwubnht swywwnywbnn)
wyn pynd”
2. <wpwquitn snGbgnn wadwag b 3,000.0 3,000.0
unghuywwby wiwwwhny pGuwlhplbbnh
hwdwn hpwiplpwynpnprwa yuwqdwlbnund
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 3,000.0 3,000.0
3. Unghuwywuwbu wiwwwhny plunwulGhplbnhl 17,080.0 17,080.0
uinbulywlb b hppunwyh opbinhl wowlygnipini
- Qnyph L uwppwynpnibeph Jupédwwinipnta 4216 2,000.0 2,000.0
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 5,500.0 5,500.0
- UGhgwnuwyhO L hwbpuwihG uGGnh GNP 4267 9,580.0 9,580.0
4. Unghuwywwbu wiwwwhny wadwig 5,165.0 5,165.0
wowlgnigintl
- W bwwuwnltn pjnigtihg 4729 2,000.0 2,000.0
- Lyhpwwnynipintbbep wy) zwhnyp sheunwwltnnn 4819 3,165.0 3,165.0
JuqguiwybpwnipntbGbtpht

3090(10 | 9 | O | Unghwywlwl wwpuwnwwlnigintb (wyy 63,270.0 63,270.0
nwubnphl swuwnlywinn)
nnphg’

309110 | 9 | 1 |Unghwjwywl wwunwwbnipyntb (wy nwukphb 33,687.0 33,687.0
swwinyubnn)
wjn pynLd’
1. Unghwywlwl oqlnipiwl swewynipintGatinh 33,687.0 33,687.0
qnpénLbtinypwl Ywqlwlbnwmd
(Wuwnyhpwldwd (hwqnpniein GG6n)
- Upjuwunnnbbph wluwunwywpdbn L 4111 31,866.2 31,866.2
hwybwJdwnpbtn
- EOBpgbwnhy SwrewynipyniGlbn 4212 683.3 683.3
- Ywuwh dwrwjnintbobn 4214 159.4 159.4
- Qnyph L uwppwynpnidbeph updwywintpyntl 4216 900.0 900.0
- Qpuiubjwywhb Gynpbin L hwgniun 4261 58.9 58.9
- Mwpuwnhp y&wpokn 4823 19.2 19.2

309210 | 9 | 2 |Unghwjwywl wwunwwbnipjwbp tnnpwdwnpynn, 29,583.0 29,583.0
odwlnwy Swrwjntpntblbn (w) nwutphG
swwinyubnn)
wyn pynd”
2. Upnnonmipjwl wujwhnywannipinia 29,583.0 29,583.0
- Uywhnjwagpwywb dwluubp 4215 29,583.0 29,583.0
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Lwyblyws N 7
Gnlwl pwnwph wywgubnt
2018 pwlwbh nbyunbdptph 25- h
N 47-U npndw
Unyntuwy 7

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
yuGLSNPNL YuNr2UUUL cNrRULL UUUNY

(hwquin npwdaénng)

= =l a Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®

ez |3 g pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap

D'.:J = 3 E ,:4 pintobiinwhb dwfuubph nbnGuwghunwywl = = Jwpswywl pniob | pnlnwjhb pyniob

= nwuwywngiwb hnnwdébeph wodwbniibtpp e
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 3,839,088.5 3,704,088.5 135,000.0
2100(01|0 | O ouacuLNeN ALNE3BH <ULNU3hL 739,440.9 734,440.9 5,000.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 718,262.6 717,262.6 1,000.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wpunwphl hwpwpbnpnigindGGGn
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 718,262.6 717,262.6 1,000.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 718,262.6 717,262.6 1,000.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 486,226.0 486,226.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 155,966.3 155,966.3 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 23,125.0 23,125.0 -
- Undntbwy SwewjnipnLbltn 4213 1,655.1 1,655.1 -
- Ywuwh dwrwjnipntbobn 4214 11,623.8 11,623.8 -
- Uwywhnjwagpwywb dwluubp 4215 375.0 375.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 1,000.0 1,000.0 -
- Jwpswywb swewynipntGbbn 4231 500.0 500.0 -
- Lwiwlwpgswihb swrewjnipntGGbn 4232 300.0 300.0 -
- SbnGYwunywywb swewjnipntbltn 4234 390.0 390.0 -
- LbpYwywgnigswywb dwfuubp 4237 1,000.0 1,000.0 -
- Uwulwghunwywb swrewjnipntbGbtn 4241 461.9 461.9 -
- UbptOwlbnh L uwppwdnpnuilbbph pbpwghy 4252 6,570.0 6,570.0 -
Gnpngnid L wwhwwbned
- Qpwubywyuwihb Gnukp L hwgniuwn 4261 4,766.0 4,766.0 -
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,:,'.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

- Spwluwnpunwyhb Gneptin 4264 9,346.0 9,346.0 -
- UGOgwnuwyhO L hwOpwyhG uGGnh Gnuebp 4267 3,600.0 3,600.0 -
- Ujp Gwwuwinbbp pjnipbhg 4729 200.0 200.0 -
- Mwpwwnhp y&wpatbp 4823 157.5 157.5 -
- Uy 6wfuubp 4861 10,000.0 10,000.0 -
- Ywpswywb uwppwynpnidltn 5122 1,000.0 - 1,000.0

2130(01 | 3 | O | Lanhwlnin plnyph dweruwynipintGa6n 11,178.3 11,178.3 -
nnphg’

213101 | 3 | 1 |Uzluwwnwywqdh /Yunnpbnh/ gény pGnhwbnip plnyph 11,178.3 11,178.3 -
Swrw)ntpnLbbbn
wjn pynLd’
1. Pwnwpwaohwlywl Guwagnipiwl wywnbph 11,1778.3 11,178.3 -
qnwilquwl swepwinipwl gnpdnLGbntpiuwl
Ywadwlybpuwmd (wuwwnyhpwlydws
[pwgnpnipintGG6n)
- Upjuwuwinnnbbnh wluwunwywpdbn L 4111 10,317.0 10,317.0 -
hwybwdswnpbtn
- EOBpgbwnhy Swrewynipyniblbn 4212 645.0 645.0 -
- QpuiubOywyuwihb Gjnebin L hwagniun 4261 135.8 135.8 -
- UGOgwnuwyhO L hwOpwyhG uGGnh Gnuebp 4267 71.4 71.4 -
- Mwpwwnhp y&wpatbp 4823 9.1 9.1 -

2150(01 | 5 | O | Lanhwanin plnyph hwanpwihl 4,000.0 - 4,000.0
oswpuymp/ntaabnh qony hunwgnunwlywl b
Owfuwqbuyhl wpfuwwnwlplbn
nnphg’

2151(01| 5 | 1 |2UnhwGntp pOnyph hwbpwihb SwewjnintGutnh 4,000.0 - 4,000.0
gény htlnwgnunwywb L bwuwgdwih
wfuwnwbpltn
wjn pynLd’
1. bwfuwqduyhl wipfuwunwlplbn 4,000.0 - 4,000.0
- Lwuwgéwhbunwgnunwwb dwfuubn 5134 4,000.0 - 4,000.0

2160|01 | 6 | O | Lanhwhnin plnyph hwapwyhl 6,000.0 6,000.0 -
Swpwynipint GG (wy nuwubphl swwnlwing)
nphg’

2161|01| 6 | 1 |COnhwlntp pOnyph hwbapwihb SwewjnipnLGbtn (wy| 6,000.0 6,000.0 -
nwubphb swywwnlwbnn)
wjn pynLd’
1. Bhdnidlbn, hwigunhdnidGbn, nuunwpwih 4,000.0 4,000.0 -
nppnLdlbph L YAprabnh nbd Jbpwplhs b
YApwpbily pnnnplbn Gbnhuywalbihu
uwhiwldwd Jawnpnidobn
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
D'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

- Mwpwwnhp y&wpatbp 4823 4,000.0 4,000.0
2. Qnuph Glunndwdp ppwyni Gplt, 2,000.0 2,000.0
qnwiquwl, quwhwundwl L
wnbnbywwnynipiwl wnpwdwnndwl hun
Yuwwywd Yaswnnidobn
- Mwpuwnhp y&wpbkn 4823 2,000.0 2,000.0

2200|020 | O nUcSMULNHB3NEL 2,000.0 2,000.0
wjn pynLd’

225002 | 5 | O | Nupwnwwilneini (wy nwubnhl swwuinlywinn) 2,000.0 2,000.0
nnhg’

2251102 | 5 | 1 |Mwunwwbnipntb (wy nwubphb suywwnyuwbnn) 2,000.0 2,000.0
wyn pynd”
1. 2pGwwwminbbnh hwpywedwa, gnpwinsh, 2,000.0 2,000.0
anpwhwywph b Jupdwlwl hwywplbnh
Yuwqiwlybnwiwal wowlgnpnt o
- Qnyph L uwppwynpnibeph Jupédwwintpnta 4216 2,000.0 2,000.0

2400|040 | O SuStUULUL <UrurtMNHB3NFLLEN 136,739.0 136,739.0
wyn pynd”

2450(04 | 5 | O | Spwauwnnun 106,750.0 106,750.0
nnhg’

245104 | 5 | 1 |BwlwwwnphwihG tnpwbuwnpun 106,750.0 106,750.0
wyn pynLd”
1. Uupuywn-pbinnbiw Swo Gpwonpngntd 106,750.0 106,750.0
L wwhwwGnid
- CkGpbnh L Ywenyglbph pGpwghy Gnpngnid L 4251 106,750.0 106,750.0
wwhwwbnty

2490|104 | 9 | O | SGunbuw!lpwl hwpwpbpmpinGa6n (wy 29,989.0 29,989.0
nwubpha swunwang)
nphg’

249104 | 9 | 1 |SOnGuwywb hwpwptpnipnLbOtn (wy nwutphb 29,989.0 29,989.0
swwuinywbnn)
wjn pynLd’
7. SnbwdwAwplbbnph Guwqiwlbnwnd 85.0 85.0
- Wy Swfuubn 4861 85.0 85.0
9. Nwpunwnhn Yswnpbbnh quaddwi 29,904.0 29,904.0
Swpwynipin Gobn
- Upfuwwnnnl6ph wfuwwnwywndbp b 4111 17,088.0 17,088.0

hwyGlwdLwnbtn
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
D'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

- Lyhpwuwnynipntbbtn wy) 2whniyp shGunwwlnnn 4819 12,816.0 12,816.0 -
Ywqiwytnwnipynttbnphb

2500(05|0 | O cNRUYU UuhudusNrh mucsSMULNH33NFL 1,482,170.7 1,482,170.7 -
wyn pyntd’

2510(05 | 1 | O | UnpwhwlmJ 1,246,250.7 1,246,250.7 -
nnphg’

2511|05| 1 | 1 |Unpwhw0nd 1,246,250.7 1,246,250.7 -
wyn pyntd’
7. whwinuginb L vwohunwpwlywa 1,246,250.7 1,246,250.7 -
dwpnmd
- Undntbwy SwewjnipnLbltn 4213 1,246,250.7 1,246,250.7 -

2560(05 | 6 | 0 | Spowlw dhowduynh wwpwnwwbnigini (wyy 235,920.0 235,920.0 -
nuwubpht swunwan)
nnhg’

2561|05| 6 | 1 |Cpowlyw dhowdwnph wwpwnwwbnignid (wyp nwubphl 235,920.0 235,920.0 -
swwuinywbnn)
wyn pyntd”
1. Ywlws tnwnwdplbnh hhdanid L 225,000.0 225,000.0 -
wwhwwamd
- UndinLbwy SwewynipNLGlEn 4213 225,000.0 225,000.0 -
2. Uluwnwhwodw( L dhounnwqbnédwl 10,000.0 10,000.0 -
Swrwynpim Go6n /nbpuwnhquighw
- Undntbwy Swewjnipntbbtn 4213 10,000.0 10,000.0 -
3. Swuwpwlwlwl gniquinwGabph 920.0 920.0 -
wwhwwomd b §Gpwinpngntd
- Undntbwy Swewjnipntbltn 4213 920.0 920.0 -

2600(06 | 0 | O pLUYUNULUSKL ChuuPuMNHB3NHL B4 239,928.5 109,928.5 130,000.0

LUNUNFLUL dunusnk@3NtuueN

wjn pynLd’

2660(06 | 6 | O | Phwlwnwluyhl shawnwpnigwl L YndnGuy 239,928.5 109,928.5 130,000.0
owpuymp/ntaGbn (wy nwubphl swuwnlywing)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb 2hGwpwpnipjwb L Yyndintbwy 239,928.5 109,928.5 130,000.0
Swrwjnipntbbtn (w) nwubphb swywwnywbnn)
wjn pynLd’
1. Pwqlwplbwlwnwl pG0ptnh hwpe 15,000.0 15,000.0 -
wnwGhplbnh Ybpwlbnpngnid
- GOptnh L Ywrenygbbph pbpwghy Gnpngnid L 4251 15,000.0 15,000.0 -
wwhwwnLd

94




AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot

a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

2. PwqdwpGuwlwnwi 26Gpbph pk, 30,000.0 - 30,000.0
wnwahplbinh Ypnwanpngnid
- GkGpbnh L 2hGnipynibbbph Yuwwhuwwy yepwbnpngnd (5113 30,000.0 - 30,000.0
3. Pwluiht wrnwnpwdéplbnh L 114,045.0 14,045.0 100,000.0
[uwnwhpwwwnwlGbnh hhdGwanpngnid ni
wwhwwamd
- UntpuhnhwObp ng wyGunwywl (ng hwdwjbpwihb) ng 4521 14,045.0 14,045.0 -
$Shlwlbuwywl YuglwybpwnipntGbeph
- GtOptbnh L 2hGnipyntGbEph Yuwwhuwwy yepwbnpngnud {5113 100,000.0 - 100,000.0
4. Pwquwplwlpunwl p6Gp6nph pwpblywnpqdwl 80,883.5 80,883.5 -
wyy wpfuwunwlplbn
- GOpbnh L Ywrnygbbph pbpwghy Gnpngnid L 4251 80,883.5 80,883.5 -
wwhwwnLd

2800|080 | O <Uuahus, uguunt3me 64 urnu 79,078.4 79,078.4 -
wjn pynLd’

2810(08 | 1 | O | <wlquinh L uynpunh SwowynipniGlbn 4,000.0 4,000.0 -
nnphg’

2811(08 | 1 | 1 |<wlOguunh L uwynpuinh dwrwjnipyntbbbp 4,000.0 4,000.0 -
wjn pynLd’
1. Uwnpunuwyht dhongwen dGGnh 4,000.0 4,000.0 -
Ywquwlbnwnd
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 4,000.0 4,000.0 -

2820(08 | 2 | O | Upwlynipuyhl SwewyniginiGaGn 75,078.4 75,078.4 -
nphg’

2821(08 | 2 | 1 |Qpwnwpwabbp 11,291.7 11,291.7 -
wyn pyntd”
1. QnuinwnwluihlG swewjnipintGabn 71,291.7 11,291.7 -
- UntpuhnhwGbn ng $h0wbuwywb yeunwywh 4511 11,291.7 11,291.7 -
(hwdwjopwihb) Yuqdwytnpwnipntbbtph

2823|08 | 2 | 3 |Uwynyph inabp, wynidpltn, Yebunpnbabnp 22,986.7 22,986.7 -
wyn pyned”
1. <wiwyGpuyht drwynyph b wquin dwiwlgh 22,986.7| 22,986.7| -
Yuquwlbnwmd
- Untpuhnhwtn ng $howluwywl wybEinwywb 4511 22,986.7 22,986.7 -
(hwiw)bpwihb) YuglwytpwnipntGbeph

2824|108 | 2 | 4 |W dwynipwihb Yuqiwytpwnientbbtn 34,800.0 34,800.0 -

wjn pynLd’
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
D'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Vpwlnipuyhl dhonguwentdabnh 34,800.0 34,800.0
hnwlwlwgnid
- COnhwOnep pOnyph wyp SwewynipntGbbn 4239 34,800.0 34,800.0

282708 | 2 | 7 |<niawndw0bph L dwynipwiht wndbpbbnh 6,000.0 6,000.0
yGpwywbgbnud L wwhwwOnd
wyn pyntd”
1. <nupwipdwaie, Gpwinpngnid L 6,000.0 6,000.0
wwhuwwbmd
- COnhwOnep pOnyph wyp SwewynipyntGbn 4239 6,000.0 6,000.0

2900|090 | O urEBNHB3NHL 1,019,893.3 1,019,893.3
wyn pynLd”

2910(09 | 1 | O | bwfuwnwpngwlywl L vnwppwlwa panhwamn 785,340.0 785,340.0
UppnupinG
nnphg’

291109 | 1 | 1 | Lwuwnwnpngwywl Yppnepntl 785,340.0 785,340.0
wyn pynd”
1. bwfuwnupngulwa munignd 785,340.0 785,340.0
- Unipuhnhwttp ng Showluwywl wybnwywh 4511 785,340.0 785,340.0
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

2950(09 | 5 | O | Luwn dwlwpnwlbbnh snwuwlwngynn 234,553.3 234,553.3
UppnupinG
nnhg’

2951109 | 5 | 1 |Upunwnwnngwwl nwunhwpwynepjntl 234,553.3 234,553.3
wyn pynd”
1. Unuinwnuwpngwlwl nwunhwpuwlynieinig 234,6563.3 234,5563.3
- Unipuhnhwttp ng $howluwywl ybnwywh 4511 234,553.3 234,553.3
(hwdwybopwihb) Yugqdwytnpwnipntbbtph

3000(10|0 | O uNnshuLuyuu nucsMULNHE3NFL 139,837.7 139,837.7
wyn pyned”

3070|10 | 7 | O | Unghuwywlywl hwennely wpunnbnygim GGGp (wyy 53,730.5 53,730.5
nwubpht swunnwann)
nnphg’

307110 | 7 | 1 |Unghwjwywb hwwunty wpunnbnegintGben (wyp 53,730.5 53,730.5
nwubnht swywwnywbnn)
wyn pynLd”
2. <wnwquin sniGlgnn wadwbg b 3,650.5 3,5650.5

unghwywwbu wiwwwhny pGunwihplbnh
hwdwpn hnupwplwynpnipw yuqiwlbnund
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’

Sz =23 2 pwdhbGbph, fudptph L nwubph, hoswtu Gwl —_|3‘ = DOnwikap

w £ 3| E|E pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot

a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 12 |3 |4 5 6 7 8 9

- COnhwOnip panyph wy) SwewjnipynLbGtp 4239 3,650.5 3,550.5
3. Unghuwyjwwbu wiwwwhny pnGunwahplbnhG 35,780.0 35,780.0
winbwlyw b hhpunwlyh opbphG wowlgnipnt o
- UGogwnuwyhO L hwbpwyhG uGGnh Gnebp 4267 25,770.0 25,770.0
- Lwunniy Gwwwnwyuwihb wy Gnipbn 4269 7,150.0 7,150.0
- Ujp Gwwuwinbbp pjnipbhg 4729 2,860.0 2,860.0
4. Unghuwywwbu wiwwwhny wadwiag 13,200.0 13,200.0
wowlgnipintl
- Ujp Gwwuwinbbp pjnipbhg 4729 10,200.0 10,200.0
- Lyhpwwnynipyntbbtp wy) whnyp shbinwwlnnn 4819 3,000.0 3,000.0
Ywqiwytnwnipntbbnphb
5. <wuwnpwlwlwl Ywaedwlbnwnigin GGEnha 1,200.0 1,200.0
wowlgnipintl
- Lyhpwwnynipyntbbtp wy) zwhnyp shbinwwlnnn 4819 1,200.0 1,200.0
Ywqiwytnwnipynttbtphb

3090(10 | 9 | O | Unghwywlwl wwpwnwwlnigint b (wyy 86,107.2 86,107.2
nwubipht swunnwann)
nphg’

309110 | 9 | 1 |Unghwjwywl wwunwwbnipyntb (wy nwukphb 47,005.2 47,005.2
swwinyubnn)
wjn pynLd’
1. Unghuwywlwl oglnipiwl swewynipintGatnh 47,005.2 47,005.2
qnpénLbtinuypwl Ywqlwlbnwmdo
(Wuwwnyhpwldwd (hwqnpnipin 6G6n)
- Upfuwwinnnl6ph wfuwwnwywndbp b 4111 45,128.6 45,128.6
hwyGlwdLwnbtn
- EGGpgbwnhy dwrwynipnLbbbn 4212 900.0 900.0
- UndnLbwy SwrwynipNLGlEn 4213 251 251
- Ywwh dwrwnieyntbbbp 4214 127.5 127.5
- UbptOwlbnh L uwppwdnpnuilbbph pbpwghy 4252 424.0 424.0
Gnpngnid L wwhwwbned
- Qpuiubjwywhb Gynpbin L hwgniun 4261 400.0 400.0

309210 | 9 | 2 |Unghwjwywl wwunwwbnipjwbp tnpwdwnpynn, 39,102.0 39,102.0
odwlnwy Swrwjntpntbl6n (w) nwutphG
swwiinyubnn)
wyn pynLd”
2. Upnnonipjwl wujwhnywannigin 39,102.0 39,102.0
- Uwywhnjwagpwywb dwfuubp 4215 39,102.0 39,102.0
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Lwyblyws N 7
Gnlwl pwnwph wywgubnt

2018 pwlwbh nbyunbdptph 25- h

N 47-U npndw
Unyntuwy 8

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
UuLuehu-Uu6PUUShU JuN2uyUL craULh vuuny

(hwquin npwdaénng)

= =l a Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®

ez |3 g pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap

D'.:J = 3 E ,:4 pintobiinwhb dwfuubph nbnGuwghunwywl = = Jwpswywl pniob | pnlnwjhb pyniob

= nwuwywngiwb hnnwdébeph wodwbniibtpp e
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 3,120,515.4 3,008,541.4 111,974.0
2100(01|0 | O ouacuLNeN ALNE3BH <ULNU3hL 549,190.0 544,190.0 5,000.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 532,047.2 531,047.2 1,000.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wpunwphl hwpwpbnpnigindGGGn
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 532,047.2 531,047.2 1,000.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 532,047.2 531,047.2 1,000.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 363,738.0 363,738.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 116,659.7 116,659.7 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 14,133.4 14,133.4 -
- Undntbwy SwewjnipnLbltn 4213 476.1 476.1 -
- Ywuwh dwrwjnipntbobn 4214 11,260.0 11,260.0 -
- Uwywhnjwagpwywb dwluubp 4215 320.0 320.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 1,000.0 1,000.0 -
- Jwpswywb swewynipntGbbn 4231 360.0 360.0 -
- Lwiwlwpgswihb swrewjnipntGGbn 4232 240.0 240.0 -
- SbnGYwunywywb swewjnipntbltn 4234 320.0 320.0 -
- LbpYwywgnigswywb dwfuubp 4237 1,000.0 1,000.0 -
- Uwulwghunwywb swrewjnipntbGbtn 4241 544.0 544.0 -
- UbptOwlbnh L uwppwdnpnuilbbph pbpwghy 4252 4,665.0 4,665.0 -
Gnpngnid L wwhwwbned
- Qpwubywyuwihb Gnukp L hwgniuwn 4261 1,794.0 1,794.0 -
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? zZ =3 = pwdhbGbph, fudptph L nwubph, hoswtu Gwl —_|3‘ = DOnwikap
w £ 3| E|E pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 12 |3 |4 5 6 7 8

- Spwluwnpunwihb Gniebp 4264 11,288.3 11,288.3 -
- UGOgwnuwyhO L hwOpwyhG uGGnh Gnuebp 4267 1,013.7 1,013.7 -
- Mwpunwnhp J&wplbp 4823 235.0 235.0 -
- Uj| 6wfuubp 4861 2,000.0 2,000.0 -
- Ywnswywl uwnpwynpniibbp 5122 1,000.0 - 1,000.0

2130|01 | 3 | O | Lanhwlnp plnyph SwrwynipintGabn 11,170.8 11,170.8 -
nphg’

213101 | 3 | 1 |Uzluwwnwywqdh /Yunnptph/ gény pGnhwbnip plnyph 11,170.8 11,170.8 -
Swrw)nipnLblbn
wyn pynLd”
1. Pwnwpwohwlywl Guwagnipiwl wywnbnh 11,1770.8 11,170.8 -
qnuilquwl swpwinip/wl gnpdnLGbnipiuwl
Ywadwlybnwmd (wwunyhpwlydws
[wgnpnipintGG6n)
- Upjuwuwnnnbbnh wluwunwywpdbn L 4111 10,289.6 10,289.6 -
hwybwJswnbtn
- EGGpgbwnhy swrwynipnLbbbn 4212 569.2 569.2 -
- UninLbwy SwewynipNLGlEn 4213 74.8 74.8 -
- Ywuwh dwrwjnipntbobn 4214 111.5 111.5 -
- Jwpswywb swewynipntGbbp 4231 53.0 53.0 -
- Qpuiubywywihb Gjnebin L hwgniun 4261 51.4 51.4 -
- UGOagwnuwyhO L hwbpwyhG uGGnh Gnebp 4267 12.2 12.2 -
- Mwpunwnhp J&wplbp 4823 9.1 9.1 -

2150(01 | 5 | O | Lanhwanin plnyph hwapuwiha 4,000.0 - 4,000.0
oswpuympintaabnh qony hunwgnunwlywl b
Owfuwqdbuyhl wpfuwwnwlplbn
nnphg’

2151|101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihG SwewynipnLGGEph 4,000.0 - 4,000.0
gony htwnwgnunwywb L wuwgdwh
wfuwunwbpltn
wjn pynLd’
1. bwfuwqduyhl wipfuwnwlplbn 4,000.0 - 4,000.0
- Lwfuwgbwhbunwgnunwwb dwfuubn 5134 4,000.0 - 4,000.0

2160(01 | 6 | O | LanhwGnin plnyph hwlpuyhl 1,972.0 1,972.0 -
dwpuyntp/ntGo6n (wy nwubphl swuwanlywlng)
nnphg’

2161|01| 6 | 1 |CUGnhwGnip pGnyph hwOpwih( swewynipiINLGGEN (wy| 1,972.0 1,972.0 -
nwubphb swywwnlwbnn)
wjn pynLd’
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’

= = % o e pwdh0btnh, fudptph L nwutph, hGswbu Gwb 3 = o

EZ 1wl 23 = nwikp

w= 3| 52 pintobiinwhb swiuubph nbwnbuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot

a| & nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8

1. Fhdnidabp, hwjgwnhdnidabn, nuwunwnpwih 1,000.0 1,000.0 -
npnpmdGbnph L Yahrabnh nbd Ybnwplahs b
Yarwpbl pnnnpGbn GEpluywalbihu
uwhiwaywd Yswnntdobn
- Mwpuwnhp y&wpbkn 4823 1,000.0 1,000.0 -
2. Qnuph Ghyunndwdp hnwdnilpltinh 972.0 972.0 -
qnuwilguwl, guwhwundwla L
wnbnbGywwnynipiuwl tnpwdwnpdwl hu
Ywwdwd Jawnnidbbn
- Mwpwwnhp y&wpatbp 4823 972.0 972.0 -

2200|020 | O nUCSMULNHB3NEL 2,000.0 2,000.0 -
wjn pynLd’

2250|102 | 5 | O | Muwpunywlnygin b (wyy nwubphl swwinlywbng) 2,000.0 2,000.0 -
nnphg’

2251102 | 5 | 1 |Mwpunwwbnipntb (w), nwubphb swywwnywbnn) 2,000.0 2,000.0 -
wjn pynLd’
1. 2hGuwnunlbnh hupdwedwl, gnpuwlnsh, 2,000.0 2,000.0 -
anpwhwywph b Jupdwlwl hwdwplbnh
Ywquwlbnuwdwll wowlgnigint
- Qnyph L uwppwynpnibeph Jupédwwintpinta 4216 2,000.0 2,000.0 -

2400|040 | O SuStGUUYUL <UnurtMNtHE@3NFLLEN 91,829.0 85,575.0 6,254.0
wjn pynLd’

2450|104 | 5 | 0 | Spwhuwnpun 77,254.0 71,000.0 6,254.0
nphg’

2451|104 | 5 | 1 |Awlwwwphwihb tnpwbuwnpun 71,000.0 71,000.0 -
wjn pynLd’
1. UWupuywin-pbuinnliu  swdlh JbEpwlnpngnid 69,000.0 69,000.0 -
L wwhwwGnd
- GOptbnh L Ywrnygbbph popwghy Gnpngnid L 4251 69,000.0 69,000.0 -
wwhwwntd
3. Gapuwipwpbph Jbpwlnpngnid 2,000.0 2,000.0 -
- GOptbnh L Ywrnygbbph pbpwghy Gnpngnid L 4251 2,000.0 2,000.0 -
wwhwwnLd

2455|104 | 5 | 5 |lunnnywywwpwihO b w), npwluwynpun 6,254.0 - 6,254.0
wjn pynLd’
1. dbpbywlGbph hhdGwinpngnid 6,254.0 - 6,254.0
- Wy dbpGOwlEn L uwppwynpnidbtn 5129 6,254.0 - 6,254.0

2490|04 | 9 | O | Siwnbuwlwl hwpwpbpniein GGG (wy 14,575.0 14,575.0 -
nwubnphl swyuwnlywlng)
nphg’
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249104 | 9 | 1 |SOnGuwywb hwpwptpnipnLbOtn (wy nwutphb 14,575.0 14,575.0 -
swwuinywbnn)
wyn pyntd’
7. Snqwywiwrtbnh ywedwlybnuwnd 85.0 85.0 -
- Uj| 6wfuubp 4861 85.0 85.0 -
9. Nwpunwnhn Yswnpbbnh quaddwa 14,490.0 14,490.0 -
Swpwynipin Gobn
- Upjuwunnnbbph wluwunwywpdbn L 4111 8,280.0 8,280.0 -
hwybwJdwnpbtn
- Lyhpwwnynipyntbbtp wy) zwhnyp shbinwwltnnn 4819 6,210.0 6,210.0 -
Ywqiwytnwnipyntbbnphb

2500(05|0 | O cNRULU Uh2u4usrh mucsmuLNHa3NtLu 620,280.1 620,280.1 -
wyn pyntd”

2510(05 | 1 | O | UnpwhwlmJ 468,405.1 468,405.1 -
nnphg’

2511(05| 1 | 1 |Unpwhw0nLd 468,405.1 468,405.1 -
wyn pyntd’
7. whwiGnugnt§ L uwahunwpwlywa 468,405.1 468,405.1 -
dwpnmd
- UndinLbwy SwewynipNLGlEn 4213 467,759.5 467,759.5 -
- Ujp Gwwuwinbbp pjnipbhg 4729 645.6 645.6 -

2560(05 | 6 | O | Spowlyw dhowyuynh wuwpunwwlniginl (wyy 151,875.0 151,875.0 -
nwubpha swunlwang)
nnphg’

2561|05| 6 | 1 |Cpowlyw dhowdwiph wywwnwwbnignid (wyp nwubphl 151,875.0 151,875.0 -
swwuinywbnn)
wyn pynd”
1. Ywlwys wnwnwdplbnh hhoGnid L 151,875.0 151,875.0 -
wwhwwlmd
- Undntbwy Swewjnipntbltn 4213 151,875.0 151,875.0 -

2600(06| 0 | O pLUYUNULUSKL ChuuPuMNHB3NFL B4 228,768.4 128,048.4 100,720.0

unuNtLUL cunudntE3NFLLEN

wjn pynLd’

2660|06 | 6 | O | Phwlwpwluyhl shlGwpwpniguwi b YndnGuy 228,768.4 128,048.4 100,720.0
dswpuynpntGo6n (wy nwubphl swuwanlywlng)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb 2hGwpwpnipjwb L Yyndintbwy 228,768.4 128,048.4 100,720.0
Swrwjnipntbbtn (w) nwubphb swywwnywbnn)
wjn pynLd’
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AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

,::.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot

a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Pwqlwpluwlwnwa p6Gpbnh hwnpe 30,049.4 30,049.4 -
wnwahplbinh Ypnwanpngnid
- SkOpbnh L Ywenyglbph ppwghy Gnpngnid L 4251 30,049.4 30,0494 -
wwhwwbnd
3. Pwluiht urnwnwdéplbnh L 128,719.0 27,999.0 100,720.0
[uwnwhnpwwwnpwlGbnh hhdGwanpngnid ni
wwhwwamd
- UntpuhnhwObp ng wGunwywl (ng hwdwjbpwihb) ng 4521 27,999.0 27,999.0 -
$hlwluwywl YuwglwybpwnipntGbepha
- GOptbnh L 2hGnipyntGbEph Yuwwhuwwy yepwbnpngnud {5113 100,720.0 - 100,720.0
4. Pwquwplwlpunwl pEGpbnph pwpblwnpqdwl 70,000.0 70,000.0 -
wyy wpfuwunwlplbin
- GOptnh L Ywrniygbbph pbpwghy Gnpngnid L 4251 70,000.0 70,000.0 -
wwhwwntd

2800|080 | O <Uuahus, Uguunt3me 64 urnu 50,349.5 50,349.5 -
wjn pynLd’

2810(08 | 1 | O | <wlquinh L uwynpuinh SwowynipniGlbn 5,638.7 5,638.7 -
nnphg’

2811(08 | 1 | 1 |<wlOguunh L uwynpuinh dwrwnipyntbbbp 5,638.7 5,638.7 -
wjn pynLd’
1. Uwnpunuyhl dhongwen dGanh 5,638.7 5,638.7 -
Yuquwlbnwnd
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 5,638.7 5,638.7 -

2820(08 | 2 | O | Upwlynipuyhl SwewyniginGaGn 44,710.8 44,710.8 -
nnphg’

2821(08 | 2 | 1 |Qpwnwpwaibp 21,808.6 21,808.6 -
wjn pynLd’
1. Qpuinwpwluyhl SwiewinipinGaGn 21,808.6 21,808.6 -
- Untpuhnhwtn ng $howluwywb wybEinwywb 4511 21,808.6 21,808.6 -
(hwiw)bpwjhb) YuglwytpwnipntGbenphG

2823|108 | 2 | 3 |Uwynyph wnbkp, wynitdpltp, YeGupnblsp 9,502.2 9,502.2 -
wjn pynLd’
1. <wdwylpwihl dywlynyph b wquin dwdwlgh 96022 95022 -
Yuquwlbnwnd
- Untpuhnhwtn ng $howluwywl wyEinwywb 4511 9,502.2 9,502.2 -
(hwiw)bpwjhb) YuwglwytpwnipntGbephG

2824108 | 2 | 4 |W dwynipwihb Yuwqiwytpwnientbbtn 13,400.0 13,400.0 -

wjn pynLd’
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AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

D'.::, = 3 E ,:? pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot

= nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Vpwlnipuyhl dhonguwentdabnh 13,400.0 13,400.0
hnwlwlwgnid
- Qnyph L uwppwynpnuibbph Jupéwwinipynta 4216 2,400.0 2,400.0
- DOnhwOnip panyph wy) SwrwjnipnLbGtp 4239 11,000.0 11,000.0

2900|090 | O urEBNH33NHL 1,445,323.6 1,445,323.6
wyn pyntd”

2910(09 | 1 | O | bwfuwnwpngwlywa L tnwppwlwa panhwlmn 1,187,974.8 1,187,974.8
Ynpnieinil
nnhg’

291109 | 1 | 1 | Lwuwnwnngwywl Yppnepnt 1,187,974.8 1,187,974.8
wyn pyntd’
1. bwfuwnupngulywa munignid 1,187,974.8 1,187,974.8
- Untpuhnhwttp ng $howluwywl wybnwywh 4511 1,187,974.8 1,187,974.8
(hwdwjopwihb) Yuqdwytnpwnigntbbtph

2950(09 | 5 | O | Luwn dwlwnnuwlbbnh snwuwlwngynn 257,348.8 257,348.8
UpprupimG
nnphg’

2951109 | 5 | 1 |Upunwnwnngwwl nwunhwpwynepjntl 257,348.8 257,348.8
wyn pyntd”
1. Unuinwinuwpngwlwl nwunhwpuwlynieint G 257,348.8 257,348.8
- Unipuhnhwttp ng Showluwywl wybnwywh 4511 257,348.8 257,348.8
(hwdwyopwihb) Yugqdwytnpwnigntbbtph

3000(10|0 | O unshuLuyuu nucsaULNH@3NHL 132,774.8 132,774.8
wyn pyntd”

3070|10 | 7 | O | Unghwywlwl hwnnely wpunnbnuyginiGaGn (wy 37,100.0 37,100.0
nwubpht swunnwann)
nnphg’

307110 | 7 | 1 |Unghwjwywl hwwunnty wpunnbnegyntGben (wyp 37,100.0 37,100.0
nwubpht sywwnywbnn)
wyn pynLd”
2. <wpwquin smGbgnn wadwbg b 5,000.0 5,000.0
unghuwywwbu wiwwwhny pGuwbhplbnh
hwdwn hnwnuwiplpwydnpnegrwG yuqowlybpuned
- COnhwOnip pOnyph wyp SwewynipNLGbEn 4239 5,000.0 5,000.0
3. Unghuwywwbu wiwwwhny nGunwbhplbnhG 21,200.0 21,200.0
wuinbwlywa b hhpuwwnwlyh opnbpht wowlgnieginta
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 4,870.0 4,870.0
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- UGOagwnuwyhO L hwbpwyhG uGGnh Gnuebp 4267 15,830.0 15,830.0
- Ujp Gwwuwinbbp pjnipbhg 4729 500.0 500.0
4. Unghuywwbu wiwwwhny wadwiag 10,900.0 10,900.0
wowlgnipintl
- <wuinnity Owwunwywhb wy) Gnipbin 4269 900.0 900.0
- Ujp Gwwuwinbbp pjnipbhg 4729 10,000.0 10,000.0

309010 | 9 | O | Unghuwywlwl wwpwnwwGnigin G (wyy 95,674.8 95,674.8
nwubpht swunnywann)
nnhg’

309110 | 9 | 1 |Unghwjwywb wwpwnwwbnipntlb (w) nwutphl 43,918.8 43,918.8
swwuinywbnn)
wyn pynd”
1. Unghwywlwl oqlnipiwl swpwynipintGa6nph 43,918.8 43,918.8
anpontbbnpiuwl Ywqdwlbnuwn:

wwnyhpwlywo (hwagnpnipin 666,

- Upfuwwnnnl6ph wfuwwnwywndbp b 4111 41,573.0 41,573.0
hwyblwdLwnltn
- EbpgGwnhy Swrwnientbbbp 4212 1,305.3 1,305.3
- UndnLbwy SwrwynipNLGlEn 4213 52.2 52.2
- Ywwh dwrwnieyntbbbp 4214 89.0 89.0
- UbptOwlGnh L uwppwdnpniudbbph pbpwghy 4252 2721 2721
Gnpngnud L wwhwwbned
- Qpwubyuyuwihb Gnikp L hwgniuwn 4261 527.2 527.2
- UGagwnuwyhO L hwbpuwihG uGGnh GjnLeEp 4267 100.0 100.0

309210 | 9 | 2 |Unghwjwywl wwunwwbnipjwbp tnnpwdwnpynn, 51,756.0 51,756.0
odwlnwy Swrwjntpntbltn (w) nwutnphG
swwinyubnn)
wjn pynLd’
2. Upnnomipwl wuwhndwagnpniginil 51,756.0 51,756.0
- Uywhnwgpwywb dwfuubp 4215 51,756.0 51,756.0
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Lwyblyws N 7
Gnlwl pwnwph wywgubnt
2018 pwlwbh nbyunbdptph 25- h
N 47-U npndw
Unyntuwy 9

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
Lnr vare JyuNr2uuYUL cNrRULh Uuund

(hwquin npuwdbénny)

= =l a Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®

ez |3 g pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap

D'.:J Z 2| g =2 pinobnwhl dwiuutinh tnbnbuwghunwywh = Jwpswywb pngt | $nlnwyhl pniot

a| 2" nwuwlwngiwl hnnwsttph  wowanuittpp =
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 3,203,470.1 3,084,680.1 118,790.0
2100(01|0 | O ouacuLNeN ALNE3BH <ULNU3hL 590,741.1 585,741.1 5,000.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 574,062.8 572,062.8 2,000.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wpunwphl hwpwpbnpnigindGGGn
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 574,062.8 572,062.8 2,000.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 571,062.8 569,062.8 2,000.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 375,750.0 375,750.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 120,512.8 120,512.8 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 28,581.0 28,581.0 -
- Undntbwy SwewjnipnLbltn 4213 1,669.2 1,669.2 -
- Ywuwh dwrwjnipntbobn 4214 11,936.5 11,936.5 -
- Uwywhnjwagpwywb dwluubp 4215 173.0 173.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 1,000.0 1,000.0 -
- Jwpswywb swewynipntGbbn 4231 300.0 300.0 -
- Lwiwlwpgswihb swrewjnipntGGbn 4232 180.0 180.0 -
- SbnGYwunywywb swewjnipntbltn 4234 1,018.4 1,018.4 -
- LbpYwywgnigswywb dwfuubp 4237 1,000.0 1,000.0 -
- Uwulwghunwywb swrewjnipntbGbtn 4241 2,315.5 2,315.5 -
- UbptOwlbnh L uwppwdnpnuilbbph pbpwghy 4252 5,750.0 5,750.0 -
Gnpngnid L wwhwwbned
- Qpwubywyuwihb Gnukp L hwgniuwn 4261 3,667.0 3,667.0 -
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= 9o ﬁ

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
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a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8

- Spwluwnpunwyhb Gneptin 4264 8,120.0 8,120.0 -
- UGOgwnuwyhO L hwOpwyhG uGGnh Gnuebp 4267 2,739.4 2,739.4 -
- Mwpwwnhp y&wpabp 4823 350.0 350.0 -
- Uj| 6wfuubp 4861 4,000.0 4,000.0 -
- Ywnswywl uwnpwynpniibbp 5122 2,000.0 - 2,000.0
2. dwnswlwl opilunGlnh hhdGwanpngntd 3,000.0 3,000.0 -
- GOptnh L Ywrnygbbph popwghy Gnpngnid L 4251 3,000.0 3,000.0 -
wwhwwntd

2130(01 | 3 | O | Lanhwanin plnuph dwrwynipintGG6n 11,178.3 11,178.3 -
nnhg’

213101 | 3 | 1 |Uzluwwnwywqdh /Yunnpbnh/ gény pGnhwbnip plnyph 11,178.3 11,178.3 -
Swrw)ntpnLblbn
wyn pynd”
1. Punwpwghwlwa ugnipiuwl wiynbnh 11,178.3 11,178.3 -
qnuwilguwl swpwinip/wl gnpdntbbnipiwl

wqdwlbpwntd (wuwwnyppwldws

(hwgnpnipin GG6n)
- Uzjuwuinnnbbnh wluwunwywpdbn L 4111 9,445.2 9,445.2 -
hwybwddwnpbbn
- EGGpgGwnhy Swrwnientbbbp 4212 4481 4481 -
- UndnLbwy SwrwynipNLGlEn 4213 22.0 22.0 -
- bGwwh SwewjnipyntGbbn 4214 120.0 120.0 -
- Ubptawabnh L uwppwynpnidlbph plpwghy 4252 149.5 149.5 -
Gnpngnid L wwhwwOnid
- Qpwutywyuwihb Gnikp L hwgniuwn 4261 613.1 613.1 -
- UGogwnuwyht L hwbpwyhG uGGnh Gnuebp 4267 371.3 371.3 -
- Mwpwwnhp y&wpatbp 4823 9.1 9.1 -

2150(01 | 5 | O | Lanhwanin plnyph hwipwht 3,000.0 - 3,000.0
owpuympintGG6ph gony hunwqnunwlyw L
Owfuwqbuyhl wpfuwinwlplbn
nnphg’

2151|101 | 5 | 1 |CUnhwGntp pGnyph hwOpwih( dwewjnipNLGGEph 3,000.0 - 3,000.0
g6ny htnmwgnunwyw L bwuwgdwh
wfuwwnwbpltn
wjn pynLd’
1. bwfuwqduyhl wipfuwunwlplbn 3,000.0 - 3,000.0
- Lwuwgéwhbunwgnunwwb dwfuubn 5134 3,000.0 - 3,000.0

2160|01 | 6 | O | Lanhwhnin panyph hwapuwyhl 2,500.0 2,500.0 -
dwpuyntpntGa6n (wy nwubphl swuwanlywlng)
nnphg’
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2161(01| 6 | 1 |[CUnhwGntp pOnyph hwbpwihb SwewjnipNLGbtn (w)| 2,500.0 2,500.0 -
nwubnht swywwnywbnn)
wyn pynd”
1. Fhdnidabn, hwjgwnhdnidabn, nuunwnpwih 500.0 500.0 -
npnpmdGbnph L Yahrabnh nbd Ybnwplahs b
Yarwpbl pnnnpGbn GEpluwywaglbihu
uwhdwaywd Yawnnidabn
- Mwpuwnhp y&wpbkn 4823 500.0 500.0 -
2. Qnuyph Glunndwdp hpwdniGplEnh 2,000.0 2,000.0 -
qnuwilguwl, gawhwundwl L
wbn&yuwwnynipiwl inpwdwnpdwl hbuwn
Yuwwdwd JAwnnidGbn
- Mwpwwnhp y&wpabp 4823 2,000.0 2,000.0 -

2200(02|0 |0 nucsSMULNEHBE3NEL 1,000.0 1,000.0 -
wjn pynLd’

2250|102 | 5 | O | Muwpunywlnygin b (wyy nwubphl swwinlywlbng) 1,000.0 1,000.0 -
nnhg’

225102 | 5 | 1 | Mwaunwwbnipntb (wy nwubphO swywunywbnn) 1,000.0 1,000.0 -
wyn pyntd”
1. 2hGuwwwnunGbnh hupdwedwl, gnpuwlnsh, 1,000.0 1,000.0 -
anpwhwywph b Jupdwlwl hwdwplbnh
Yuwquwlbnuwdwla wowlgnigin
- DOnhwOnip panyph wy) SwewjnipnLbGtp 4239 1,000.0 1,000.0 -

2400|040 | O SuStGUUYUL <UnurtMNtHEB3NFLLEN 106,861.6 104,361.6 2,500.0
wjn pynLd’

2450|104 | 5 | 0 | Spwhuwnpun 92,500.0 90,000.0 2,500.0
nphg’

2451104 | 5 | 1 |Awlwwwphwihb tnpwbuwnpun 90,000.0 90,000.0 -
wjn pynLd’
1. UWupuywn-pbuinnli dwdlh JEpwlnpngnid 83,000.0 83,000.0 -
L wwhwwGnd
- GOptbnh L Ywrnygbbph pbpwghy Gnpngnid L 4251 83,000.0 83,000.0 -
wwhwwnLd
3. Gapnuwipwpbph Jbpwlnpngnid 7,000.0 7,000.0 -
- GOptbnh L Ywrnygbbph pbpwghy Gnpngnid L 4251 7,000.0 7,000.0 -
wwhwwntd

2455|104 | 5 | 5 |lunnnywywwpwihO b wy, tnpwluwynpun 2,500.0 - 2,500.0
wjn pynLd’
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1 1213 |4 5 6 7 8 9

1. Ybpbjwlabnh hhdGwlnpnqnid 2,600.0 - 2,500.0
- Uj) dbpbOwabn b uwppwynpnidbn 5129 2,500.0 - 2,500.0

2490|104 | 9 | O | Stunbuwlpwl hwpwpbpmpinGa6n (wy 14,361.6 14,361.6 -
nwubpht swunnywann)
nnphg’

249104 | 9 | 1 |SOnGuwywb hwpwpbpnipnLbOtn (wy nwutphb 14,361.6 14,361.6 -
swwuinywbnn)
wyn pynd”
7. Sniwywiwrtbnh ywedwlybnuwm b 85.0 85.0 -
- Uj| Swifuubp 4861 85.0 85.0 -
9. Nwpunwnhp Yswnbbnh quaddwa 14,276.6 14,276.6 -
Swpwynipin Gabn
- WluwwinnnGbph wifuwnwywndbn b 4111 8,158.0 8,158.0 -
hwybwdsdwnpbtn
- COnhwOnip panyph wy| SwewjnipynLbGtp 4239 6,118.6 6,118.6 -

2500(05|0 | O cNUYU Uhaudusrh mucsmuunkHe3Ntu 662,722.9 662,722.9 -
wyn pyntd”

2510|105 | 1 | O | UnpwhwGnid 550,222.9 550,222.9 -
nnphg’

2511|05| 1 | 1 |Unpwhw0nd 550,222.9 550,222.9 -
wyn pynLd”
7. whwbnugnt b L vwohunwpwlywa 5560,222.9 550,222.9 -
dwpnnd
- Undntbwy SwewjnipnLbltn 4213 550,222.9 550,222.9 -

2560(05 | 6 | O | Spowlyw dhowduynh wwpunwwlniginil (wyy 112,500.0 112,500.0 -
nwubpht swunnwann)
nnphg’

2561|05| 6 | 1 [Cpowlyw dhowdwiph wwwnwwlnignid (wyp nwubphl 112,500.0 112,500.0 -
swwuinywbnn)
wyn pynLd”
1. bwlws tnwnwdplbnh hhoGnid L 112,600.0 112,500.0 -
wwhwwlmd
- Undntbwy SwewjnipnLbltn 4213 112,500.0 112,500.0 -

2600(06 |0 | O pLUYUNULUSHL Chuururnte3Nku Gy 198,985.4 98,695.4 100,290.0

LUNUNFLUL dunu3nk@3NtuutN

wyn pyntd”

2660(06 | 6 | O | PGwlwnwluyhl shawnwpnigwl L YndnGuy 198,985.4 98,695.4 100,290.0
oswpuymp/ntabbn (wy nwubphl swuwnlywing)
nnphg’
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= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,::.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

2661|06 | 6 | 1 |POwywpwlwihl 2hOwpwpnipjwb L Yndntbuwy 198,985.4 98,695.4 100,290.0
Swrwynipntbbbn (wy| nwubphl swywwnywbnn)
wyn pynd”
1. Pwqlwpluwlwnw p6Gpbnh hwnpe 27,000.0 27,000.0 -
wnwahplbbinh Ypnwanpngnid
- CkOpbnh L Ywenyglbph pGpwghy Gnpngnid L 4251 27,000.0 27,000.0 -
wwhwwbnd
2. Pwquwplwluwnwl 2EGplnh pbp 10,450.0 - 10,450.0
wnwbhplbtinh JGpwlnpngnid
- GOptnh L 2hGnipyntGbEph Yuwwhuwwy yepwbnpngnud {5113 10,450.0 - 10,450.0
3. Pwluyhl unwnwdplbph L 102,451.4 12,6114 89,840.0
Juwnwhpnwwwnwllbbinh hhdGwanpngnid nt
wwhwwlmd
- UntpuhnhwObp ng wEunwywl (ng hwdwjbpwihb) ng 4521 12,611.4 12,611.4 -
$hlwluwywl YuwglwybpwnipntGbepha
- GOptnh L 2hbnLpyntGGEph Ywrenignid 5112 16,000.0 - 16,000.0
- GOptnh L 2hGnipyntGbEph Yuwwhwwy yepwbnpngnid {5113 64,440.0 - 64,440.0
- Wy dbpGOwlbn L uwppwynpnidltn 5129 9,400.0 - 9,400.0
4. Pwquwplwlpunwl p6Gp6ph pwpblywpqdwl 59,084.0 59,084.0 -
wy wpfuwanwlplbn
- GOptnh L Ywrenygbbph pbpwghy Gnpngnid L 4251 59,084.0 59,084.0 -
wwhwwntd

2800|080 | O <Uuanus, ucuuntsm@ 4 urnu 121,623.5 110,623.5 11,000.0
wyn pynLy”

2810(08 | 1 | O | <wlquinh L uynpunh SwowynipniGlbn 14,000.0 3,000.0 11,000.0
nphg’

2811|108 | 1 | 1 |<wlOguunh L uwynpunh dwrwjnipyntbbbp 14,000.0 3,000.0 11,000.0
wjn pynLd’
1. Uwnpunuwyhl dhongwen dGGnh 3,000.0 3,000.0 -
Yuwquwlbpnwnd
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 3,000.0 3,000.0 -
2. wlguwnh gnuinhGbnh L qpnuwghlbnh 11,000.0 - 11,000.0
Yupnigmid m wwhwwlnd
- GOptnh L 2hbnLpyntGGEph Ywrenignid 5112 11,000.0 - 11,000.0

2820|08 | 2 | O | Vpwlnipuyhl SwowynigniGlbn 107,623.5 107,623.5 -
nnphg’

2821(08 | 2 | 1 |Qpwnwpwalbp 39,000.0 39,000.0 -
wjn pynLd’
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
D'.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Qpuinwnwauihl swewiniepintGabn 39,000.0 39,000.0
- UntpuhnhwGbn ng $hwbuwywl yeunwywh 4511 39,000.0 39,000.0
(hwdwjpwihb) Yugqdwytnwnipntbbtph

2823|08 | 2 | 3 |Uwynyph indbp, wynidpltp, Yebunpnbabp 41,573.5 41,573.5
wyn pynLd”
1. <wdwyGpuwiht drwynyph b wquin dwiwlgh 41,573.5 41,573.5
Ywqdwlybpuind
- UntpuhnhwGbn ny $h0wbuwywl yeunwywh 4511 41,573.5 41,573.5
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

2824|108 | 2 | 4 |UWy Gawynipwihb Yuwgiwytnwnipntbbbp 27,050.0 27,050.0
wyn pynLd”
1. Vpwlnipuyhl dhonguwentdabnh 27,050.0 27,050.0
hnwlywlwgnid
- COnhwOnep pOnyph wyp SwewynipntGbtn 4239 27,050.0 27,050.0

2900|090 | O urENHa3NtL 1,393,660.0 1,393,660.0
wyn pynd”

2910(09 | 1 | O | bwfuwnypngwlywl L wnwppwlwa ponhwlnn 1,080,780.0 1,080,780.0
UppnupiniG
nnphg’

291109 | 1 | 1 |Lwuwnwnpngwywl Yppnepntl 1,080,780.0 1,080,780.0
wyn pynd”
1. bwfuwnupnguwlywa munigmd 1,080,780.0 1,080,780.0
- Unipuhnhwttp ng $howluwywl ybnwywh 4511 1,080,780.0 1,080,780.0
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

2950(09 | 5 | O | Luwn dwlwpnwlbbnh snwuwlwngynn 312,880.0 312,880.0
Upprupim G
nnphg’

2951109 | 5 | 1 |Upunwnwnngwwl nwunhwpwynepintl 312,880.0 312,880.0
wyn pyned”
1. Unuwnwinuwpngwlwl nwunhwnpuwlynieint G 312,880.0 312,880.0
- Untpuhnhwttp ng $howluwywl wybnwywh 4511 312,880.0 312,880.0
(hwdwjbpwihb) Yuqdwytnpwnipntbbtph

3000(10|0 | O unshuLuuuu MUucsMuULNHE@3NEL 127,875.6 127,875.6
wyn pyntd”

3070|10 | 7 | O | Unghuwywlwl hwennely wpunnbnygim GGGn (wyy 31,900.0 31,900.0
nwubpha swunnbwann)
nnphg’
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
Sz =23 2 pwdhbGbph, fudptph L nwubph, hoswtu Gwl —_|3‘ = DOnwikap
w < 3| E = pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 12 |3 |4 5 6 7 8 9
307110 | 7 | 1 |Unghwjwywl hwwnnty wpunnbnegintGben (wyy 31,900.0 31,900.0
nwubnht swywwnywbnn)
wyn pynd”
1. Unghwywuwbu wawwwhny plunwbhpabnh 1,000.0 1,000.0
Enbluwabnh hwaquwnh Yuwqdwlbnwmd
- Qnyph L uwppwynpnidbbph yupédwywintpyntl 4216 1,000.0 1,000.0
2. <wnwquin smGbgnn wadwbg b 2,600.0 2,600.0
unghuywuwbu wowwwhny pGunwbhplbnh
hwdwn hnunwiplpwynpnprwa yuwqowlbnun b
- COnhwOnip pOnyph wyp SwewjnipNLGbOEn 4239 2,500.0 2,500.0
3. Unghuywwbu wiwwwhny plunwulGhplbnhl 18,400.0 18,400.0
uinbulywlb b hhpunwyh opbinhl wowlygnipini
- Qnyph L uwppwynpnibeph Jupédwwinipnia 4216 1,000.0 1,000.0
- UGagwnwyhO L hwbpwihG uGGnh OGN 4267 13,500.0 13,500.0
- W bwwuwnltn pjnigtihg 4729 3,900.0 3,900.0
4. Unghuwywuwbu wiwwwhny wadwlg 10,000.0 10,000.0
wowlgnipini
- COnhwOnp pOnyph wyp SwewynipNLGbEn 4239 8,000.0 8,000.0
- W bwwuwnltp pjnigtihg 4729 2,000.0 2,000.0
3090(10 | 9 | O | Unghwywlwl wwpwnwwlnigint b (wyy 95,975.6 95,975.6
nwubnphl swuwnlywlnn)
nphg’
309110 | 9 | 1 |Unghwjwywl wwunwwbnipyntb (wy nwukph 40,628.6 40,628.6
swwinywbnn)
wjn pynLd’
1. Unghuwywlwl oglnipgiwl swewynigintGatph 40,628.6 40,628.6
qnpénLbbinuprwl Ywqlwlbnwmdo
(Wuwwnyhpwldwd (hwqnpniein 6G6n)
- UpfuwwnnnlO6ph wfuwwnwywndbp b 4111 38,945.9 38,945.9
hwyGlwdLwnltn
- UbpbOwbGnph L uwppwydnpnidbbph pbpwghy 4252 223.6 223.6
Gnpngnid b wwhwwOned
- Qpuiubywywhb Gjnebin L hwgniun 4261 773.8 773.8
- Spwluwnnpunwyhb Gnetin 4264 537.6 537.6
- UGagwnuwyht L hwbpwyhG uGGnh Gynuebp 4267 147.7 147.7
309210 | 9 | 2 |Unghwjwywl wwwnwwbnigjwbp nnpwdwnpynn 55,347.0 55,347.0
odwlnwy Swrwjnipjntbltn (w) nwutphG
swwuinywbnn)
wyn pynLd”

111




= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
Sz =23 2 pwdhbGbph, fudptph L nwubph, hoswtu Gwl —_|3‘ = DOnwikap
o = EBL E ,:? pinobnwyhl dwiuutinh wnbwnbuwghunwywh = = Junswywb pniet | $nlnuwyhb pniob
nwuwywngiwb hnnjwdébbph - wadwbniibbpp T
1 12 |3 |4 5 6 7 8 9
2. Upnnomipiwl wwwhnywannip/m 55,347.0 55,347.0
- Uwywhnjwagpwywb dwiuubp 4215 55,347.0 55,347.0

112




Lwyblyws N 7
Gnlwl pwnwph wywgubnt
2018 pwlwbh nbyunbdptph 25- h
N 47-U npndw
Unyntuwy 10

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
LNPe-UuNruS YuN2uUuUUL cNrRULh vuundy

(hwquin npwdaénng)

= =l a Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®

ez |3 g pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap

D'.:J Z 2| g =2 pinobnwhl dwiuutinh tnbnbuwghunwywh = Jwpswywb pngt | $nlnwyhl pniot

a| 2" nwuwlwngiwl hnnwsttph  wowanuittpp =
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 612,227.8 607,027.8 5,200.0
2100(01|0 | O ouacuLNeN ALNE3BH <ULNU3hL 221,835.7 220,635.7 1,200.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 220,885.7 220,285.7 600.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wpunwphl hwpwpbnpnigindGGGn
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 220,885.7 220,285.7 600.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 220,885.7 220,285.7 600.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 152,503.0 152,503.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 48,918.3 48,918.3 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 4,448.7 4,448.7 -
- Undntbwy SwewjnipnLbltn 4213 120.0 120.0 -
- Ywuwh dwrwjnipntbobn 4214 2,700.0 2,700.0 -
- Uwywhnjwagpwywb dwluubp 4215 220.0 220.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 1,000.0 1,000.0 -
- Jwpswywb swewynipntGbbn 4231 249.9 249.9 -
- Lwiwlwpgswihb swrewjnipntGGbn 4232 123.0 123.0 -
- Ubpyuwjwgnigswlwb dwfuubn 4237 882.0 882.0 -
- Uwulwghunwywb swrewjnipntbGbtn 4241 91.0 91.0 -
- UbptOwlGnh L uwppwdnpnuibbph pbpwghy 4252 2,550.0 2,550.0 -
Gnpngnid L wwhwwbned
- Qpuiubywywhb Gynebin L hwagniun 4261 967.0 967.0 -
- Spwluwnpuwyhb OjnLpbp 4264 3,104.8 3,104.8 -
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Ml
Pwdhi
haniip

annh
M

AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb
pwdhbbnh, fudptph L nwutph, hoswbu Gwb
pinobuinwihlb wfuubph inbwnbuwghunwywb

nwuwywngiwb hnnjwdébbph - wadwbniibbpp

QOnwdklp

wjn pYntd”

Jwnswywl pjniob

Pnlnwyhb pynieb

N

N
w

N

5

- UGOagwnuwyhO L hwbpwyhG uGGnh Gnuebp

360.0

360.0

- Mwpuwnhp y&wnbbnp

4823

48.0

48.0

- Wy Swfuubin

4861

2,000.0

2,000.0

- Ywnswywb uwnppwynpniibbp

5122

600.0

600.0

2150

015

DLanhwlrn panyph hwapwyhl
dwpuympintGG6ph gény hunwgnunwlywl b
Owfuwqduyht wpfuwunwbplbn

600.0

600.0

nphg’

2151

015

COnhwnip pOnyph hwOpwihb swrewjnipntbbBph
gény htlnwgnunwywb L bwuwgdwih
wfuwunwbpltn

600.0

600.0

wjn pynLd’

1. bwfuwqduyhl upfuwunwlplbn

600.0

600.0

- Lwhuwgdwhbunwgnunwywb dwjuutkn

5134

600.0

600.0

2160

016

Lanhwrn panyph hwapuyha
oswpuymp/ntGabn (wy nwubphl swwnlywan)

350.0

350.0

nphg’

2161

016

Qunhwbnip pOnyeh hwbpwiha swewjnipncbbbp (wyg
nwubnht swywwnywbnn)

350.0

350.0

wjn pynLd’

1. 2hdnLdbbn, hwigwnhdnidabn, nuwnwnpwl

npnpdlbnph b YahrGbph nbu Jbpwpllhs b

YApwpbl pnnnplbn GEpluywallyhu
uwhdwldwd ySwpnidGln

300.0

300.0

- Mwpuwnhp y&wpbkn

4823

300.0

300.0

2. Qnyph Ghundwdp hpwdniGplbnh
qpwilguwl, Qlwhwwndwl L
wbinGywwndnipiwl inpwdwnndwl hbuwn
quwuwdwdé Yswnpnidlbin

50.0

50.0

- Mwpuwnhp y&wnbbn

4823

50.0

50.0

2400

040

SuStGUUvUL <UnurtMNt@3NtFLLEN

34,146.2

30,146.2

4,000.0

wyn pynd”

2420

04| 2

Qniunuinunbunipint b, wlwnwewihl
wlwnbuniginb, dyannpuniginil L
npunpnnugintd

4,000.0

4,000.0

nphg’

2424

04| 2

Nrngntd

4,000.0

4,000.0

wyn pynd”

1. Nenqiwl guil wenignid L

Ybpwanpngmd

4,000.0

4,000.0
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AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ

== % 3 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb 3 = Qnwska

(e £ = nw n

w= 3| 52 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot

a| & nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

- CkGpbnh L 2hGnipynibbbph Yuwwhuwwy yepwbnpngnd (5113 4,000.0 - 4,000.0

2450|104 | 5 | 0 | Spwauwnpn 28,750.0 28,750.0 -
nnhg’

245104 | 5 | 1 |BwlwwwnphwihG tnpwluwnpun 28,750.0 28,750.0 -
wyn pynd”
1. Uupuyin-pbuinnliw  swdlh JEpwlnpngnid 28,750.0 28,750.0 -
L wwhwwlmd
- CkOpbnh L Ywenyglbph ppwghy Gnpngnid L 4251 28,750.0 28,750.0 -
wwhwwbnd

2490|04 | 9 | 0 | SGunbuwlpwl hwpwpbpnpintG06n (wyy 1,396.2 1,396.2 -
nwubpht swunnbwann)
nnphg’

249104 | 9 | 1 |SOnGuwywb hwpwptpnipnLbOtn (wy nwutphb 1,396.2 1,396.2 -
swwuinywbnn)
wyn pyntd”
7. Snqwywiwrlbph ywedwlybnuwnd 85.0 85.0 -
- U)| Swifuubp 4861 85.0 85.0 -
9. Nwnpunwnhp Yswnpbbnh quaddwa 1,311.2 1,311.2 -
SwpwynipintGabn
- UluwwinnnGbph wi2fuwwnwywndbn b 4111 749.2 749.2 -
hwybwJswnpbbn
- COnhwOnep pOnyph wyp SwewynipntGbtbn 4239 562.0 562.0 -

2500(05|0 | O cNrUYU Uuhaudusrh mucsmuunkHe3Ntu 104,884.7 104,884.7 -
wyn pynd”

2510|105 | 1 | O | UnpwhwGnid 76,113.7 76,113.7 -
nnphg’

2511|05| 1 | 1 |UnpwhwOnd 76,113.7 76,113.7 -
wyn pynd”
1. whwiGnugni§ L uwihinwpuwlwa 76,113.7 76,113.7 -
dwpnnmd
- UninLbwy SwewynipNLGlbn 4213 76,113.7 76,113.7 -

2560(05 | 6 | O | Spowlyw dhowuynh wuwpunwwlnigimb (wyy 28,771.0 28,771.0 -
nwubpht swunnbwann)
nnhg’

2561|05| 6 | 1 |[Cpowlyw dhowdwinph wywpwnwwlnignid (wyp nwubphl 28,771.0 28,771.0 -

swwuinywbnn)

wyn pynLd”
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,:,'.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Ywlws tnwnwdplbnh hhdanud b 27,600.0 27,600.0
wwhuwwamd
- UndnLbwy SwewynipNLGlbn 4213 27,600.0 27,600.0
2. Upuwnwhwldw( L dhouwunwqbnddwl 1,171.0 1,171.0
Swewynipin Gabn /nbrwwnhquighw
- UndnLbwy Swew)nipNLGlbn 4213 1,171.0 1,171.0

2600(06| 0 | O pLUYUNULUSKL ChuuPuMNHB3NFL B4 1,137.0 1,137.0

unuNtLUL cunu3ntE3NFLLEN

wyn pyntd’

2660(06 | 6 | O | Phwlwnwluwyhl shawpnwpmpiwl L YndnGuy 1,137.0 1,137.0
owpuymp/ntGG6n (wy nwubphl swwnlywnn)
nnphg’

266106 | 6 | 1 |POwywpwlOwihb zhGwpwpnipjwb L Yndntbwy 1,137.0 1,137.0
Swrwjnipntbltn (w) nwubpht swywwnywbnn)
wjn pynLd’
3. Pwluyhl unwnwdplbph L 1,137.0 1,137.0
Juwnwhpwwwnwllbbinh hhdGwlnpngnid nt
wwhwwlnd
- UntpuhnhwObp ng wyGunwywl (ng hwdw)bpwihb) ng 4521 1,137.0 1,137.0
$hlwlbuwywl YuglwybpwnipntGbeph

2800|080 | O <Uuahus, Uguunt3e 64 urnu 22,4961 22,496.1
wyn pynLd”

2810(08 | 1 | O | <wlquinh L uwynpunh SwowynipniGlbn 4,937 4 4,937.4
nphg’

2811|108 | 1 | 1 |<wlOguunh L uwynpuinh dwrwjnipyntbbbp 4,937.4 4,937.4
wjn pynLd’
1. Uwnpunuyhl dhongwen dGGnh 4,937.4 4,937.4
Ywquwlybnwnd
- COnhwOnep pOnyph wyp SwewynipnLGbEn 4239 4,937.4 4,937.4

2820(08 | 2 | O | Upwlhynipuyhl SwewyniginiGaGn 17,558.7 17,558.7
nphg’

2824108 | 2 | 4 |W dwynipwihb Yuqiwytpwnientbbtn 17,558.7 17,558.7
wjn pynLd’
1. Vpwlynipuyhl dhonguirntdabph 17,558.7| 17,568.7
hnwlwlwagnid
- COnhwOnip pOnyph wyp SwewynipnLGbEn 4239 17,558.7 17,558.7

2900|090 | O urBNH33NtL 197,975.2 197,975.2

wjn pynLd’
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

,:,'.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot

a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

2910(09 | 1 | O | bwfuwnwpngwlywl L wtnwppwlywl panhwamn 124,350.0 124,350.0 -
Upprupinil
nnphg’

291109 | 1 | 1 |Lwuwnwnpngwywl Yppnepntl 124,350.0 124,350.0 -
wyn pynLd”
1. bwfuwnupngulwa munignd 124,350.0 124,350.0 -
- Unipuhnhwttp ng $howluwywl ybnwywh 4511 124,350.0 124,350.0 -
(hwdwybopwihb) Yugqdwytnpwnipntbbtph

2950(09 | 5 | O | Luwn dwlwnnwlbbnh snwuwlwngynn 73,625.2 73,625.2 -
UppnupiniG
nnhg’

2951109 | 5 | 1 |Upunwnwnngwwl nwunhwpwynepjntl 73,625.2 73,625.2 -
wyn pynd”
1. Unuinwnuwpngwlwl nwutinhwpuwlynipini 73,625.2 73,625.2 -
- Untpuhnhwbn ng $h0wbuwywb yeunwywh 4511 73,625.2 73,625.2 -
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

3000(10|0 | O unshuLuyuu nucsMULNHE3NFL 29,752.9 29,752.9 -
wyn pynLd”

3070|10 | 7 | O | Unghwywlwl hwnnely wpunnbnygin GaGn (wyy 10,570.0 10,570.0 -
nwubpht swunnbwann)
nnphg’

307110 | 7 | 1 |Unghwjwywl hwwunnty wpunnbnegintGben (wyp 10,570.0 10,570.0 -
nwubphb swywwnywbnn)
wyn pynd”
1. Unghwywwbu wawwwhny plunwlhpabnh 200.0 200.0 -
Gpbfuwlbnh hwaqunh Yuwqdwlbnwnd
- COnhwOnep pOnyph wyp SwewynipyntGbtn 4239 200.0 200.0 -
2. <wpwquin smGbgnn wadwbg b 1,200.0 1,200.0 -
unghuwywwbu wiwwwhny pGuwbhplbnh
hwdwn hnwnwiplpwydnpnegrwG yuqowlybpuned
- COnhwOnip pOnyph wyp SwewynipNLGbEn 4239 1,200.0 1,200.0 -
3. Unghuywuwbu whwuwwhny pGunwlhplbnhl 4,290.0 4,290.0 -
winbuwlywl L hfpwunwlyh opbphl wowlgnipint o
- UGhgwnuwyhb L hwbpuwihG uGGnh Gjnuebp 4267 4,290.0 4,290.0 -
4. Unghuywubiu wiwwwhny widwlg 4,880.0 4,880.0 -
wowlgnipin
- W bwwuwnltn pjnietihg 4729 4,880.0 4,880.0 -

3090(10 | 9 | O | Unghwywlwl wwpuwnwywlnipintb (wyy 19,182.9 19,182.9 -

nwubnphl swyuwnlywlng)

nphg’
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8
3091(10| 9 | 1 |Unghwjwywl wwwnwwbnientlb (w) nwukphl 10,860.9 10,860.9
swwuinywbnn)
wyn pynd”
1. Unghwywlw oqlnipiwl swewynipintGabnh 10,860.9 10,860.9
aqnnonLGbnpiwl Ywqdwlybnuwm d
wwnyhpwlywo (hwgnpnipini G4k,
- Upfuwwnnnl6ph wfuwwnwywndbp b 4111 10,563.9 10,563.9
hwyblwyLwnbtn
- Ywwh dwrwnieyntbbbn 4214 1171 1171
- Qpwubywyuwihb Gnipkp L hwgniuwn 4261 120.0 120.0
- UGagwnuwyhb L hwbpuwihG uGGnh GNP 4267 59.9 59.9
309210 | 9 | 2 |Unghwjwywl wwunwwbnipjwbp tnpwdwnpynn, 8,322.0 8,322.0
odwlnwy Swrwjntpntbl6n (w) nwutphG
swwinywbnn)
wjn pynLd’
2. Upnnonipwl wuwhndwannipint 8,322.0 8,322.0
- Uywhnwgpwywb dwfuubp 4215 8,322.0 8,322.0
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Lwyblyws N 7
Gnlwl pwnwph wywgubnt

2018 pwlwbh nbyunbdptph 25- h

N 47-U npndw
Unyntuwy 11

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
LAFAUNUGEL YUuM2UuUL cNrULh Uuund

(hwquin npwdaénng)

= =l a Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®

ez |3 g pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap

D'.:J Z 2| g =2 pinobnwhl dwiuutinh tnbnbuwghunwywh = Jwpswywb pngt | $nlnwyhl pniot

a| 2" nwuwlwngiwl hnnwsttph  wowanuittpp =
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 429,888.7 392,888.7 37,000.0
2100(01|0 | O ouacuLNeN ALNE3BH <ULNU3hL 137,729.7 136,229.7 1,500.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 136,229.7 135,729.7 500.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wpunwphl hwpwpbnpnigindGGGn
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 136,229.7 135,729.7 500.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 136,229.7 135,729.7 500.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 93,493.0 93,493.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 29,986.3 29,986.3 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 1,700.0 1,700.0 -
- Undntbwy SwewjnipnLbltn 4213 240.0 240.0 -
- Ywuwh dwrwjnipntbobn 4214 2,036.0 2,036.0 -
- Uwywhnjwagpwywb dwluubp 4215 150.0 150.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 1,000.0 1,000.0 -
- <wiwywngswihb swrewjnipntbOtn 4232 123.0 123.0 -
- StntYwwnywywb swewynipntGbtn 4234 30.0 30.0 -
- Ubpyuwjwgnigswlwb dwfuubn 4237 350.0 350.0 -
- UbptOwlGnh L uwppwdnpniuibbph pbpwghy 4252 1,400.0 1,400.0 -
Gnpngnid L wwhwwbned
- QpuiubOywywhb Gjnebin L hwagniun 4261 987.0 987.0 -
- Spwluwnpuwjhb Gjneptin 4264 3,174.4 3,174.4 -
- UGagwnuwyhO L hwbpuwihG uGGnh GNP 4267 100.0 100.0 -
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Ml
Pwdhi
haniip

annh
M

AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb
pwdhbbnh, fudptph L nwutph, hoswbu Gwb
pintoGinwhb swfuutph nbwnGuwghunwywb

nwuwywngiwb hnnjwdébbph - wadwbniibbpp

wjn pYntd”

QOnwdklp

Jwnswywl pjniob

Pnlnwyhb pynieb

=N

N
w

N

5

- Mwpuwnhp y&wnbbn

80.0

80.0

- Uy 6wfuubp

880.0

880.0

- Ywnswywb uwnppwynpniibbp

500.0

500.0

2150

015

Lanhwarn panyph hwanpwhl
owpuympintbb6ph gony hunwgnunwlyw b
Owfuwqbuyht wpfuwnwbplbn

1,000.0

1,000.0

nphg’

2151

015

COnhwnip pOnyph hwOpwihb dwrewjnipntbbBph
gény htlnwgnunwywb L bwuwagdwih
wfuwunwbpltn

1,000.0

1,000.0

wjn pynLd’

1. bwfuwqduyhl wipfuwunwaplbn

1,000.0

1,000.0

- Lwuwgdwhbunwgnunwywb swiuubp

5134

1,000.0

1,000.0

2160

016

Lanhwlmn panyph hwapwha
owpuymp/ntGG6n (wy nwubphl swwnlywnn)

500.0

500.0

nphg’

2161

016

Lanhwnip pOnyph hwipwihb SwrwnipintbbEn (wy|
nwubnht swywwnywbnn)

500.0

500.0

wjn pynLd’

1. 2hdnidlbn, hwiqwnhdnidabp, nuwnwpwl

npnpdl6ph b YahrGbph nbu Jbpwplhs b

YApwpbl pnnnplbn GEpluywallyhu
uwhdwldwd yZwpnidGbn

200.0

200.0

- Mwpuwnhp y&wpbkn

4823

200.0

200.0

2. Qnyph Gundwdp hpwdniGplbnh
qpwiguwl, Qhwhwwndwl L
wtinGywwndnipiwl wnpwdwnndwl hbuwn
Quwdwd yYswpnidbbin

300.0

300.0

- Mwpuwnhp y&wnbbn

4823

300.0

300.0

2200

020

nuUSSMULNEB3NEL

500.0

500.0

wyn pyntd”

2250

025

Nupunywlnpintb (wy nuubnha swwuinlwinn)

500.0

500.0

nphg’

2251

025

MNwunwwbnpintl (w) nwubphb swwwnywlnn)

500.0

500.0

wyn pynd”

1. 2htwwwpunbbnh hupywedwl, gnpwlynsh,
gnpwhwywph b Jundwlwl hwdwplbnh
YuwaqdwlbnwdwGl wowlgnipin o

500.0

500.0

- DOnhwOnip panyph wy) SwrwjnipnLbGtp

4239

500.0

500.0
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,::.::, Z 3| g =2 pintoGinwhb swfuutph nbwnGuwghunwywb CF Jwnswywlb pnet | dnlnwjhb piniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 12 |3 |4 5 6 7 8

2400 |04 0 SULSGUUUUUL <UnurtMnNtE3NFLLEN 24,692.3 24,192.3 500.0
wyn pyntd”

2450|104 | 5 | 0 | Spwauuwnpun 23,500.0 23,000.0 500.0
nnphg’

2451|104 | 5 | 1 |SwlOwwwnphwihb tnpwbuwnpun 23,000.0 23,000.0 -
wjn pynLd’
1. Uupuyin-pbuinnliu  dwdlh JEpwlbnpngnid 23,000.0 23,000.0 -
L wwhwwand
- Ghlptnh L Ywenygltph pGpwghy Gnpngned L 4251 23,000.0 23,000.0 -
wwhwwbnd

245504 | 5 | 5 |lunnndwywwnpwhb L wy; tnpwluwnpun 500.0 - 500.0
wyn pynd”
1. Ybpbjwlabnh hhdawanpnqnid 500.0 - 500.0
- Uy ubptOwlbn L uwppwynpnidtbp 5129 500.0 - 500.0

2490|104 | 9 | O | Swnbuwlwl hwpwpbpnuginiGatn (wy 1,192.3 1,192.3 -
nwubnhl swuwnlywinn)
nnphg’

249104 | 9 | 1 |SOnGuwywb hwpwpbpnipntGOtn (wy, nwutphb 1,192.3 1,192.3 -
swwuinywbnn)
wyn pynd”
7. SnGwywdwrlbnph Yuqdwlbnwmd 85.0 85.0 -
- Uj 6wfuubp 4861 85.0 85.0 -
9. Nwpunwnhp Yswnpbbph quaddwa 1,107.3 1,107.3 -
Swpwynipint Gabn
- Upjuwunnnbbnh wluwunwywpdbn L 4111 632.8 632.8 -
hwybwJdwnpbtn
- COnhwOnip panyph wy| SwrwjnipnLbO6p 4239 474.5 474.5 -

2500(05|0 | 0 cNRUYU UuhudusNh mucsMULNH33NFL 52,527.5 52,527.5 -
wyn pynd”

2510(05 | 1 | O | Unpwhwlm 22,527.5 22,527.5 -
nnphg’

2511(05| 1 | 1 |UnpwhwOnLd 22,527.5 22,527.5 -
wjn pynLd’
1. Unpwhwlmpin b b uwlhuwnwlwa 22,627.5 22,627.5 -
dJwppmd
- Undntbwy Swewjnipntbbtn 4213 22,527.5 22,527.5 -
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

256005 0 | Cpgwlw dhgwiuynh wwpwnwwlnigini (wyy 30,000.0 30,000.0 -
nwubpht swunnbwann)
nnphg’

2561|05| 6 | 1 |[Cpowlyw dhowdwinph wywwnwwbnignid (wyp nwubphl 30,000.0 30,000.0 -
swwuinywbnn)
wyn pyntd”
1. Ywlwys tnwnwdplbnh hhoGnid L 30,000.0 30,000.0 -
wwhuwwbmd
- Undntbwy SwewjnipnLbltn 4213 30,000.0 30,000.0 -

2600(06| 0 | O pLUYUNULUSKL ChuuPuMNHB3NFL B4 50,230.0 15,230.0 35,000.0

LUNUNFLUL dunu3nk@3NtuutN

wjn pynLd’

2660(06 | 6 | O | Phwlwnwluyhl shawnwpmpwl b ndnGuy 50,230.0 15,230.0 35,000.0
owpuymp/ntaabn (wy nwubphl swwnlywang)
nphg’

2661(06 | 6 | 1 |ROwywpwlwihb 2hOwpwpnipjwb L Yndntbuy 50,230.0 15,230.0 35,000.0
Swrwjnipntbbtn (w) nwubphb swywwnywbnn)
wjn pynLd’
2. Pwquwplwlwnwl 2EGplnh plip 16,500.0 - 16,500.0
wnwGhplbnh Ybpwlnpngnid
- GOptnh L 2hGnipyntGbEph Yuwwhuwwy yepwbnpngnud {5113 16,500.0 - 16,500.0
3. Pwluyhl unwnwdplbph L 20,430.0 1,930.0 18,500.0
Juwnwhpwuwwnwllbbinh hhdGwanpngnid nt
wwhwwlnd
- UntpuhnhwObp ng wGunwywl (ng hwdwjbpwihb) ng 4521 1,930.0 1,930.0 -
$Shlwluwywl YuglwybpwnipntGbeph
- CkGpbnh L 2hGnipynibbbph Yuwwhuwwy yepwbnpngnd (5113 17,000.0 - 17,000.0
- Wy dbpGOwlEn L uwppwynpnidbtn 5129 1,500.0 - 1,500.0
4. Pwquwplwlpunwl p60p6nph pwpblwnqlwl 13,300.0 13,300.0 -
wyy wpfuwunwlplbin
- CkOpbnh L Ywenyglbph pGpwghy Gnpngnid L 4251 12,500.0 12,500.0 -
wwhwwbny
- UntpuhnhwObn ny wbnwywb (ng hwidw)bpwyhb) ng 4521 800.0 800.0 -
Shlwluwywb Yuwgiwytpwnipntbtnpha

2800|080 | O <Uuanus, ucuunt3m@ 4 urnu 15,073.8 15,073.8 -
wyn pynLd”

2810(08 | 1 | O | <wlguunph L uwnmunh Swewynig/niGoGn 2,350.0 2,350.0 -
nnhg’

281108 | 1 | 1 |<wlguunh L uwynpuinh Swrewnipyntbbbp 2,350.0 2,350.0 -

wyn pynd”
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,::.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. Uwnpunuyh dhgngwpnidabnh 2,350.0 2,350.0
Ywaqdwlbpnund
- COnhwOnep pOnyph wyp SwewynipntGbbn 4239 2,350.0 2,350.0

2820|108 | 2 | O | Vpwlnipuyhl SwrewyniyginiGabn 12,723.8 12,723.8
nnphg’

2821(08 | 2 | 1 |Qpwnwpwaabp 5,823.8 5,823.8
wyn pynd”
1. QpuinwpwluwihG dwewjnigintGabn 5823.8 5,823.8
- UntpuhnhwGbn ng $hwbuwywb yeunwywh 4511 5,823.8 5,823.8
(hwdwyopwihb) Yuqdwytnwnipntbbtphb

2824108 | 2 | 4 |Wy Gawynipwihb Yugiwytnwnipntbbbp 6,900.0 6,900.0
wyn pynd”
1. Vpwlnipuyhl dhonguwentdabnh 6,900.0 6,900.0
hnwlywlwgnid
- COnhwOnip panyph wy| SwewjnipynLbGtp 4239 6,900.0 6,900.0

2900|090 | O urENHa3NtL 128,916.9 128,916.9
wyn pynLd’

2910(09 | 1 | O | bwfuwnwpngwlwl L wnwuppwlwa ponhwlnn 45,330.0 45,330.0
UppnupinG
nnphg’

291109 | 1 | 1 |Lwwnwpngwywb Ynppnipntl 45,330.0 45,330.0
wyn pyntd”
1. bwfuwnupngulwa munignd 45,330.0 45,330.0
- Untpuhnhwtn ng $howluwywb wybEinwywb 4511 45,330.0 45,330.0
(hwiw)bpwjhb) YuglwytpwnipntGbepha

2950(09 | 5 | O | Luwn dwlwpnwlbbnh snwuwlwngynn 83,586.9 83,586.9
Ynpnipinia
nnphg’

2951109 | 5 | 1 |Upunwnwnngwwl nwunhwpwynepjntl 83,586.9 83,586.9
wyn pyntd”
1. Unuinwinuwpngwlwl nwunhwpuwlnieini g 83,686.9 83,586.9
- Untpuhnhwtp ng $howluwywl wybEinwywb 4511 83,586.9 83,586.9
(hwiw)bpwjhb) YuwglwytpwnipntGbephG

3000(10|0 | O unshuLuuuu MucsMuULNHE@3NEL 20,218.5 20,218.5
wyn pynLd”

3070|10 | 7 | O | Unghuwywlywl hwennely wpunnbnygim GGEp (wyy 5,100.0 5,100.0
nwubpht swunnbwann)
nnphg’

123




= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
Sz =23 2 pwdhbGbph, fudptph L nwubph, hoswtu Gwl —_|3‘ = DOnwikap
w £ 3| E|E pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9
307110 | 7 | 1 |Unghwjwywl hwwnnty wpunnbnegintGben (wyy 5,100.0 5,100.0
nwubnht swywwnywbnn)
wyn pynd”
1. Unghwywuwbu wawwwhny plunwbhpabnh 200.0 200.0
Enbluwabnh hwaquwnh Yuwqdwlbnwmd
- Qnyph L uwppwynpnidbbph yupédwywintpyntl 4216 200.0 200.0
2. <wnwquin smGbgnn wadwbg b 700.0 700.0
unghuywuwbu wowwwhny pGunwbhplbnh
hwdwn hnunwiplpwynpnprwa yuwqowlbnun b
- COnhwOnip pOnyph wyp SwewjnipNLGbOEn 4239 700.0 700.0
3. Unghuywuwbu wowuwwhnyd pGunwlhplbnhl 1,800.0 1,800.0
uinbulywlb b hhpunwyh opbinhl wowlygnipini
- UagwnuwyhO L hwbpwihG uGGnh Gjnuebp 4267 1,800.0 1,800.0
4. Unghuwywuwbu wiwwwhny widwlg 2,400.0 2,400.0
wowlgnipini
- COnhwOntp pOnyph wyp SwewynipnLGbEn 4239 2,400.0 2,400.0
3090(10 | 9 | O | Unghwywlwl wwpwnwwlnigintb (wyy 15,118.5 15,118.5
nwubnphl swuwnlywinn)
nnphg’
309110 | 9 | 1 |Unghwjwywl wwunwwbnipyntb (wy nwukphb 10,672.5 10,672.5
swwinywbnn)
wjn pynLd’
1. Unghuwywlwl oglnipgiwl swewynigintGatnh 10,672.5 10,672.5
qnpénLbbinypwl Ywqlwlbnwmd
(Wuwwnyhpwldwd (hwqnpnipin GG6n)
- Upjuwuwnnnbbph wluwunwywpdbn L 4111 10,421.0 10,421.0
hwybwJswnbbn
- Ywuwh dwrwjnipntbobn 4214 69.8 69.8
- Qpuiubywywhb Gjnpbin L hwgniun 4261 181.7 181.7
309210 | 9 | 2 |Unghwjwlwl wwpwnwwbnigjwbp tnpwdwnnynn 4,446.0 4,446.0
odwlnwy Swrwjnipjntbltn (w) nwutnphG
swwuinywbnn)
wyn pynLd”
2. Upnnonipjwl wujwhnywannipin 4,446.0 4,446.0
- Uwywhnjwagpwywb dwfuubp 4215 4,446.0 4,446.0
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Lwyblyws N 7
Gnlwl pwnwph wywgubnt
2018 pwlwbh nbyunbdptph 25- h
N 47-U npndw
Unyntuwy 12

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
cGuaudh@ JyuNruUY4YUL crUuLh vuuny

(hwquin npwdaénng)

= =l a Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®

ez |3 g pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap

D'.:J =l 2 E ,:4 pinobnwhl dwiuutinh tnbnbuwghunwywh = = Junswywb pniet | dnlnwyhb pniob

= nwuwywngiwb hnnwdébeph wodwbniibtpp e
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 3,042,183.9 2,901,983.9 140,200.0
2100(01|0 | O ouacuLNeN ALNE3BH <ULNU3hL 514,567.1 511,417.1 3,150.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 493,446.3 492,446.3 1,000.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wpunwphl hwpwpbnpnigindGGGn
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 493,446.3 492,446.3 1,000.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 493,446.3 492,446.3 1,000.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 334,795.0 334,795.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 107,370.4 107,370.4 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 13,635.7 13,635.7 -
- Undntbwy SwewjnipnLbltn 4213 1,513.8 1,513.8 -
- Ywuwh dwrwjnipntbobn 4214 9,181.8 9,181.8 -
- Uwywhnjwagpwywb dwluubp 4215 208.0 208.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 1,000.0 1,000.0 -
- <wiwywngswihb swrewjnipntbOtn 4232 438.0 438.0 -
- StntYwwnywywb swewynipntGbtn 4234 550.0 550.0 -
- Ubpyuwjwgnigswlwb dwfuubn 4237 1,000.0 1,000.0 -
- Uwulwghunwywb swrewjnipntbGbtn 4241 437.7 437.7 -
- UbptOwlGnh L uwppwdnpnuibbph pbpwghy 4252 4,156.6 4,156.6 -
Gnpngnid L wwhwwbned
- Qpuiubywywhb Gynebin L hwagniun 4261 3,334.0 3,334.0 -
- Spwluwnpuwyhb OjnLpbp 4264 11,075.3 11,075.3 -
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8

- UGOagwnuwyhO L hwbpwyhG uGGnh Gnuebp 4267 1,500.0 1,500.0 -
- Mwpwwnhp y&wpatbp 4823 250.0 250.0 -
- Uy 6wfuubp 4861 2,000.0 2,000.0 -
- Ywnswywb uwnppwynpniibbp 5122 1,000.0 - 1,000.0

2130(01 | 3 | O | Lanhwanin plnuph dwrwynipintGG6n 11,170.8 11,170.8 -
nnphg’

213101 | 3 | 1 |Uzluwwnwywqdh /Yunnpbnh/ gény pGnhwbnip plnyph 11,170.8 11,170.8 -
Swrw)nipnLblbn
wyn pynd”
1. Punwpwghwlwa uwagnipgiuwl winbnh 11,170.8 11,170.8 -
qnuilguiwl swpwinip/wl gnpdntGbntpiwl

wqdwlbnwnd (wuwunyppwldwds

(hwagnnnipini Ga6n)
- UWluwwnnnGbph wifuwnwywndbn b 4111 10,310.9 10,310.9 -
hwybwdswnbtn
- EbGpgGwnhy Swrwnipyntbbbn 4212 645.8 645.8 -
- Undntbwy SwewjnipnLbltn 4213 30.0 30.0 -
- bYwwh SwrewjnipyntGObn 4214 88.0 88.0 -
- QpuiubOywyuwihb Gjnebin L hwagniun 4261 76.1 76.1 -
- Mwpwwnhp y&wpatbp 4823 20.0 20.0 -

2150|01 | 6 | O | Lanhwanin pGnyph hwapuwyhl 2,150.0 - 2,150.0
owpuympintGG6ph gony hunwgnunwlywl b
Guwfuwqbuyhll wpfuwwnwlpltn
nnphg’

2151|101 | 5 | 1 |CGnhwGntp pGnyph hwOpwih( dwewjnipNLGGEph 2,150.0 - 2,150.0
g6ny htnmwgnunwyw L bwuwgdwjh
wfuwwnwbpltn
wjn pynLd’
1. bwfuwqdunyhl wipfuwunwlplbn 2,150.0 - 2,150.0
- Lwfuwgéwhbunwgnunwwb dwfuukn 5134 2,150.0 - 2,150.0

2160|01 | 6 | O | Lanhwhnin plnyph hwapwyhl 7,800.0 7,800.0 -
dwpuyntpntGo6n (wy nwubphl swuwanlywlng)
nnphg’

2161|01| 6 | 1 |CUnhwGnip pGnyph hwOpwih( swewynipINLGGEN (wy| 7,800.0 7,800.0 -
nwubphb swywwnlwbnn)
wjn pynLd’
1. Fhdndlbn, hwigwnhdnidGbn, nuwunwpwih 1,800.0 1,800.0 -
npnpnLdlbph L Ysphratnh nbd Jbpwpllhs b
YApwpbily pnnnplGbn Gbphuywalbihu
uwhiwldwd Jswnpnidobn
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
D'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

- Mwpwwnhp y&wpatbp 4823 1,800.0 1,800.0 -
2. Qnuph Glunndwdp ppwyni Gplt, 6,000.0 6,000.0 -
qnwiquwl, quwhwundwl L
wnbnbywwnynipiwl wnpwdwnndwl hun
Yuwwywd Yaswnnidobn
- Uwulwghunwywb swrewjnipintbGbtn 4241 3,000.0 3,000.0 -
- Mwpuwnhp y&wpbkn 4823 3,000.0 3,000.0 -

2200|020 | O nUCSMULNHB3NEL 2,000.0 2,000.0 -
wyn pynLd”

2250(02 | 5 | O | Duppwnwwilbnein b (wyy nwubnhl swwuinlywinn) 2,000.0 2,000.0 -
nnhg’

2251102 | 5 | 1 |Mwunwwbnipntb (wy nwubphb suywwnyuwbnn) 2,000.0 2,000.0 -
wyn pynd”
1. 2hGwwwmnlbnh hwpdwedwd, gnpwinsh, 2,000.0 2,000.0 -
gnpwhwywph b Jundwlwl hwywplbbnh
Ywqdwlybpwdwal wowlgnipint g
- Qnyph L uwppwynpnidbeph yupédwywintpyntl 4216 1,500.0 1,500.0 -
- Spwluwnnpuwyhb Gnetin 4264 500.0 500.0 -

2400(04|0 | O SuStBUULUL <UrurtM,NHB3NFLLEN 93,229.0 90,729.0 2,500.0
wyn pynLd”

2450(04 | 5 | O | Spwauwniun 75,000.0 72,500.0 2,500.0
nnhg’

245104 | 5 | 1 |BwlwwwnphwihG tnpwluwnpun 72,500.0 72,500.0 -
wyn pyntd”
1. Uupuywn-pbinnlyw Swo Gpwnpngmid 57,600.0 57,500.0 -
L wwhwwanid
- CkGpbnh L Ywenyglbph ppwghy Gnpngnid L 4251 57,500.0 57,500.0 -
wwhwwbnd
3. Ggnwpwnbnh Yepwlnpngmd 10,000.0 10,000.0 -
- CkOpbnh L Ywenyglbph pGpwghy Gnpngnid L 4251 10,000.0 10,000.0 -
wwhwwbnd
5. <Guinhnuinl wilgntdlbnh ywenignd L 5,000.0 5,000.0 -
Ybpwanpngmd
- GOptnh L Ywrenygbbph pbpwghy Gnpngnid L 4251 5,000.0 5,000.0 -
wwhwwntd

2455|104 | 5 | 5 |lunnndwywwpwihO b w), tnpwluwynpun 2,500.0 - 2,500.0

wjn pynLd’
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
D'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8

1. Ybpbjwlabnh hhdGwlnpnqnid 2,600.0 - 2,500.0
- Uj) dbpbOwabn b uwppwynpnidbn 5129 2,500.0 - 2,500.0

2490|104 | 9 | O | Stunbuwlpwl hwpwpbpmpinGa6n (wy 18,229.0 18,229.0 -
nwubpha swuwanwann)
nnphg’

249104 | 9 | 1 |SOnGuwywb hwpwpbpnipnLbOtn (wy nwutphb 18,229.0 18,229.0 -
swwuinywbnn)
wyn pynd”
7. Sniwywiwrtbnh ywedwlybnuwm b 85.0 85.0 -
- Uj| Swifuubp 4861 85.0 85.0 -
9. Nwpunwnhp Yswnbbnh quaddwa 18,144.0 18,144.0 -
Swpwynipin Gabn
- WluwwinnnGbph wifuwnwywndbn b 4111 10,368.0 10,368.0 -
hwybwdsdwnpbtn
- Lyhpwwnynipyntbbtn wy) 2whniyp shGunwwlnnn 4819 7,776.0 7,776.0 -
Ywqiwytnpwnipynttbphb

2500(05|0 | O cNRUYU UhudusNh mucsSMULNH33NFL 595,337.3 595,337.3 -
wyn pynd”

2510|105 | 1 | O | UnpwhwGnid 464,337.3 464,337.3 -
nnhg’

2511|05| 1 | 1 |UnpwhwOnd 464,337.3 464,337.3 -
wyn pynLd”
7. whwGnugntd L vwihunwpuwlwa 464,337.3 464,337.3 -
dwpnnmd
- Undntbwy SwewjnipnLbltn 4213 464,337.3 464,337.3 -

2560(05 | 6 | O | Spowlyw dhowyuynh wuwpunwwlniginl (wyy 131,000.0 131,000.0 -
nwubpht swunnywann)
nnphg’

2561|05| 6 | 1 |Cpowlyw dhowdwinph wywwnwwbnignid (wyp nwubphl 131,000.0 131,000.0 -
swwuinywbnn)
wyn pyned”
1. Ywows wnwnwdplbnh hhoGnid L 124,500.0 124,500.0 -
wwhuwwlmd
- UndnLbwy SwrwynipNLGlEn 4213 124,500.0 124,500.0 -
2. Uluwnwhwldw L dhounnwqbnddwl 5,000.0 5,000.0 -
Swipwynipim Go6n /nbpuinhquighw
- UndnLbwy SwrwynipNLGlEn 4213 5,000.0 5,000.0 -
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Ml
Pwdhi
haniip

annh
M

AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb
pwdhbbnh, fudptph L nwutph, hoswbu Gwb
pintoGinwhb swfuutph nbwnGuwghunwywb

nwuwywngiwb hnnjwdébbph - wadwbniibbpp

QOnwdklp

wjn pYntd”

Jwnswywl pjniob

Pnlnwyhb pynieb

=N

N

w

N

5

o Annwdh
MM

3. Swuwpwlywlwl gniqunwabbnh
wwhwwamd b Y6pnwanpngmid

1,600.0

1,500.0

- UndnLbwy SwewynipNLGlbn

4213

1,500.0

1,500.0

2600

06

pLUYUNULUSHL ChuuruNrnt@3ntu Gy
ynUNFLUL cunusnt@3ntuuN

255,520.0

120,970.0

134,550.0

wyn pyntd”

2640

06

@nnnglbbnh jmuwynpmd

9,000.0

2,000.0

7,000.0

nphg’

2641

06

Onnnglbph (nLuwynpnid

9,000.0

2,000.0

7,000.0

wyn pynd”

1. Upunwphl inruwdnpnugiuwl guiligh
hhdGwanpngmd

9,000.0

2,000.0

7,000.0

- CGptiph L Ywrenygbbph popwghy Gnpngnid L
wwhwwbnd

4251

2,000.0

2,000.0

- CtGptph L 2hbnipyntGGEph Ywrenignid

5112

7,000.0

7,000.0

2660

06

Phwlwpwluyhl hawpwpnipgywl L §ndneGuy
owpuympintGa6n (wy nwubphl swuwnlywonm)

246,520.0

118,970.0

127,550.0

nphg’

2661

06

POwywpwbwihb zhGwpwpnepjwb L Yndntbwy
Swrwjnipntbltn (w) nwubphG swywwnywbnn)

246,520.0

118,970.0

127,550.0

wjn pynLd’

1. Pwquwplwlwnw 66pbph hwpp
wnwhhplbt, Gpwanpngnid

11,500.0

11,500.0

- GOptnh L Ywrnygbbph popwghy Gnpngnid L
wwhwwntd

4251

11,500.0

11,500.0

2. Pwquuwplulwnwl p6Gpbnh pbp
wnwahplt Gnwlnpngnid

17,650.0

17,550.0

- GOptnh L 2hbnipyntGGEph Yuwwhwwy yepwbnpngnid

5113

17,550.0

17,550.0

3. Pwlunhl unwunwdplbnh L
[uwnwhpwwwpwlGbnh hhdGuwlnpngnid ni

wwhwwlnid

137,270.0

27,270.0

110,000.0

- UntpuhnhwObn ny wbunwywb (ng hwidw)bpwyhb) ng
Shlwluwywb Ywgiwytpwnipntbtpha

4521

27,270.0

27,270.0

- GGptiph L 2hbnipyntGbEph Yuwhuwwy yepwbnpngnid

5113

110,000.0

110,000.0

4. Pwqdwplwlwnwl 260pbnh pwnbywnqdwl
wyy wyfuwunwOplbn

77,200.0

77,200.0

- GOptiph L Ywrenygbbph popwghy Gnpngnid L
wwhwwbnd

4251

77,200.0

77,200.0

8. Ypwnuyhl wwupqudplbnh Gnpngrtd

3,000.0

3,000.0
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1 12 |3 |4 5 6 7 8 9

- Ghbptiph L Ywrenygbbph popwghy Gnpngnid L 4251 3,000.0 3,000.0
wwhwwbny

2800|080 | O <Uuanus, ucuunt3sme 4y urnu 188,888.8 188,888.8
wyn pyned”

2810(08 | 1 | O | <wlgquuinph L uwnpunh Swewynuyeg/nGobGn 3,000.0 3,000.0
nnphg’

2811108 | 1 | 1 |<wGguunh L uwynpunh SwrwjnipntGGbn 3,000.0 3,000.0
wyn pyntd’
1. Uwynpunuwiha dhongwpnidabnh 3,000.0 3,000.0
Ywqdwlbpuinid
- DOnhwbnip panyph wy) SwrwjnipnLbGtp 4239 3,000.0 3,000.0

2820(08 | 2 | O | Upwlhnipuyhl SwewiniyginiGabn 185,888.8 185,888.8
nnphg’

2821(08| 2 | 1 |Qpwnwpwblbn 39,402.9 39,402.9
wjn pynLd’
1. Qpuinwpwluyhl SwewinipinGabn 39,402.9 39,402.9
- Untpuhnhwtn ng $howluwywl wybEinwywb 4511 39,402.9 39,402.9
(hwiw)bpwjhb) YuglwytpwnipntGbephG

2823|108 | 2 | 3 |Uwynyph wnbkp, wynitdpltp, Yehupnblep 109,985.9 109,985.9
wjn pynLd’
1. <wduylGpuyhl dywlynyph b wquin dwiwlgh 109,985.9 109,985.9
Ywquwlbnwnd
- Untpuhnhwtp ng $hbwbuwywb wybnwywb 4511 109,985.9 109,985.9
(hwdwybopwihb) Yuqdwytnwnipntbbphb

2824|108 | 2 | 4 |W dawynipwihb Yugdwytnwnipntbbbp 36,500.0 36,500.0
wyn pynd”
1. Vpwlnipuyhl dhonguwentdabnh 36,500.0 36,500.0
hnwlywlwgnid
- COnhwbnip panyph wy| SwrwjnipynLbGtp 4239 36,500.0 36,500.0

2900(09|0 | O urENHa3NtL 1,277,836.0 1,277,836.0
wyn pynLd”

2910(09 | 1 | O | bwfuwnuypngwlywl b wnwppwlwl plnhwann 960,780.0 960,780.0
Ynprgym
nnphg’

2911(09| 1 | 1 |Lwuwnwpngwywb Yppnipntl 960,780.0 960,780.0

wyn pynLd”
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

1. bwuwnupngulwa munigmd 960,780.0 960,780.0
- Unipuhnhwttp ng $howluwywl wybnwywh 4511 960,780.0 960,780.0
(hwdwjpwihb) Yugqdwytnwnipntbbtph

2950(09 | 5 | O | Luwn dwlwnnwlbbnh snwuwlwngynn 317,056.0 317,056.0
Uppnupini
nnphg’

2951109 | 5 | 1 |Upunwnwnngwwl nwunhwpwynepintl 317,056.0 317,056.0
wyn pynd”
1. Unuinwnuwpngwlwl nwutnhwpuwlynipin G 317,056.0 317,056.0
- Untpuhnhwttp ng $howluwywl wybnwywh 4511 317,056.0 317,056.0
(hwdwyopwihb) Yuqdwytnpwnigntbbtph

3000(10|0 | O unshuLuuuu MUucsMuULNHEB3NEL 114,805.7 114,805.7
wyn pynd”

3070|10 | 7 | O | Unghwywlwl hwnnely wpunnbnuyginiGaGn (wyy 40,675.0 40,675.0
nwubpht swunnwann)
nnphg’

307110 | 7 | 1 |Unghwjwywl hwwunnty wpunnbnegyntGben (wyy 40,675.0 40,675.0
nwubnht swywwnywbnn)
wyn pyned”
1. Unghwywwbu wawwwhny plunwlhplbnh 1,000.0 1,000.0
Gnbluwbph hwaqunh Yuwqowlbnwnd
- Qnyph L uwppwynpnuibbph Jupédwwinipnita 4216 1,000.0 1,000.0
2. <wpwquin snGbgnn wadwag b 4,375.0 4,375.0
unghuwywwbu wiwwwhny pGuwahplbnh
hwdwn hupwiplpwynpniewa yuwqdwlbpunid
- COnhwOnep pOnyph wyp SwewynipNLGbEn 4239 4,375.0 4,375.0
3. Unghuwywwbu wiwwwhny plunwlhplbnhla 28,000.0 28,000.0
winGuwlwl L hfpuwunwlh opbphl wowlgnipinta
- COnhwOnep pOnyph wyp SwewynipnLGbEn 4239 4,200.0 4,200.0
- UGagwnuwyhb L hwbpuwihG uGGnh GNP 4267 19,800.0 19,800.0
- W bwwuwnltp pjnigtihg 4729 4,000.0 4,000.0
4. Unghuywubiu wiwwwhny widwlg 7,300.0 7,300.0
wowlgnipin
- Qnyph L uwppwynpnibeph Jupédwwinipnta 4216 500.0 500.0
- W bwywuwnltn pjnietihg 4729 6,800.0 6,800.0

3090(10 | 9 | O | Unghwywlwl wwpuwnwywlnipint b (wyy 74,130.7 74,130.7
nwubnphl swuwnlywing)
nphg’
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1 12 |3 |4 5 6 7 8
3091(10| 9 | 1 |Unghwjwywl wwwnwwbnientlb (w) nwukphl 32,121.7 32,121.7
swwuinywbnn)
wyn pynd”
1. Unghwywlw oqlnipiwl swewynipintGabnh 32,121.7 32,121.7
inndnLG6npwl Ywqdwlbnuwm d
wwnyhpwlywo (hwgnpnipini G4k,
- Upfuwwnnnl6ph wfuwwnwywndbp b 4111 30,278.9 30,278.9
hwyblwyLwnbtn
- EGbpgGwnhy Swrwnipntbbbn 4212 1,053.0 1,053.0
- UndnLbwy SwrwynipNLGlEn 4213 20.0 20.0
- Ywwh dwrwnieyntbbbn 4214 91.2 91.2
- Lbpphl gnpéninnuilp 4221 48.0 48.0
- Qpuiubywywihb Gynebin L hwagniun 4261 600.6 600.6
- Mwpunwnhp J&wplbp 4823 30.0 30.0
309210 | 9 | 2 |Unghwjwlwl wwwnwwbnigjwbp nnpwdwnnpynn 42,009.0 42,009.0
odwlnwy Swrwjnipjntbltn (w) nwutnphG
swwuinywbnn)
wjn pynLd’
2. Upnnonipwl wuwhndwannipint 42,009.0 42,009.0
- Uywhnwgpwywlb dwfuubp 4215 42,009.0 42,009.0
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Lwyblyws N 7
Gnlwl pwnwph wywgubnt
2018 pwlwbh nbyunbdptph 25- h
N 47-U npndw
Unyntuwy 13

GNEYUULP 2019 BYULULP A3NFRBP YUM2UUUL BY SNLAUSHPL UUUGNHhS LUsuusntuLEGNe” cUS A3NFRGSUSKL SUuUGNh
fUuLULEN-263ENIL YUMUUUL CrRULh vuuny

Gnpngnud L wwhwwbned

(hwquin npwdaénng)

= =l a Pnpbinwihlb wfuutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pynty®

ez |3 g pwdhbGtph, fudptph L nwutph, hoswtu Gwl —_|3‘ = DOnwakap

D'.:J Z 2| g =2 pinobnwhl dwiuutinh tnbnbuwghunwywh = Jwpswywb pngt | $nlnwyhl pniot

a| 2" nwuwlwngiwl hnnwsttph  wowanuittpp =
1 12 |3 |4 5 6 7 8 9
oLAUUEBLL SUUeP 2,091,428.2 2,044,428.2 47,000.0
2100(01|0 | O ouacuLNeN ALNE3BH <ULNU3hL 479,414.3 476,414.3 3,000.0
ounusnt@3ntuutN

wjn pynLd’

2110|01 | 1 | O | OplGunhn L gnpdwnpn dwpdhlabn, 469,421.3 467,421.3 2,000.0
wbwnwlwl wpwdwpmd, phlwluwlwl b
hwpywpinipbunughl hwpwpbpnigind GGan,
wpunwphl hwpwpbnpnigindGGGn
nnphg’

2111({01| 1 | 1 |OntGunhp L gnpéwnhn dwpihbGtp, wEwnwywb 469,421.3 467,421.3 2,000.0
Ywrwdwpnid
wyn pyned”
1. Ywpwywndwl dwnpdlh wwhwwind 469,421.3 467,421.3 2,000.0
- Upjuwunnnbbph wluwunwywpdbn L 4111 316,597.0 316,597.0 -
hwybwJswnpbtn
- Mwpglwwnpnidbbn, npuwiwywh fupwfuntunidtbp b 4112 101,553.8 101,553.8 -
hwuwuniy y&wnobn
- EGGpgbwnhy SwrwynipnLbbbn 4212 19,370.0 19,370.0 -
- Undntbwy SwewjnipnLbltn 4213 1,669.7 1,669.7 -
- Ywuwh dwrwjnipntbobn 4214 7,771.0 7,771.0 -
- Uwywhnjwagpwywb dwluubp 4215 150.0 150.0 -
- Qnyph L uwppwynpnidbbph upédwywintpyntl 4216 605.0 605.0 -
- Upunnwuwhdwbjwb gnpéninnidbbph gény dwfuubp 4222 750.0 750.0 -
- Jwpswywb swewynipntGbbp 4231 500.0 500.0 -
- <wiwywngswihb swrwjnientbObn 4232 300.0 300.0 -
- StnGYwwnywywb swrewjnipintGbtn 4234 422.6 422.6 -
- LbpYwjwgnigswywb dwfuubp 4237 1,000.0 1,000.0 -
- Uwulwghunwywb swrewjnipntbGbtn 4241 241.0 241.0 -
- UbptOwlGnh L uwppwdnpnuilbbph pbpwghy 4252 3,560.0 3,560.0 -
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AnLobnwihb swiuubph gnpéwrwlwl nwuwywpgiwb

wjn pYntd”

= 9o ﬁ
== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,::.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9
- Qpuiubywyuwhb Gjnebin L hwagniuwn 4261 2,032.0 2,032.0 -
- Spwluwnpunwyhb Gneptin 4264 8,272.5 8,272.5 -
- UGogwnuwyhO L hwbpwyhG uGGnh Gnebp 4267 1,476.7 1,476.7 -
- Mwpwwnhp y&wpatbp 4823 150.0 150.0 -
- Uy 6wfuubp 4861 1,000.0 1,000.0 -
- Ywpswywb uwppwynpnidltn 5122 2,000.0 - 2,000.0
2130(01 | 3 | O | Lanhwlnin plnyph dweruwynipintGa6n 7,393.0 7,393.0 -
nphg’
213101 | 3 | 1 |Uzluwwnwywqdh /Yunnpbnh/ gény pGnhwbnip plnyph 7,393.0 7,393.0 -
Swrw)ntpnLbbbn
wjn pynLd’
1. Pwnwpwaohwlywl Guwagnipiwl wywnbph 7,393.0 7,393.0 -
qnwilquwl swepwinipwl gnpdnLGbntpiuwl
Ywadwlybpuwmd (wuwwnyhpwlydws
[pwgnpnipintGG6n)
- Upjuwuwinnnbbnh wluwunwywpdbn L 4111 6,270.0 6,270.0 -
hwybwdswnpbtn
- EOBpgbwnhy Swrewynipyniblbn 4212 4411 4411 -
- Ywuwh dwrwjnipntbobn 4214 57.6 57.6 -
- Qnyph L uwppwynpnidbeph upédwywintpyntl 4216 624.3 624.3 -
2150(01 | 5 | O | Lanhwanin plnyph hwinpuwyha 1,000.0 - 1,000.0
owpuympintGG6ph gony hunwgnunwlywl b
Guwfuwqbuyhll wpfuwwnwlpltn
nphg’
215101 | 5 | 1 |COnhwGntp pOnyph hwbpwihb SwewjnipntGbtnh 1,000.0 - 1,000.0
g6ny htnmwgnunwyw L bwuwgdwjh
wfuwwnwbpltn
wjn pynLd’
1. bwfuwqdunyhl wipfuwunwlplbn 1,000.0 - 1,000.0
- Lwfuwgéwhbunwgnunwwb dwfuukn 5134 1,000.0 - 1,000.0
2160|01 | 6 | O | Lanhwhnin plnyph hwapwyhl 1,600.0 1,600.0 -
dwpuyntpntGo6n (wy nwubphl swuwanlywlng)
nphg’
2161(01| 6 | 1 |CUnhwlntp pOnyph hwbpwihb SwewynipnLGbtn (wy| 1,600.0 1,600.0 -
nwubphb swywwnlwbnn)
wjn pynLd’
1. Fhdndlbn, hwigwnhdnidGbn, nuwunwpwih 1,000.0 1,000.0 -

npnpnidlbph b YahrGEph nbo JEnwplahs b

YApwpbly pnnnplbn G6phwiwglbihu
uwhidwldwd yZwpnidGbn
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|E‘ = DOnwakap
D'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

- Mwpwwnhp y&wpatbp 4823 1,000.0 1,000.0
2. Qnuph Glunndwdp ppwyni Gplt, 600.0 600.0
qnwiquwl, quwhwundwl L
wnbnbywwnynipiwl wnpwdwnndwl hun
Yuwwywd Yaswnnidobn
- Mwpuwnhp y&wpbkn 4823 600.0 600.0

2200|020 | O nUcSMULNHB3NEL 1,500.0 1,500.0
wjn pyntd’

2250|102 | 5 | O | Dwpunywilniygymt b (wyy nwubphl swuwnlywann) 1,500.0 1,500.0
nnhg’

2251102 | 5 | 1 |Mwunwwbnipntb (wy nwubphb suywwnyuwbnn) 1,500.0 1,500.0
wyn pynd”
1. 2pGwwwminbbnh hwpywedwa, gnpwinsh, 1,5600.0 1,500.0
anpwhwywph b Jupdwlwl hwywplbnh
Yuwqiwlybnwiwal wowlgnpnt o
- COnhwOnep pOnyph wyp SwewnipNLGbEn 4239 1,500.0 1,500.0

2400|040 | O SuStUULUL <UrurtMNHB3NFLLEN 37,070.7 37,070.7
wyn pynd”

2450(04 | 5 | O | Spwauwnnun 27,500.0 27,500.0
nnhg’

245104 | 5 | 1 |BwlwwwnphwihG tnpwbuwnpun 27,500.0 27,500.0
wyn pynLd”
1. Uupuywn-pbinnbiw Swo Gpwonpngntd 27,600.0 27,600.0
L wwhwwlmd
- CkGpbnh L Ywenyglbph pGpwghy Gnpngnid L 4251 27,500.0 27,500.0
wwhwwbnty

2490|104 | 9 | O | SGunbuw!lpwl hwpwpbpmpinGa6n (wy 9,570.7 9,570.7
nwubpht swunnwann)
nphg’

249104 | 9 | 1 |SOnGuwywb hwpwptpnipnLbOtn (wy nwutphb 9,570.7 9,570.7
swwuinywbnn)
wjn pynLd’
7. SnbwdwAwplbbnph Guwqiwlbnwnd 85.0 85.0
- Wy Swfuubn 4861 85.0 85.0
9. Nwpunwnhn Yswnpbbnh quaddwi 9,485.7| 9,485.7
Swpwynipin Gobn
- Upfuwwnnnl6ph wfuwwnwywndbp b 4111 5,420.4 5,420.4

hwyGlwdLwnbtn
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

- Lyhpwuwnynipntbbtn wy) 2whniyp shGunwwlnnn 4819 4,065.3 4,065.3 -
Ywqiwytnwnipynttbnphb

2500(05|0 | O cNRUYU UuhudusNrh mucsSMULNH33NFL 396,768.8 396,768.8 -
wyn pyned”

2510(05 | 1 | O | UnpwhwlmJ 314,268.8 314,268.8 -
nnphg’

2511|05| 1 | 1 |Unpwhw0nd 314,268.8 314,268.8 -
wyn pynd”
7. whwinuginb L vwohunwpwlywa 314,268.8 314,268.8 -
dwpnmd
- Undntbwy SwewjnipnLbltn 4213 314,268.8 314,268.8 -

2560(05 | 6 | O | Snowlyw dhowyuynh wuwpinwwlnigymb (wyy 82,500.0 82,500.0 -
nwubpht swunnywann)
nnhg’

2561|05| 6 | 1 |Cpowlyw dhowdwnph wwpwnwwbnignid (wyp nwubphl 82,500.0 82,500.0 -
swwuinywbnn)
wyn pyntd”
1. Ywlws tnwnwdplbnh hhdanid L 82,600.0 82,500.0 -
wwhwwamd
- UndinLbwy SwewynipNLGlEn 4213 82,500.0 82,500.0 -

2600(06 | 0 | O pLUYUNULUSHL ChuuPruMNHB3NHFL B4 140,000.0 96,000.0 44,000.0

LUNUNFLUL dunu3nk@3NtuueN

wyn pynLd”

2660(06 | 6 | O | Phwlwnwluyhl shawpwpngwl L YndnGuy 140,000.0 96,000.0 44,000.0
owpuymp/ntGG6n (wy nwubphl swuwnlywinn)
nnhg’

2661|06 | 6 | 1 |POwywpwlwihl 2hOwpwpnipjwb L Yndntbuwy 140,000.0 96,000.0 44,000.0
Swrwjnipntbbtn (w) nwubpht swywwnywbnn)
wjn pynLd’
1. Pwqlwplwlwnwa 26Gpknh hwpe 15,000.0 15,000.0 -
wnwGhplbph Ybpwilnpngnid
- GOptbnh L Ywrenygbeph pbpwghy Gnpngnid L 4251 15,000.0 15,000.0 -
wwhwwntd
2. Pwquwplwlwnwl 2EGplnh plip 12,000.0 - 12,000.0
wnwahplbnh Ybpwlnpngnid
- GOptbnh L 2hGnipyntGbEph Yuwwhuwwy yepwbnpngnud {5113 12,000.0 - 12,000.0
3. Pwluyhl unwnwdplbph L 43,000.0 11,000.0 32,000.0

[uwnwhpwwwnpwlGbnh hhdGuwlnpngnid ni
wwhwwlnid
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i | AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’
? zZ =3 = pwdhbGbph, fudptph L nwubph, hoswtu Gwl —_|E‘ = DOnwikap
w £ 3| E|E pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 12 |3 |4 5 6 7 8

- UntpuhnhwObn ny wbnwywb (ng hwdw)bpwhb) ng 4521 11,000.0 11,000.0 -
Shlwluwywb Ywgiwytpwnipntbtpha
- Ghlptnh L 2hbnipyntbbEph Ywwhuwwy yEpwbnpngnud {5113 31,000.0 - 31,000.0
- Uy ubptOwlbn L uwppwynpnidtbp 5129 1,000.0 - 1,000.0
4. Pwquwptwlhwnwl »66pbph pwnbywngdwi 70,000.0 70,000.0 -
wy wyuwnwlplbbn
- Ghlptnh L Ywenygltph pbpwghy Gnpngned L 4251 60,000.0 60,000.0 -
wwhwwbnd
- UntpuhnhwObn ny wbnwywb (ng hwdw)bpwyhb) ng 4521 10,000.0 10,000.0 -
Shlwluwywb Ywgiwytpwnipntbtpha

2800(08| 0 | O <Uuanus, ucuunt3fe 64 urnu 61,036.5 61,036.5 -
wjn pynLd’

2810(08 | 1 | O | <wlquwinh L uwynmnh dwewynip/niGabn 3,635.0 3,635.0 -
nnphg’

2811(08 | 1 | 1 |<wlguunh L uwynpuinh Swrewnipyntbbbp 3,635.0 3,635.0 -
wyn pynd”
1. Uwnpunught dhongwipnidabnh 3,635.0 3,635.0 -
Ywqdwlbpuinid
- COnhwOnep pOnyph wyp SwewynipntGbtn 4239 3,635.0 3,635.0 -

2820(08 | 2 | O | Upwlnipuyhl SwrewinygniGabn 57,401.5 57,401.5 -
nnphg’

2821(08| 2 | 1 |Qpwnwpwbbbn 26,2481 26,2481 -
wyn pyntd”
1. Qnuinwnwluihl dwewinipintGabn 26,248.1 26,248.1 -
- UntpuhnhwGbn ny $h0wbuwywb yeunwywh 4511 26,2481 26,248.1 -
(hwdwyopwihb) Yugqdwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwynyph wnbbp, wynwipltn, yGupnbabp 16,606.4 16,606.4 -
wyn pynd”
1. <wdwyGpuyhl dywynyph b wquin dwdwd, 16,606.4 16,606.4 -
Yuquwlbnwmd
- UntpuhnhwGbn ng $h0wbuwywb yeunwywh 4511 16,606.4 16,606.4 -
(hwdwjbpwihb) Yuqdwytnpwnipntbbtph

2824|108 | 2 | 4 |UW Gawynipwihb Yuwgiwytnwnipntbbbp 14,547.0 14,547.0 -
wyn pyntd”
1. Vpwlnipuyht dhonguirnt dabnh 14,547.0 14,547.0 -
hnwlwlwgnid
- COnhwOnep pOnyph wyp SwewynipntGbtn 4239 14,547.0 14,547.0 -
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= = % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap
D'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot
a2 nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

290009 0 urENH33NHL 887,300.2 887,300.2 -
wyn pyntd”

2910(09 | 1 | O | bwfuwnwpngwlywa L wtnwppwlwl panhwamn 542,340.0 542,340.0 -
Uppnupini
nnphg’

2911109 | 1 | 1 |Lwjuwnwpngwywb Yppnipinta 542,340.0 542,340.0 -
wyn pynd”
1. bwuwnupngulwa munignd 542,340.0 542,340.0 -
- Unipuhnhwttp ng $howluwywl wbnwywh 4511 542,340.0 542,340.0 -
(hwiwjbopwihb) Yugqdwytnpwnipntbbtph

2950(09 | 5 | O | Luwn dwlwpnwlbbnh snwuwlwngynn 344,960.2 344,960.2 -
Uppnupini
nnhg’

2951109 | 5 | 1 |Upunwnwnngwwl nwunhwpwyneejntl 344,960.2 344,960.2 -
wyn pyned”
1. Unuinwinuwpngwlwl nwutnhwpuwlynipint G 344,960.2 344,960.2 -
- Untpuhnhwttp ng $howluwywl wybnwywh 4511 344,960.2 344,960.2 -
(hwdwyopwihb) Yugqdwytnpwnipntbbtph

3000(10|0 | O unshuLuyuu nucsMULNHE3NFL 88,337.7 88,337.7 -
wyn pynd”

3070|10 | 7 | O | Unghuwywlwl hwennely wpannbnuyginiGaGn (wy 30,090.0 30,090.0 -
nwubpht swunnywann)
nnhg’

307110 | 7 | 1 |Unghwjwywl hwwunty wpunnbnegintGben (wyy 30,090.0 30,090.0 -
nwubnht swywwnywbnn)
wyn pyntd”
1. Unghwywwbu wawwwhny plunwbhplbnh 2,250.0 2,250.0 -
pbfuwbph hwaqunh Yuwqowlbpwnd
- DOnhwOnp panyph wy) SwrwjnipynLbGtp 4239 2,250.0 2,250.0 -
2. <wnwquin smiGbgnn wadwbg b 900.0 900.0 -
unghuwywwbu wiwwwhny pGuwbhplbnh
hwdwn hrwnuwiplpwydnpnigrwG yuwqowlybpunid
- COnhwOnip pOnyph wyp SwewynipNLGbEn 4239 900.0 900.0 -
3. Unghuwywwbu wiwwwhny plunwlhplbnhla 15,330.0 15,330.0 -
winbulywl L hfpwunwlyh opnbnhl wowlgnipint o
- Qnyph L uwppwynpnibeph Jupédwwinipnta 4216 1,500.0 1,500.0 -
- UGhgwnwyhb L hwbpuwihG uGGnh OGN 4267 10,375.0 10,375.0 -
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= = a AnLeLnwhG dwiuutinh gnpéwrwywl nuuwywngiwd | 5 wjn pyned’

== % =g 3 pwdhbbnh, fudptph L nwutph, hoswbu Gwb —_|3‘ = DOnwakap

,:,'.::, Z 3| g =2 pntgbiinwyhb dwfuubph tnbnbuwghunwywb cF Jupswywb pniot | pnlnwyjhb pniot

a2 - nwuwwngiwl hnnwéttph  woywanuittpp e
1 1213 |4 5 6 7 8 9

- Lwunniy Gwwwnwyuwihb wy Gnipbn 4269 1,5630.0 1,530.0
- Ujp Gwwuwinbbp pjnipbhg 4729 1,925.0 1,925.0
4. Unghuywwbu wiwwwhny wadwiag 5710.0 5,710.0
wowlgnipintl
- DOnhwOnip panyph wy) SwrwjnipntbGtp 4239 1,800.0 1,800.0
- Ujp Gwwuwinbbp pjnipbhg 4729 3,910.0 3,910.0
5. <wuwnpwlwlwl Ywedwlbnwnigin GGEnha 5,900.0 5,900.0
wowlgnipintl
- Lyhpwwnynipyntbbbp wy) zwhnyp shbinwwltnnn 4819 5,900.0 5,900.0
Ywqiwytnwnipyntbbnphb

309010 | 9 | O | Unghwywlwl wwpunwwGnygin G (wyy 58,247.7 58,247.7
nwubpht swunnywann)
nnhg’

309110 | 9 | 1 |Unghwjwywl wwpwnwwbnientlb (w) nwukphl 30,203.7 30,203.7
swwuinywbnn)
wjn pynLd’
1. Unghwywlwi oqlnipwl swpwynipintGabnph 30,203.7 30.203.7
anpontbbnpiuwl Ywqdwlbnuwnt

wwnyhpwlywo (hwgnpnipin 666

- UpfuwwnnnlO6ph wfuwwnwywndbp b 4111 28,921.7 28,921.7
hwyblwdLwnltn
- EbGpgGwnhy Swrwnipntbbbp 4212 510.8 510.8
- Ywwh dwrwnieyntbbbp 4214 390.6 390.6
- Qpwutyuyuwihb Gnikp L hwgniuwn 4261 380.6 380.6

309210 | 9 | 2 |Unghwjwywl wwunwwbnipjwbp tnnpwdwnpynn, 28,044.0 28,044.0
odwlnwy Swrwjntpntbltn (w) nwutphG
swwinyubnn)
wjn pynLd’
2. Upnnomipwl wuwhnydwanpniginil 28,044.0 28,044.0
- Uywhnwgpwywlb dwfuubp 4215 28,044.0 28,044.0
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